halh
.4...“..1»@
.

Tk
s

i
xw.%.,
W

i o iy
il
o8 oy

5
3




Wnoionoi|Bnke amé 1o ivotirouto EknmaiSeuTtikrg MoAmkrg



WnpionoBnke amd 1o ivotirouto EknmaibeuTikrg MoAmkrg



Ilav dvtitvmov q)éQEL v Yaoyeogiy Tod GUYYOOPENS.
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MEPOZ MMPQTON

TENIKAI ENNOIAI KAI TYNOI THE BEQPHTIKHE
OYIIKHS

I. MHXANIKH
A’. TENIKOI TYIIOI THE KINHTIKHE

a’. ‘Opady rivners.
Ta Sravvbpeva Swwotfipate elvar dvdloya thv 1obvov,
‘H raying elvan otadepd. “H 2mudyuvowg sivar undév,
Al glomoelg tiig rvijoemg glva
Avdompa : e=¢g, | ut
e—=e,

Toyitne : ue— e — * ogradepa

*Errdyovorg : 7y =o0
B'. Edivgotg OpoAdg petaGarhopévy.
‘H rayig perafdMerar dvaidyos tob yedvou.
‘H murdyuvaie eivar atadeod.
Al odoeig Tiig mvijaewg elvar @ *

1
Awdotnpa : e=¢e + vt} Syt

Toaydng : v—=uv, + yt
‘Enudyuvorg: vy = E otadepd.

H xivnowg elvon dmraguvoudvn Eav § taydime odbdvel, EmpBoadu-
wougvn 88 v ) taxdrng EAartoltar,
t'. Eivneeg petafBadhopéve.
- ’ ~
Otav o Siaotipara #al of tayutnteg Ofv elvat Gvdloyor thv
5
-XQ0vVwy.
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1) Taydémg: Els yoévov t xal t |- Av 1o woynov  naréer tog Je-
geig M aat Mi diaviov Swothpate € xal e - Ae.
H péon toying uetatd M won M elvat :

Ae
i R
2) ‘H péon Emedguvols petofd M ool Mi elvar
P
iy

I xivnolg lvat BriToouVoLEVT) o) 2mPouduvouévn avkavopfyne i
Bharrovpéyng Tie TovTNToC.

S, EEivnolg ROP.TOAGYRE0S 7 RORNLRT o

Eic thv ®apmvhoyQuppov whvmow i Tooyud elvar  pia ofadimote

AHOpTOAn.
1ov Kaumvidyeappos wivnois Eic yoévovg t xal t |- At, 10 -
ynrov xatéye &l tiig TooyLic tde Déoeig M xal M duavdov TUHROTE S

nal s - As,
“H péon voydrng petakd tdv onueloy M xat M; glvoe:
~ yoedn M M;
7 At

920v Kuxduesy 6uals xlvnois. “H ooy slvon mepupéoela: ol 1
yoviddng xal 0 yoouuu) T vTng otadegal.
27R . R T
T oot Toims ] —an trl} gmov R ) durig wal T 6 yedvog.

; 2
Towddne toydme: o=x T

T elvon f dudoxe puic mhijeovs aeoLoT00QTs Tob ®vntol,
*Edyv N elvan 6 Gorduog tdv oTp0M@MY KuTh AETTOV

oy
S
o 2zRN __ aRN
e )
nol = —ﬂi\l
30
‘H Zrivdyuvolg eivat otadeed :
x*R
Y . Pﬁ—: m’ R —1 4;’
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B. EAEYOEPA IITQZIE ZSOQOMATON
w. C’Emwdaygovers | Bopdintog.

- 3 LI e . LAy s
Eic thy dmupdvetay i yiig, il TTOOIS GOUATOC BV TW HEVY ELVOL

. . Lo el s <

abvnote notaxdovpog nal Gpoakds EMTALUVOUEVY.

e

Eig tov adtov témov 7 gmirdyuvorg tiig fopvtnros g elvaw atlodn-

T otavepd.

“H 2msdyvvolg g petafdieron peta tod Ppoug h, wata Adyov av-
notebpug dvdhoyov mpodg TO TETQAYWOVOY Tiig drootdoemg Gmd ol név-
700V tiig Yiig.

i R--h)* o Lt
g_‘ = _(—L—)— dmov R 1) dwrig thg yns.
g R?
“H Emrdyovoig g perafdMlerar petd ol whdrovg
Aot o =9,831 u. eic todg [l6lovg
g =9809 u. &g Iaptsiovg
o =9,781 p. ic tov “Lonueowov.

lov "Elsvdéga mrdois :
1
“Yypog mrdoeng: h=vet 5 gt?

Dortc: v=v,+gt=\ o7 F2gh_
“Avev doyufig Taydnrog (vo=0).

h= % ot xal W= gt:\[2g_'h
20v Kivnoig &x vdv wdvew meog o dve -
“Yapog GvGdov: h=w,t— % ot*
Taybmg: v=1v,— gt =\ v, — 2gh

Méyiotov typog: h =l ( v,=0 wnoi t 1'-’")
- 4 28 1 | g

I'. KINHZIE BAHMATON EN TQ, KENQ,

v ~ 3 z . h r
®'e EBATMGL RPLENEVOY HATAROODVPWS PETOH TUYLIN=
TOG V.

Orav o PMjpa ofntetan mpods T #drw, Aapfdvopev dg Goynv TdV
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Srastnudtmy T0 onuelov  dmou glval 10 xomtdy gl Ty Goxny  T@w
yodvov. Of timou elvar:

1
Adotqpe 1 e= vt | 58 2

Taybtng : v=1,+gt
*Otay 1 PMina dlmretal mdg t¢ dvo, of timot glvut :
I
“Ypog : h=v,t— 5 £
Toydtmg: v=v,— gt
n o 2 2 v,
Méyiotov tpog dvodov : h=§
‘H Sudoreia tiic dvédov eivar Tom mpog v Sudpxewoy T ®e-
5 v
dddov : t=—
g
f'. BApo prmtépevay Optoveiong petd TaydTh
T0g V.

Af 2Eodoeg &nl thv ABbvory elvar al &g ¢

*Exi tod 6piloviiov dEovog : X =t
Vx =V,
*Exl 100 novanopligov dEovoc : e gt
v,=—gt
To xwvntdv yodge mapafoliv EElodoens |
gx®
Y= o

¥'. Blfjpo prntdpevoy petd tuydTNTog v, roTo Oz
coBuvaty  aynp.azifoveoy peza Tob Opitoviog
yoviay o. (@ elva dvodev 100 Hoiloviog Yo

Al EEodoeg Enl thv GEOvov elval !

x=1,t cuy a

il
yzuctﬁu.a—§ g t?
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Td wvntov  yedgsr mapafoly :
gx!
=X Ep U — ——
. £ 2v,? ouy? o

= e Ugsieo.
To Behnvenig eivar : Xx= — fiu 2a

v

uy 1 $ —_—
Yog BAiparog : h %4
v

D

N o.

To Uyog tolito dvriotouel elg yodvov @ t =

-

i

. : = i iy
H toydime 1ot xvntot sig xdde oryuny elvar
v=V\ v, ’—2gy

A'. AYNAMEIZ KAI MAZA

XEyéacts GUVLPEWY TROS THG EmLTAYHVOELS.
dg hapPdver odpo T OO TV
glvar dvdloyor tdv duvdpewy

.
Al EmvayUvoELS Yoy Yo, Yo -+ . - -
gvépyeiav Suvdueov F, , B, , B, ... ..

ToUtwY.
2 3 F E, E
Hrou : k’=-—~:’=—: ==
Y Ya Ys Yv

B'. M&Co. @cpeht@Byg £ifawatg.

‘0 Ayoz duvdpede twvog F, Eveoyotomg 2mi 10l odpatog, mwodg

A 2 ’ o ’ a e ’ &3 k] \ By .
™y Emrdyuvow y, Ny petadider el attd, elvar dodpds oradeods xal
wdvrote 6 adtdg O Bv xal 1o adtd odua xol dvoudleror Mata tod

Uéumog.

Tovréon : E =m = udta

il F=m.yvy

Aty Bogitngra : P=mg

Y. NMovdg palns ®ol povig Suvdpems.

Qg povig pdtng hapfdvetal to yoapudoov, Htor T wdla fvde nv-
Brot  &xarostouérpov Hdatog iz 4° Kehotov. Eig tag Epaguoyag g
novig pdlng Aapfdveral 1o yedidygauuor, Smep oot mpdg 1000
Yeappdow §) 1o ghwootdyoanpov, Snhadh 1o 0,001 1ol ypoppapiov.

Movag Suvduewe, “Ex tiic Ewodoenc F ==m.y Exouev TOV 00~
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oudv Tiig povddog duvdpews. Aty elvar 1 dlvapig, 1l ovveydg Evep-
yoloa &rl tiig pdlng évos yoauuaplov didel elc adthv Emudyuvowy 1
EXUTOOTOUETQOV.
‘Emopbvag  F=1 yo. X 1 éxar.=1 Aty

‘H povie Suvdpens raleivon Advn glg 10 obotnua C. G. S., givan
8¢ mohd winpd.

‘Enedn 88 fj faoding didet el td mimrovea Soduara Emrdyuvoy
o =981 &xaroot., Emeran Bri 10 fdoog P rils pdtne €vds  yooppapiov
gival :

P'= 1 yoop. X 981 &xar. =981 divag = 1 yoau. Pdgove,}

fror f HYvm elvou 1/981 tol Bdoovs Evdg yoauuagiov.

5 . ’ 1 ;
Eyouev Aoumoy : 1 86vn = g3 yooupdoto,”
Kai fdoog 1 yoou. = 981 divag, j6dev fdoog 1'yihoye. iooiiton

mpog 981000 divag,

E’. SYNOESIE KAI ANAAYZEIE AYNAMEQN

a'. Auvdpers Sepyodout sig 10 adsd anpmeloy woLk
<7 adT¥; OLevdiveews.

LT

‘H cvvistapévy icoiital ué to [dhyePoundvid
civ duvdueEwy.

Gdootapa tdviovvioTo-
“Hvwot: R=F, 4+ T, #vda R fi ovvictapév xaiZF, naiiE, fai
Suvdpeis.

B'- Avvdpets évz spyodods ¢mi 200 adt0ob anmeiov rat
oy Ns.07iC0vent YoEo.

“H guviotapévn loolral ‘i my dwymvioy 0t maonhlnloyodupov
100 oymparilopévor rd Tdy dto duvdpemy.

“Iva, Smoloylomuey THV oLVLOTAREVTY xonomonmouuev 10Vg TUROUS
THig Emhdoeme tdv toydverv. TAv R i) cuviotapévn woi F, xal F, of

s Sl Rl R

MRE) — aw(RF)  w(F,F)
R*=F,"+F,’+2F,F, ow (F,,F,)
F,=Rowa xai I, =R ocuw f

nal R*=F/-L F,*

duvdpeig, Tote.

Avvdperg ndderot
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r

v, Ebvbears tprdv SGuvdpewy Spnpprospévoy ent oy-
PELOL wod 6yM.oTtiovedy dve BY0 yoviay.
‘H ovviotapévy elvan 1§ Sioeydviog 100 mupaddnhemaddon @y du-
VAREWY,
Suvictap. R =(R,) 4 (F.) + (F,)
R Sova s Bioni | Avvdpeic xddevol.
xal R?= F,Q —]— an _IL F:‘:' I
8. =bvbBeoeg Goo Suvdpswy mUPRAMAoY xal Opop-
pPOmwY.

‘H ovvicrapévn loottoe pé 10 ddgoiopa tiv dto dvvdpewy xol té-
Wver iy evdetav iy évoloay tag dlo duvdpe el 1 onueiov K, oy-
Uelov Eaopoyiic thg ovvigtapéyns, ovitwg Mote:

AK H,
BK ™ F,

&€ ov

i AB
“Avdilvoic Tiic duwo‘iayévng. B, — R %g xail F,=R X i—g

€. XEivbearg BOo Tuvdpeny Topgalhfhov vt av=
TLOPHTOY.
Al 806 dwvdpeg Stvovear va elvan Toor 1) dvicor.
lov Awydusis dvicor : R=F, —F, (F, > F,) 10 onueiov K
g Bpappoyfic tiz cuvietanévne edolexetan #ml 1ig TOOERTACEMS TS
E0elag 1ijc Evovomne toc S Suvdpues, mpde T pépog i ueyoheirtépog
*al elyay ;
A B R
BE~ AK = AB
3 20v Avvdpeis Voou : Suviotapévn dév dmdogst xai téte Adyopev
Ot at 810 duvdpeie aynuatiovot Ledyog,

¢’. EPI'ON KAI ENEPI'EIA

ekl = a ’ 7S '
To "Eoyov tootrat modg 1 yivdpevov tijc duvdpewg &m Ty ue-

Wideoy, W= F. e #du F f dbvapug xal e § uerddeoig,
i W = F. e ouva (o elva yovie duvdpewng neta tiig tooyidc)
‘Eav  « < 90° W >0 Zoyov =uwmrijowov
Eav > 900 W <0 »  avdiotdueyoy
Eav o = 90° We—:0) »  undev
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Movabeg €pyov.

2. TOaTOG PRAYOVEADY ROVET OV,

Eic 10 cvotpo tolto GHe wovie Foyov hapfrvetot 10 yeheoyoope-
ubuctgov, dneg loovtal modg to Eoyov Omen maQdyeTal grov 1 yhio-
yooupérepoy Hpotral elc 1 péroov.

Movéc logdos. Eig 1o otomua toito e povig toydog Aaufdveras
§ tmmog, Eoyov dnhadn 75 LUAMOYQ U LOLETOWY wato OEVTEQOMETTOV.

B'. *ATGAITOY svaTnp.o povadoy C. G. S

Eic 1 ovomua 10010 dg wovie Boyou happdveral 0 Zoyto,dnhadn
o doyov Suvdpewg 1 ddvng, fine uetadétel o onuelov tiic Epaounoyiis
e novd 1 fzatootéuevQov wol ot Ty dwevduvaelv e,

‘H povie aditn elvar ol potpd. Awdtt 1 pihbyeaunov = 981000
duvae, xal 1 u= 100 fxarootop. Emopdvos 1 whoyeauudpETO0Y =
98 100 000 Foyiar §§ 9,81 X 107 .

Eig t0g mooxtindg 2QOOROYHG  YONCLROTOLETTNL | “Totidiag povds,
fitig tooTrat mEOg 107 Eoyia.

1 yphoyoaprdpeTgov = 9,81 “Tovhiovg povddag.

S 1 wdyo. y :
1 “lovhog = —91"8—\1(3 — 0,102 yhoyoappoperQu.

Eig o ovomua C. G. S. e povig loydos Aapfdvetal 1| Bdz, dn-
Aady) Zoyov mdg “Lovhiov xard devtrepdlentov.

Awd tae peydhag oyl elg Tov MexToLoUoV, AapPdvetal g povag
0 XihoBdr §i KihoBdt dnhadd ioyde 1000 fdr.

1 Vmmoc == TH quhoyQaUBOR. yotd devrepdhemtov = 15 X 9,81
“Jovhiovg xata deviegdhemtov.
‘Enopévorg 1 inmog = 736 Pdr
%ol 1 Kiopdr = 1,36 immol.

v'. Apdor Bdvapes.

Kuhobuev domoav ddvauy bhxol onuelov Bv wyioer 1O ywoue-
voy Tig pding tov Emi 10 tetpdymvov Thg TaygliTds ToU. "Av m 1
pila %ot v Taxdens, tote T = ma?®

lov Kuynuuen Evégyeia Ulixol onueiov elvar 1o fuwov tiig dpdong
duvdpens.

1
Tﬂgm.v
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2ov Oeddpnua wivnuinic Eveoyelag # dvuns. Td Foyov tiig du-
vipeng, tiic éveoyoiong &nl tvog ompelov Shwod éni Goropévov  yol-
vov, elval Toov modg v petafoliv fiv dafotn ) §¥un xatd tov yod-
vov tfig Evegyelag tiic duvdpenc.

; 1 1 . 5
F_—§ m. v? — 3 m v,! dmov v woi v ai toydin-
= NG e e - ;
TEG, 1) TEALN) nal T doyixd) tol VAol omueiou.

Z'. EKKPEMEEX. IIATKOEMIOX EAZEIE. OYTOKENTPOS
AYNAMIZE

a'. 'Wimog &mAod Exrpepole.
T=2x\/ 1 (1)
v 1t m*l

noi @ Y5 —=ta TOTE D — 5 gvila ¢ 1§ Evraoig tiig Pupiimrog, 1 o

ufinog vol &unpepoiz, T 6 yobvoe wiic mhfipovs aimorcewe.

B'. XEovbetov Cuxpepég.
i
m.g.a
Bvda K ) fond) adoavelac tod Exnpepolig (Mg mpdc tov dEove  EEapti-
Oemg,m 1) pala adrol, xal o f dndoracig Tol wévrpov tot Bdoous tov
and tov dEova EEaotiioewe.

‘Ex tév tinov (1) xal (2) ovvdyouev Ot to piroc tol icoyodvov
Andod Exwgepode elvou :

‘0 timog 10¥ ovvdétov wnpepole elva )L —2x

sk

m.a
Y's EEayzréGoprog EnEec.

m,.11,

‘0 winog tiic mayxooulon SMewe elvar : F =K, - Omov m,

%ol m, of palor t@v 8o coudtov xal r 1l Gndotacg adtdv, l ]
Elxova Sitvapig xai K ovvieleotilc xakotpevos mayroopie otadepd.

‘H #vraewg tijg fapimrog elvar otadepd wai dvetdontog Tig nd-
ne o aipatog.

"Ovrog Egousy F = K %E:I
PV s L
E fic m_"'z¥K§"‘—
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‘Enedh K, M (nala yiig) xel R (dmrig i) elvan oradeod, 1 Emi-
tdyuvolg g elven otadeod.

. dPuyOREVIROS OLVALE.

2

:O ; ~ e S . 2 = o Vo
thmoe g Puyoxévipou duvdpems Elval: K= m. p Omov m

f uéla, v 1 taxdne, aol R 1y dnrig tiig meoipopds.
. ekt ks ;
Kai =G Srav § yoOvog MEQLPOQUS ELVOL otadep0s.
e’. WHowyGtvg not Eilewdv Banos.

TIuxvétne oduords Tvog Moheitat & Aéyoc tiigudlng m tod G-

1o moog Wy dyrov adrod v. *Hrot ;

m . e
t— b fi poto 1 xvp. &x. elg yoou.

Eidwov pdgog o 1o odparoc xohelral & Méyog 1ot Bdeovg B tod
sdparog (glc dovag) modg oy Syrov abtod v (&g nuf. Ex0oTOOTA) NTOL:

Bl m o

£ =4

o=—-—=

v v

- = o
5

*Bredf) 6 dyrnog v 100 Tdarog glg 4° Keholov nuplotarar S 1o
adrot Gowdpod, dotig FnpodCer xol Ty walov u oV ¥dutog, Emeron
St Eyopev:

B

m m m,
Turvéng odpatog: d =—=— = ”__g. =
- v B p e B

el e ’ ety = e Al e Se= e
firol 1| munvding TOU CAUATOS d igolrar 1@ Aoyw TOU Bdooug OV G-
watog medg 1o Pdeog Toov Gywov Hdarog ¢ic 4° Kehalov.

II. YAPOZTATIEH

a'. “Yégoorazixg miects. Kodeizal o mnhixov tig &nl tvog Ehoe-
yiotne mpaveios € 2veoyovone duvduewg £ didt tol guPadod, tig Em-
qoveiog :

f

D
€

B°. Movédeg mréoews. ¢ Dewonrixd Rovas Papfdvetan 1 mie-
oig pudig Svg nata LETOUYOVIXOY EXUTOGTOUETQOV
Iieoig 1 C.G.S. =1 SYvn RoTd TETOUY. EXATOOT, = 1 Bdouov.
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Suvidwe auPdvetoe Og povig o gofdovoy.
1 yhofdovov = 1000 C. G. S.

‘Oz mpaxtinyy povig miéceng Aapfdverar § migow Evoc yihwyodp-
wov Pdpovg xoTd TETOMY. EXUTOCTOV.

*Exrde Gpme adtijs AapPdveran elg Ty modlv Og povag xoi i mle-
Olg pidig Grpoc@aipog.

y'. *dexn Pascal. Idoa nieog Emugegonéyn Exi tpipatog B
qavelac Gypod &v lsopponie peradiderar xad® Slag tog dieviivee, xai
i Goxovpévn Sdvapg elvae dviloyog ooz v Erxtucwy tig Entpoveiag.

"Hrot

el lad

§'. Hicoig éni olaodhijmore Emipavelas. “H &ni olnodinorte Emi-
Qaveloe #aoxovpévn 6hxn ddvouig & toi Pdoovg Tod Vypod, isodrat
nede to Pdpoc dyodg aviidng, &rodone Pdow piv why Yewoovpévny Emi-
Qdveway, thpog 8 Ty xatoxdovgov Grdatacty tol xévigov Pdooug
adtiic ‘ano tijg Ehevdépog Emgavelag Tob Vygol.

Iizowg dypig otiing onuelov p = d. h. g.
Omov d = muuvding Dypoll, h o tpog tiic omijhng noi g = Y81,

e, Oepeli@deg Pecdgnue. ‘H dagopd thv méctwy petakl dvo
onueiwy Byeod &v icopponin iooltar meog to Bdeog tyeod xwhivigov
&yovtoc Bdow thv povdda Emgavelag ral Hpog tiy natandoupoy Gmd-
gtacwy v dvo anuelwv. ;

p; — Py =h.d.

<’ CAoyn CApxiwidovs. 1lav odpa eboioxduevoy Evidg bypod
Iplorata mieowy xataxdougpov & 1@V wdre wpdg T dve, dvopatopé-
Vi dvmouy, tomy modg to Pdoog tot Exvomilopévou Hyood.

U, Svyrowawvoivia doxeta. Ta dym tdv Elevdépwy Empo-
Veldy dito frepomiavoy tyedv looppomovviey  Evidg ouyrowwvolve
twv Soyelwv, eivar Gvriotgdgac dvdloyo tdv muxvotitov  Tédv o
\"TQ(I)Y. ®
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I1I. AEPOXTATIKH

o’. “Azpoopaioiny mizors. H GTHOCPUIQULY THEGLS (00QQOTEL
gig Ty Bmipdvelay tiic Dauldoong oty Ddpapyvouv Tipoug 6 Exo-
T0GTORETQWY,

*H nieotg ot elvan Ton mode 1033 yoauudow gl 1 tevp. Exat

HMoocdiogromds Gywovs. Tiomog Babinel.

o(t4t) ] H=H
7 — 16000 | 1 —#] s
2 [ t 7000 H 0

t f Depponoaoia, 11 % mieowg el v ndrw témov

i » E » » dvo  tOmov

B'. Néuog Mariotte Boyle. ‘0 dywoc Gotopévng mOGOTHTOS
Geplov glvar dviotpdgag dvdhoyog wpdg Ty mlecy Ymd oradegdv
Sepuonoasioy.

Vo= i VP VP = owdeod

Tovtéott o ywopevov tob dyxnov &xt why xleowv, bnd oradepdv deo-
worpaotay, slvo dordude oradepds.

y'. ‘Amdluog muxvéing deglov. Eivor 6 Adyog tilg pding avrod
pog TOV GYHOV.

8. Sysunn mvxvérns degiov. Elvau 6 Myog tiig udlng tov
Geotov modg thv ndlav toov dyxov arpoopaipuwod Gépog Hmod Thy ab-
wv mieowv zal Sepnonoasioy.

“Av d f dnélvtog muervdeng tod deolov, xal d’ % drdlutog murvé-
115 101 GTROCEULOLROT Géooc, 1 oyeTud) muxvétng Tod depiov dd elvow

d ;

5:?- wol d=25.d

&’ ‘Acgavtdiar. "Eav nagactadf di B 1l gwonuxding tod
’ s _® 2 ~ > s . = ’ 74 i
wbdwvoe & o0 dpawgotuev Géom, xoi B A roonuxdrng tob  wuhiv-
Spov # wdrwdev Tob Epforéwg drav 6 #uPolevg evplonetar eig TV
avotdmy déowv, H 1 aieag 1 doyxn 100 Bvidg tol xddwvog dépog, i
rieoic H, tob 2vidg 10b nddwvog dépog perd v dvelndoeg tob Enfo-
Mog eholoxeton &x Tl Timov :

=1 (575)

*Hzou
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st iR

¢’ “AegoPAimTin avg. ‘H nieoic 100 év ydb eloayopé-
Q uny @
vou deplov ut v Gvehndoeic xal xovamiéoes tol Eufoléwg elvar
S
4]

H,=H.,+vH B

dmov H, % dogu) Shaotdtne tod év 1) Soyelo -Geolov xal H 1 mis-
015 tob EEwrepmod dépoc, Tl dmotitterar otadeod.

IV. @EPMOTHZX

A’. OEPMOKPAZIA

a’. Oeguoperginal xdipaxes Ev yonoel elvar Toels.

1. Kekolov amno (0 uéxol 1000
2. Peopdoov » 00 » 500
3. OQopevdit » 320 » 2120
100 K = 80 R = 180 ®.
i e
H H
B8°. Avaywyn Deguoxgaci@dv :
. - 5
'l‘,_.:TuX;* '1=<=10X_,I

. S 5
TW=T,¢><%+32 T, = (r(,,w.az) X &

B’. AIAZSTOAH XTEPEQN
a'. Ipapuixy Oiactolds ovegedv. Kalelrar ovvieleotils tiig
Youppmie  Snotoliic otepsol oduatog, fi Emuuinuvols, fiv Aaufdver 1
HOvag 10T wixovg tol cdparog eig 0° drav 1 Jeopoxpacio abindi
Hatg 10,
4 ‘Bav & 6 ouvteheotig tiic yoapuwiic Swwotodfiz, tére o wijnog I
QdBBov gic t* Yo elvon :

=1, (l -—|—lt) Gmov 1, 10 pfixog elg 0°.

nal Té(l+lr) xaheital  SLdvvuoy THg

P
T I4+M
Yeruminiic duacroldfic.
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B’. *Emwpaveiaxs) diastodd. Koleital cuvighsotilc tile xov’ Em-
edveiay Staotolfic, 1| ailfnoig tiig novddog tiig Empavelag elg 0° 8¢
alEnow tiig degpoxrpaciag vata 1°.

To 2uBaddv B, Emoovelag ez t° da elvo:
w ¢ Eig

E,=E, (1 -} gt) Grov E, 10 Eufadov elg 0° xal &
@ GUVIEAEDTI|C O EMIQPUVELGHROS.

Zyéowg £ xal A : £ =21.‘-

y". Kufunsy Siacvoddf. Zuviekeotig tiig xufPuxiic dorodiic xahei-
ey fi abEnowg, fiv hapPdvel i novag tod dyrov eig0 dv oty 1 deo-
ponpooio xava 1°.

*Eav V, elvar 6 8yxoc gic 0° nat Vi 6 dyrog eic t° xai x 6 Guv-
- i~ - -

teheotiic tiig xvfundic diaotokiic Exopev: Vi =V, (1 4 =t)
8’. Zyborc » xal A: M
g'. Zyéoic uetakd tdy murvoTiTeY Ev0g copntoc eic t° vaieigt’;
die L
d’ 1+ xt
wal v t = o0 Exopev :
di— i
S| +xt

T ATARTOAH  YTPON

a’. Bawvoudvy Swacrodn Aéyetan §) alEno ol Gynov v aive-
tan Aapfdvoy Syodv T dvide doyelov Emlong Odiwotellonévou. :

B’. Amélvvog Siacrody i) moayworkd) Swxotohh) elvaw § odiEn-
aic Byxov, v modypan w dyedv Vpistotal gv T Ooyelo.

y". Svvreleoeis Suacrolfig Evog UyQol glvar 1 avEnowe, fiv dap-
Bdver #i povag tod Syxou &g 0°, Gray Jepuonguoio adrot Yo
dmo 0° eig 1°.

Syéor perakd 1@y 8vo ovvredsordy. ‘O ovvieheoris tiic o
MWrov SwaotoMig Dyeod Twoe, looltal mpdg TOv ouvieheotiiv tiig Qo
vouévng Staotohfic, niEnuévov xatd tov ouvteleomv tiig diaotoldig Tol
doyglov.

"Hrou A=58-+n
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“Av V. glvar 6 dyxog Hiypod mivog eig t° nal V 6 Jynog tod adrol
Typod eig 0°, téte :

V=V, (1 “+at ) Gmov @ 6 ouvreheotns 6 Gmdhurog ToT Dypod.

3", "Avoywyr) tot Pagouctpixot Twouvg eig O°.
o H,
Bagou.dnjos Hy = —J[——_ot—t frov Hy 10 mapotnondéy
Bhog elg deouonpaoiav t° xol 2 6 ouvieheotiic Tiic TEOYUOTIRTS Ot
oroliic tol Udpaoyvoov.
g, Ogpudpergor Sud Bdgove. ‘O timog eivan :
P (14xt) =(P—1p) (1-mt)
&vda P 10 Bdooc tob Bv @ owhijve 1dpapyvgov eic0°, p 10 Pdooc tob
&e)ddvrog Houoyloou gic t°, m & andlutog ovvrekeotg tol Udpwo-
Y¥oov, xai % 6 ouvieheots Tod doyelov.

A’. AIAZTOAH AEPION

a’. Zuyreleowrc duaorolijc @y deglewy dmd micoiy oradepay

elyan 4 avEnotg, fiv doiotatar § novdg ol dyxov 1o Geolov, drav
touoxgocio tov obEndil xavd 1 Padpdy, yoolg va perafindf 1 aieoic

Tov,
Vi —V,
NTE

Mevakd wiv Jyxov Ve nal V, dgiotara § oyéog

Vi=V, (1+ at)

g. Suvreleoric miboswe Ty deglay Had azadegdv dyxov eivan
i abEnoie, fiv Spiotara fi wovig tiig mécewe To¥ deplov, Srav f deo-
Roxpaoio attol adtijon xerd 1 Bodudy, ¥wole perafory ol dyxov.

Eav B eivar 6 svvreleotic mETEWS, TOTE ;

P — P,

] Al e

1850

3 A e ’
Edv o 6 cuvteheotiic, tdte 1 o =

Meratd v méoewv Pe xatl P, Spiotaton 1 oyéorg

P, = P, (1 - Bt)
O ovvteheorig draorohiig t@v aeolov elvar aiofnrdg otadegde 80°
T
273

o N s W e ~ -
Ohet 7o UEQLa nal avetdprntog ths mifotwg: o= f = 0,00367 =

2
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SR

y . Nopog Gay Lussac # véov veleiow deglwv. Td ywvdpevov oL
suévng moodtmuog deglov gxi Ty mieciv tov, Siarpeddy S Tob drovi-
pov tiig dastoliis, elvan Goudpdg otadepds.

PV RV %
N — L Tt EDOY
==t 14-at

8. Syboig uerabd Tijg rurvdTNTOS, THE Heouongaciag, xol i
mibeewe Svog deplov ! ;

d P 1l+4at

d’ P il -at
Smov d i murvding elg mieow P xai gig Yeononpuciay t
wol d° o» » S Pl » t

’

¢ . Mata $vdgdoiouévov Fyxov deglov &ig t° wal Dad mwieow Pr

_ VP
~ 16 (Lt at)

100 deplov By oyfoEL np0c 1oV Gépa, xat 10 Pdpog

M

gxov d ¥ wurvdTng
urdc Mroac GE0og 1,293 yoopudola.
<. Miyua smodidv geglov dLapdpay miécecwy nal Peguoxga-

oLAY

v P D v’ p” Nap
MR R S e e L = VP
et 1ot - 14-at” % 1+al 2

Eig tov timov tobt0V, V elvon 6 wowvdg Gyrog, P elvat 1) tehud)
ateotg, dnhadn o digotGun Ty neowdy mEcEMY EXAGTOV deotov, »ul

T + vehind) Deouonousia.
Bioog £vdg dynov V deglov cunvdinrog d, gl feouonpaociov t, wal
o mieow Pt
L B 1
B =V <1298 d Xt = —
X 2GS 760 X 14at

“Bav o V éxnpedleta eig AMvoag, 0 B 96 dxpodlerm glg yoaupdoLa.
E’. ATMOI KAI YI'POMETPIA

o . ‘Azudc menogeouévos #yeu el vdde deouoxoaciay ulav GOt
apévny Eactxy dvvapuy dyonalopévnyv peyiotny tdow.
Munvéone druod. Elval 6 Mdyog Tof fidoovs oiopévor dyxov 1oV
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)

“Grpod oo, mpde 10 Pdoog Toou dyrov Gégog Do tds abrdg cuvii-
%oe Vepponpaciog xol mECEmS.
&
. = o 3]
IMuxvéing tol drpod Udarog= 0,622 = =

B. Bépog évds dymov V druod, munvéinrog d, €ig tiv deopo-
“woactav t kol Vmo mieow P.
%) 1
L
160 1-}-at

Srov F f peylom tdolg tob drpod el Jegnoxouoiay t.

B=V 1,293 X d X

y'. Bdgog dyxov V dégog wenopesuévov vypasiag g t° nul VIO
wieowv F.

P—;iF :
pEE s = e

dmov F 1) peylom tdog 1ol drpob eig t°.

8. *Anéluzoc dygacio dégos. Kakeitar 10 moodv tdv Bdpotpdv
UVToD ®atd TIVO LEOVIXTY oTUypv.

g, Syetund) vypacia. Elval 6 Mdyos tiic mocdtrog tdv vdoatpdy
W01 Gépoc mode v moodmra, iy & elyev obrog, Edv, Tnd Ty adtiy
Hzopoxoasiav, fito &g v zerdotacty tod xdpov.

i m

‘Yyoouetounn #otdotac E = M

¢, OEPMIAOMETPIA

o', Movac Beoudinros. ‘H deguls (calorie) elvau 1) mosdtng tijs
eopbrnros § dveyxale S v tpwdi 1§ dsonoxeasio Evdg yodupov
Warog dmeorayuvou ravd 1°

8. Elduny Peouétng &vds odbpavos. Elvar §) moobing tiig dep-
ubtnrog 1 avoyraia S va DYodf 1§ deonongacia fvog yodupov Tob
Sdparog wotd fva Badudy.

Tiduen Depudtne Bdarog = 1.

Y. Osguoywenrindtns cduarog eivar T ywopevoy g nalng
w01 odparog Eal v edwny Yeopdrnra.

T6 oot tiig deonénrog Sneo Auufdver odua w iva i Hepuonpa-
ola 100 odhuatoe Mpwdf dno t, gg t, elva QO =m. ¢ (t,—t,)

Z
9mov m f pile xod c 1) eldwd deopding tol cdparos.
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i ppets

§'. MéSodog trikecg 10D mdyov medg efigeoty tig eilSuniic Peo-
péznzog. ‘0 timog elval:

m.c. t=M A

gmov m 10 Pdoog tob odparo; nal tH deouononcta tov, ¢ §i Cnrov-
péyn €idud) deopnding, M 1o Bdoog tob $datoz ol &x tig titewe mEo-
eMd6vrog, wal A eldudy deppding vod dyou.

g, Médodog uryudreov. Me v wédodov tudtny meémel v yoT-
GLMOTO|GUEY  TOV TUTOV !

m. g {H —T) =M(T—9)+ B. c (T — %)
drov m td Pdooc Tol copatog el V1 HFeopoxgooia odrol, ¥ i
ﬂsguoxouma 07 88atog toT deopdouéroov xod T 4 tehunh) degnonoos
ola perd thv pikv. B 1o fdoog ot doyelov, nal ¢ 1) eldu Yeoudng
107 perdihov tob deopidoyéroov, M 10 Pdoog tol Bv 1@ doyele Udo-
toc, xal ¥ T Dnrovpévy eidi Heopdne 00 oOPUTOG.

c'. Osouding viikews gopatds Twvog oTEQEOD, xohelraw 1O wo-
sov the deopbinrog, Grep Grarteltal iva taxfi &v yoappdowov 100 G-
wotog Tovro, dvey tyooswg Tilc Hepponoaotioc.

Modc meoodiogtopdy abriic XENCLUOTOLOTUEY tov Timoy :
m® —4) — M. e (T —19)

b M

Smov M 1o Bdoog 0¥ odpatoe, T § depuongusia itewg  adtol, m
10 fdpog tob foatos wal O 4 ﬂsguoxgumu adrod, € 1 eidmly Yeppo-
g ol odpatos, xal ¥ 1) rshmu Yeoporoecia Tol copatog usm my
PHELv.

t'. Oegudrys EEaspdoewms VyEolU TVOg nodelral TO ooV TS
feopdnros, §mep Gmotteiton iva 1 yodppoy tyool aepwif dvev VP~
oewg tiig Deoporguoiac.

Tlodg wEood0ELoR0V abtilg *AUVOREV yofiow Tob Timou :

(1) M@ —9d)=m.2 +m (T —9)
dxov m 10 Bdoog Tob ovpmvrvwdévrog druod, T 1 deopoxpucie avtol
xate Ty £loodoy Bv 1 cwATvL cupTURYACENS, wal A ) Yeouding EEo-
sodhoewc. M 10 Pdeog tol Ydarog wol ToD ogloedolic owhijvog, deppo-
uérpov xoi FEopmudrov dvyuévoy ele tdwe, O 1 doyun Yeppoxpaoio
0¥ Hdarog, xal ¥ 1) telwn Jeopoxrocoia avrod.
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~lngue

Avovieg 1ov dvw (1) timov dg npdg b hapPdvouey :
M@ —9) —m(T — 9
ey m

A

7. Myyavixdy ioodvvapov tijs ueyddns Seouidoc clvar icov
m0dg 425 yhoyeaupdperpa
E = 425 yihoyooppouetoa.
Mnygavirov iooddvapoy tig pnpds deppidog elg pevadag C. G. S.
slvan
q=4, 17 X 107 Eoyia = 4,17 °Iovkiovg

e e ,
‘H *Totvhog povag toofitut mpodg 981 yihoyoapundpeTpn.

7'. OEPMOMHXANAI

<

a’. “Ymwoldoytouds tot Fgyov. "Eotw P 1 micoig ol elopfoviog
drpol, = f| migowg tig drpoopalpoe, s A xwpdveia tob Epfélov, A
TO piikog tiis dadpopdic adtol, xai n & dodudg tdv Sadooudv xatd
Sevtepdhentov. ‘H xivolioa Sdvapig émi tol Epfoléng elvar F=Ps —
S = (P —x) 5, t0 8¢ mupayduevoy gz n Sadpopds Eoyov xura dev-
TepdAentov, firor 1 1oy tiig uyyoviis elvar :

W= (P—mn) s. A. n.

B'. *Anédocic Ocomounyaviic. Kuleltar 6 Adyog tol mocod tiig
Yepudinrog tiic perarpansiong elg Eoyov, w00 Thv Shny  mapooyedei-
sav Jeopdnra.

‘Eav 6 eloaydelc drpde elye deguomra Q, deopldwv, 6 8¢ 2tepyd-
UEvog drpdg Eger Q. Oeouidag, 1) peraroamelon el Eoyov deoudrng
sivaw Q, — Q, =ai 1 dnédootg Tilg unxaviic evar :

0 — 0,

Shetneh

V. AROCYZTIKH

: ; i 3
a'. Taydeng fxov. ‘H toyiing V 100 Hyov Ev nive deolp magéye-
LA ~ Cham y ~

¥ 90 toi &g vimov tob Nevtwvoc :

Mi—"V, \/_1_—(§—_(1_t gvida t 1§ deoponoacia tol deplov, a
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& cuvteheotilg  Olaotohig TV deolwy, d i aurvérng ToV (g mpdg TOV
Gfoa, ral V, fi taygdmg 1o fiyouv &v T Emod Géo el 0° firor Vo=
331,4 p.
B. “Yyogijxov. Elvar 6 Godpdg tidv mohndy nord Sevtepdhentov.
Merokd 1o Hipovs, tiig toyitnrog, xal tol uirove wiparog, rdoge:

i oyéois :
Vv =N. A, 8xov A elvar 10 wijrog wiparog, ol N f ovgvomns.

y'. Movauen wlinak.

D9 Gy ol SR SR i UL il 4 soll la sttt
- ; =T D e e
9. Awotfiuate Toveds . - 1 L e 2

, ' 5 G O (GO DRSO L6
3. Awotipote Stadoynd . S ey S

§'. Kuvgio diactijpazo.
, . 3
1. Adornue dydéns=2, duicmua aAEUTING =5
; 5 b
Sudotnua toitng = 7}

9. Telela ovppovia : ut— mi — sol
o) . e .24
Afeoig 100 re_:re)( 5i Y peoic 1o mi=mi X %
‘H zovo)) = la, = 435 durhois mohpovg wotd devtepdhenTov.
¢ . Nouot mellouévewy yogddv. ‘0 tinog, Gotig wie dlded. oG

vbpovg Elvot :

T x d

d f muwvéne iz ovolug, xal M.g 10 teivov [doos.

S \/M_g gxov N i cugvémmg, 2r 1) Sudpe-

toog, 1 10 uijxos,
= *Hynrinol cwlives.
1. *Avoinzsdg cwhiv. O1 Gouovixol dvountod cwhijvog didovrat e

tob timov :
: Nie ¥ : .
N=@2p-+1) iL Brov p elvar 6 depehiddng p=0,
V 4 taydg dwddoews 1od Fgov Bv 1@ déot, ol L to uijnog 0l ow-

AMjvos.
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T
9. Klewozde cwldr. Of dopovirol 8idovrae Hxd tod vimou

N =np. %:: §rov 6 depehcddne tov fyog p=1.

vi ONTIKH

AL QT OMETPI

a', Borewryy gdorg. Elvar f| mocdmg tijg q‘J[x)tEt\‘ﬂ: gvepyelog Mug
Sifoyeton toutv Tva Tiig pmtewviic déounc eig Tv "wovdda 10T yodvov.

"Evracic pozewijc wnyis. Eival 1 Oloig fjrg difoyeTan radétmg
v povdda tiic Emavelag ebowononivns elg drdotaoy Tomy pOg TV
povdda.

“Tav © elvar i 6hod) 6voig potewiic anyilg, e TV wovdda  Tiig

O

Bmgavetag cpafoae dxtivog 1, Sifpyeton QoTEWT gvEQyELOL ¢ —;—n —
Evraoig,

B'. Powrnioude xoleitwr 1 @otewvh 0log fire mooomimrel Exl TG
novddoc tijc #rpavelog todng, Gpotondopos paoTilouévig

D 5 Soatyia A
Dwticuos &= = Smov s 10 fufadov tig Emupaveiag

y . E S

1. Néuoc pwrousrglog. Aldvidoeg D00 QUTEWVOV TrydV £lval
dvdioyol mede 1@ TETdynve 1OV Grostdoswy abtdy Gro g gnipa-
velag, fjv 2 Toov qotilovar :

3

Ty

—

2. Aapmodins patewis mnyis. Kalelta 6 Aoyog Tiig Evrdoewg
TmOOg Ty Emigdvelay Tic POTEWTIS TNYig.

3. Nopoc potiouod. ‘O goriopds, tov dmolov déygetat Brupdveld
U dnd potaviic myiic, elvat dvitotodpong Gvdloyog woos To TETQdYW:
YOV tiic dmootdosmg adtiic dmd  tiic anyiis, xal dviloyos mods 10
suvnuitovoy tiig ymviag fiv aynuotilovow af gorewal axrives ToOg TV
®ddetoy xl tiy Amigdvelay
1
P?

I Y

Gho= ovv o wvdu g, 6 gonopde, I 1§ Evraoe, P § durig

3
#al o fy yovia.
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Movddes évrdoewg :
1 Carcel = 0,481 Violle = 10,9 Hefner

B. ANAKAAZIZ ©QTOZ

a'. Néuot dvaridoews. ‘H mpooninrovon wol fy Gvasdopévy duxrig
efoloxovral énl to¥ adtod Emmédov rudérov modg Ty dvaxhdoay Emt-

@dveiay.
1. *Enimeda xdromrga. To aﬁmlov elval ovractndy zol oup-

petomdy 1o Gvtieévou dg wpdg T XGTOTTEOY.
9. Kotla ndromrge. Ievixdg timog :

p elvar 1 drbotustg 10l Gvitelévou amd tiic ®opuYig Tol KuTdITEOY
piiy » »  EOOAOV » » » » »
f elvon 1) fotiomy) drdoraocic.

Syéoig uerokd tod peyédovs tod eldchAlov nal tod dvrixetuévou.

JEE e f

R ]3— & p—1I

3. Kvoua wdromzga. I'evizog timog:
e T
p LA T AR

Syéoig peyédove perafd eidddlov ol dviueipivov.
i p’ f
0 p p i
4. Tomoc Nevzovog. Kohovies m xol =« tdg dmootdoeg wol
a5dlov xol Tob dvroeipévov dmd thg fotlug, Egopmev Ty oyfow :

[}

T

R A
Dl A

2E o0 e

Al

0 tinoc ovrog dpuondterar glg Th xoTha %ol XVQTH CRULOKY XATOTLTOE
V. AIAGAAZSIE OQTOZ

o’: Néuog Sradldoews. To fulrovov tig yoviag TROGTTMAENG
S o0 fwrdvou i yoviag dabhdoswg elvar otodegdg Govnog xai
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naheivar delwtng Siadhdoews to¥ devtépov pécov dg medg o mp@tov :
Hie
fur
‘Oguxny yavia. Elvat dnelvn §| 6nola #get dbg fultovov o dvei-
Trgogov 1ol delxtov Sradidoswe.

- 1
nu. L--?

1. TYomot mpicuazog :

c

|
1

A=rir¢
A=141J—A
Eig TV meolmtwow g Ehaylote Ertoomis
& ob
A=2r
A= 2i — 2r

. g
UL =1

. o
1 —1
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— 26 —

Avd puxpdg yoviag j—mnx
A= n—1)A.
3 1 1
9. Baxol ovyrdlvovres. Timos: — A 5=
) p f
; e, f
Méyedog eidcdlov nal dvrinelpbvoy 1 — = — = —
o P p—f

YV nohoyioudg tiig fotianiis anootdosme ovvaptioet 10U detutov dua-
IMdoewe n ®al TV dntivoy xapruhdmmros R, zoi R

o= (& e

&

D

3. *Amondivovies @axoi. Timog

e
e Bl e
e

= sl
N

O | me

Méyedog eiddlov xal dvTineLuévov :

‘0O timog —l— i — ( ) (L -1

notl — ==
Y P

2poopdleta gl Ghag T0C MEQUTTMOELS TOV guyrhvdvrov %ol amoxht-
vévrav qaxdv, #av frodécwuev ¢ p, D’ wot £ Qetno 010 Té moay-
poTind eldmha, wol Gpvmuind Ou ¢ prveaotind Eldwha.

4., ‘Toydg pardy. Toyvz Evdg @axol LéyeTal T avtiotpopov s
foriunily Gmootdoemg. Hdv ot GrdoTaotg Bupodletar €5
péroa, M toyvs Ba Enqodietar gig domvplac.

5. MeyévBvows paxod. “H ueyéduvolg  @onod icottal modg 10
ywduevov Tl ioydoc IT &ml thv Ehaylomv anéotacwy A tiic ebnpvolis
Godoemg 10U dpdohpod tob mupaTnorTol.

WmlM:nxA={xA

6. Meyé'ﬂ'vvmg uurgooxosiov. ‘H ueyéthvolg 1o pwgooroniov
. lgottar ut TO ywouevov Tiig peyedvvoewe tob moocogdaluiov &l y
peyéduvawy tod dvrogduluiov.

"Hroo M=g X g’
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Siiomas

1. Meyévdvais dorgovouunijs didmrgas. Elva 10 ainhinov Tig
fotionfle Gmootdoewg tol dvrikepevinod, Sud tiig Eotiaxiic GMOGTACEMS
10?0 moosogitaluiov.

8. Mijxoc @uewod xduazos xakelio i dndoraog, elg iy peto-
S{Beran 1 modwwd xiviolg xard Ty Sudoretay wdg weguédov T,

Td witxog wiparoe A dideraw dd tod vdmov : h = V. T bmov V )
toydng noi 1 1) weplodoc.

*Bav N 6 dGoudude tdv mahudy nacd devrepdrentov, tote NT =1

sV =Nk

VII. HAEKTPIZMOX

A’. ETATIKOE HAEKTPIEMOZ

a’. Néuog &Akewy nal doewwv.

5
m. m e

T —'ﬁ)—

10 f Bwpodierar eig dvvac.
m xei m’ el Hhextoootatnde povdduc moadintog
d elg éxaroorduperod. '
B'. “Hiexvouen mvnvéins cpaloas flextoiouévns.

-«

G fhenvooor. pwovdadug C, G. S.

e i)

= ~ 4nR:®

¥, Syéoic pecaky tod Suvapunod V, zod pogriov (), xal Tijg
XwenTindrgrog C Evdg dywyod.
@ s

C= 7 9

T

Eav 6 dywyée elvan opaioa, téte C = R 3 o

Q=CV

Q0 =VR U. E. S fjkextpootatinal povdadec.
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8’ Avavoun wo® fjAentoiopod uerakd 8vo dywydy tedévioov elg
cuyHoLY@OVIOY.
) ¥ vovigouy o v
7 GUYROLVOD ; e
o) mpotol ocuYXO 1 S,
B’) dpod ovyrowmyicovy :
ma4m'=cv-+fcy = (c+c) v
cvH-c'v’
c+| ¢
&', ‘Evégyeta dywyod Alentgropévov xal pepovouévov. “Eg-
yov mapaySuevoy KOTh v Sxpdorwoly Tov.

W= %l] = ggi oy (10 W elvar Eoyia)

. Moantinal povddes.

gt ov Ni—

1) Ioodtnrog Coulomb igoduvvapolv 3 X AT S

92) Avvopwmod @ Volt » 330 >
3) Xopnrdnrog: Farad » Qe I_O“ »
Microfarad  » 9 X 10 »
4) *Evepyelag : - Joule » 16 Eoyi
5) “Taoyvog ; Watt (1 joule wotd degvte-
obhemtov) londuvapody medg 1(7) » -

Al povideg EMjpdncav xatd tpdmov fhote Q Eupodletan gig cou-

lombs, V &ic volts, C &g farads, nai 6 wimog Q = CV E@oppdle-
: gl G\ o e
tar. ‘O &t vinog W = —— mupQLotq TOTE joules.

2
B’. AYNAMIKOE HAEKTPIZMOZ

o' . Hoaxvixol povddes.
1. Movae mosdznros. Elvar fi Coulomb, fi moobtng 1ol Thex-

Towopod, firg dmosuvdéter wacd T fikextobluoiy Tob VOaTog 366C0
i

youu. 18goydvov.
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2. Mowvag évrdoews. Elvar fj ampére, fEviaoig 1ol detdparog firig

5 : 1 5 > e i
amocvvidétel 56600 YouH- O8poydvov ez &v devrepdhentov.
£ 1
3. Movac HAexwoeyeoriniic Svvduews: Volt = 300 U.E.S. to®
Suvaprod.

4. Movag dvrisedoeme. ‘H ohm, {f dviictacic fiv mooPdide
otk H8paoyvooveiz 0° toudic 1 terpuy. yhoot. xal wixove 106 &xa-
TogtopéTomy.

‘H ohm = 10" Nextoopayvyriwai povadeg C.G.S.

5. Mowag Eoyov. °H joule = 107 Epyia.

Movdig togtog. ‘H Watt = 1 joule nard Seviegdhentov. Eigtoig
oy, tolg drofove V& yonotwomon|ompey xotwtéom, i TaoioTdve-
Hev iy pev Eviaoww eic amperes ouwx I, iy fhentpeyeotomyv ddva-
W gig volts dia E, mv dvriotaow eic ohm duk R, #i 1, i 0, ©0 #o-
YOV H iy foxbv St W, xal tdg moodtnrog 10D nAextoopol N thv
Yeoudena S Q.

B8'. Néuoc ohm. ‘H #vraog fevparog elvor dvdloyoe g dua-
Poodiz duvamnol xal dvriorodpws dvdhoyog Tic Gviiotdoeme.

L. “H #viaoie I petafd 300 onueiov A xai B avsddpazoe, Fov
Topootnompey dd V xal V' 1 Suvapod elg 1o onpeia A wai B xel ¢
WY dviiotacw tob dyoyod, elval :

vV—V
= ——
r
i Gy V— V' =¢ gouey 1 = %—
:

2. "H #vtaoig €z Shov 10 xidopa, dv B elvae §f Slagpogd Suvapm-
%69 &g tode §vo wdlove dvoutod wuxhdpatog, R ) Bowreowd) Gvri-
OTucig 1iig otihng, r ) fEmrepum dvriotacig xal e 1) Sugopd [Suvapt-
*0¥ &g tode §vo mGhove wheotod Rurhdpatoc, slvar :

E
= —
Rer
ey \. 3 , S
Ei¢ tov EEmtepuov dymydv: I:F
SUES L 3 E—e
Eig myv ominv: I = Gep
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Alan e

y'. Zvvévwolg oroLyelwv.

1. "Ey cewd 7 nazd vdow. Eav THQUCTHOOUEY OLG 1 tov aoud-
pov tiov otoyeloy, o R v GveiotaoLy fvdg otoigelov, S T v
FEoreoudy dvtiotaow, xal Su E thy  fhentogyegromy Slvapwy  Evog
atoelon, Eomey ¢

nE

nR-|-z

9. Kava mocdenza # &v nagalijle. I HlexcoeyEQTIAN OUVOLLS
clvay ToD Evog otowEiov, xal 1 dvriotadig wadicTatar 1 POQUS WLXQO-
téoo. ‘H Evraowg elvon ton 7pdg TV Evraoty Evog srowyelov Empavelog
1 @opdg ueyohntéous

i = g s o
T R-nr
s

3. Muxezsf. SynuariCopev 1 oelphic B 1M oTOUEWY 2v mapahihe

wol GUVBFOMEY TG 1 OELQGS HOTCL TA.OLY

el E
nR SR | T
i il
m ol

To wéyiotov tiig Evidoeme elvon Brov 1) Booreoud) AviioTootg glvol
{on modg Ty EEWTEOUANV dvtiotaoy -
nRE

— =T

m

§'. *Avriordoeis.

1. Eidue) dveloracis. Elven §j dviictaote cvpputog, Omep Exe
pijog 1 ExatocToRETQOY wol Topdiv 1 terpay. EXOTOOTOW.

‘H Gvriotaolg Gymyol topdic s xal uirovg 1 glvot

iy o L Sl Ss s
T—80 = Smov p 1| EWOWN GVTILOTOOLG.

9. Peua sic nixlouo drhoty. "Edv dyoyds dmoteheltol G0
TogTs hhovg dywyovs Ev oelod, Gvuiatdaswv 1, ©, 7 nal R 4 dvii-
stacic tic oting, tote 1 Eviaots etz 10 wihopo elva

E

I= ————
Ryrtr +r”
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A

"Av e, e, e’ glvar 1) dagood Suvapxod petaEd tdv onuelov A
#®al B, xai B, T, noi T, A, Egopev:

r

e = [ tee — il e’ =1Ir"
¢'. Néwog joule. ‘H noodms tilg Yeondmrog 1| dvamntueoopévy
&g wiwhope Gvuordosng R elva
Q=ADI'Rt=AE It

To A elvae looddvapov tiic deoudimroc elg joule igodvvapoiv
M < <

TOOg Z]l_‘% Hepuidac.
*Hlenzouery loxvs nnyis eis Wall.
Ty i )
Ioyig P=I1"R= El = ®

o' Xnuwe Groreléouara gevpavos. Népos Iaraday.
1. To Bdpog tot Bxkuopévoy 1dgoydvou Hd Nhextowmod fetpatog &v-
tog Bohtepéroov elvar dvdloyov Tiig vrdosmg tob Hedparog. To Pdeog

tolto elva paw. 7 0,01035 ghwotdyo. UVdooydvou xata am-

1
56600
Dére gig #v deviegdhentov, §i tad coulomb elg olavdimore yodvov.

2. To Bdoog M tod fikextookvopévov petdilov elvar dvdhoyov tol
hextooynuixot looduvdpor ¢ toil perdhlov todrov.

3) Hiewvgoynuuwedv looddvauoy. Eivaw 1o anhixov tiig dogé-
SEme Toh Gropuod Pdoovg Sie tdv povadmv cvyyevelag 10 cduotog.

A Geduo Bvedoemg I ampéres ) udle tol  Nhenvoohvopévov
werdhiov siz t devtegdhenta da elvan :

(< I._t._ ,
96600

&. Pedpara Svaniaddoews. Kavéves Kirchhyoff. “Otav  dyoyds
dohadiCeran &z toeie dhlove gl T onuela A xai B, 1) dwapood duvva-
Wod petaEd A wodl B glvae V— V' ==¢, nal 1| 6l Eviaoig eivat
tlg oy amholv dywydy I =i}i4-i”

M =

*l 1) ol 1o Suvapkol peteld thv adtdv onuelov elva

L) e _rr

Svvévaoig ayoydy. “Evoolg v oeod :
R=R,+R,+ Ry....
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“Evmoilg ®otd ﬁtax?xaﬁmcw 1 &v nrxgunn?\(n :
1 1
R R., R,

I'. MATNHTIEMOZ KAI HAEKTPOMAT'NHTIEMOX

o . Néuog éAkecwoy nal doewv.
m.m’
d!
10 f Bupodieton elg Sdvag. m xal m’ elvon of poyvnoal pito To d
Enpodleral £lg EXATOCTONETON. To K =1 &ic tov dépu.

F =K.

B'. Mayvnuues goms dfdov payvniopévng wirovs L, tig dmolag
Exaotoc wONOG FYEL ROyVNTIXNY uiCov m  elval :

ME—"1.,0m

1;. Mayvnrins »0rdotacts chuatde Tvog payvnurdis  Oomiig
M zai dyxov v elvoe 1j Eviaolg poyvntioeng j.

8. "Evracic payvnrixod medlov eig v onuelov elvar 1) Evépyela,
fiv 10 nediov EEuoxel Eml mohov payvijtou payvneixiis  pdlng -+ 1 to-
mottenpévou lg T onueiov tolto.

; . ; f
*Evtaolg wayv. nediov H = —
m

f elvac 1 Stvapig % BEaoxovpévy i tiig payvnridie wdlyg m.

Movig Bvrdasag slval 7 gauss, dnhadn i Eviaos payvn ot me-
Slov, eu; o Smoiov 1 povde Tod peyynrionod delotatar divauy Tony
mode 1 8vwmv. "Eav 1) ddvape ioobuvauel npoc H divag, 10 medlov
icoduvapel mpog H gauss.

1. Mayvyzuen gor it uéoov wds Empavelns S eivar HS. Movag
fofic elvan f) maxwell.

2. Mayynruey Eviacis eig témov zve elvar 1) dtvamg T 9
deehopévn elg O yhivov medlov, Omep Evepyel gnl tiig povddog tol po-
yyntiopod elg tov témov toltov.

"H §vame, fine Bveoyel émi &vdg méhou pdlng m elvae :

10—
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3. "Bvracic nediov cwlnvoetdots. Eic 1o fowreomdv anviov wi-
novg 1, toptic S, oymuatitopévov dnd N oneloog xai Siaposopévou Hmo
I aunio elvan :

4nNI °
— 25. 3 oa1Ss
H 01 1,25, n. I gauss

N 2 ] LD . ~ - N 1.5 6 9 5 - >
n — l— glvaL 0 ug[ﬁj,l.oc_: TV GTROPWY, ®al N1 0 AOWUOS TWV LUTEQD-
TTQOMMV HATE EXOTOGTOUETOOY,
4. Mayynuuen dony) simviov dvev otdijgov :

WIS
Ut

5, Mayvyouey Seanmegarérne. "Eorw H 1§ wpd poyvnuxod medlov
gic tov Gépa Bvrog mmviov, xal B ) tuu myv 6molav Aaufdver to (wov
nedioy Bvrog 100 cidoov, tov dmolov elodyel tig évidg, tdte :

13 . ; B, 4
W=y stvau i) poyymoo Siamepatdmg tol péoov tov-
tov. ‘Il mun B dvondleta payvyrins mayoysy 100 péoov tovrov.

6. "Evtacis payviricewc 1lexgouayvijtov :

B Nip

j=

BT BT
A’. HAEKTPIKAI MHXANAI

a’. “Epyov modg Aswwoveylav dvvopounxavig. "Amnédootg.

1. “Iva mogoydf Oetua év tfi pnyavil, déov va damavndf unye-
vinov Eoyov. “Horw E Volt | flexroeyeptu Sdvapig thg unyavig, R
A BEwteoun xal 1 fifomreou dvilotaacic, ol 1 f Evraoic tod Gedpatog.
s ; E
=R s

‘H dapopd Suvaprod e elg tovg adlovg tiig unyaviig da elva :
t=TRi Gdev e =K —ri

Tare :

‘H Shoay togve tiic umyoviic da eivan : W, = Ei, § 8¢ Siodéoiuoc
Loylg adriig (W) fiv Sdvarar va rapdoyy el 10 Ewteomdy  wdudoua
slval e.d , §0ev -

W= ei = Ei — ri®
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‘H 2véoyeia 1i® Jeopaiver Ty pay vy xol urxtuvaliﬁxfta:. !

9. *Amédooig Svvoamounxavis woheiton 6 Adyog g d@ehinov
toydog W modg wv Shnv togdv W fiv domav@ @ xivolon tavtmy GTuo-
pnygevi. :

‘H peylomn loybe tig pmyavilg elva ©

1 p— D watts Grav undevilerow 1) av
W peyiomy =E X E =
tlotaoig R. ; . Fre

3. *Anddooic ®iLvnTijQos waheitar 6 Adyog T MNEoVIRNg lGZ{_\JO\Q ‘

fiv 6 wyntho mupéyeL 2xi tov GEovog, mEOg TNV MAQEOHEVHY oYUV v
P
P

- \ ~ ~ ) \ VR 3 ’ = ]7,
Abyp wdv arwleidv xat g toffic f loxde P elvon purgotega Thg

gig TOV nvniiow, fitot: =2
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MEPOXZ AEYTEPON
MPOBAHMATA KAI Al AYZEIX AYTON

I. MHXANIKH

A’. KINHTIKH KAI AYNAMIKH

R. ‘H éndoracic dvo oradudv cidnoodeduov eivar Ton moodg 10
WA, nol Sravideral Do totrov petd rviioewg Gpolii¢ dveog 10 mod-
v Aemrdy. Mola elvan f tayime xod” Goav toll odnpododuou ;

Adaig: els="vt el Sui—

|0

Emopévag 10000:—12 = 60000 u.
60
2. Kuwniov avaywofioav &x tiighoepioc dujvvoe 90 wikw. ué &nied-
Wvowy 5 ydp. thv doav. Iota viv 1 taydeng ol xuvmtod ; Ioia 1 to-
Wing tov werd nupfhevay 4D modtwy hemrdy  xal fvide wdoou 100-
You da yivy 60 phidperoa ;

Adous : v= \/2.5.90: 30 1. T
45 3
Vs = B, T 3 i L.
Xe— 4 = 12 doat.

:Jll

L 3. Koy avaywoel #x tiic foepiac. Iotov 1o dudotype  perd 3
Woag, Eay y= + 2 xa®’ doav ;

Adeg : e =é (."_' 2) 3'=F9 riu.

4. Tlolov moémer va elvon 10 Sravudiv Sidompa Had cdpatos Eov-
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Ll O

tog wlvnow Ouahidg Fmzayuvopéviy, Gote 1) Tagimg Vit icolitar  apud-

unurds medg 10 ijpioy 10l Stavudévrog Broctinarog |

o 2 3 e
Adaig : u:\/?ve (ote Q—z\/?ve wal ——= 2ve

aol e?’=8ye Emopéveog e=8y

25, Ao xvntd dvayopoiow &x TV o droov A xal B eddelag,
oftwe Gote va cuvavinddol, ug tagdmias v xal V. Zmusiton v
nooadootodf) T0 onueiov C i GUVOVITOEDE TWV.

Avgig. "Eotw C 10 onueiov ouvavrhoewe xal Foro AC =x,
AB= a, t61e CB= o—x.

"Howo t & yobvog elg 10 téhog Tob Smotov 9 yivy N cvvdvineis.

Tvowolfopey 6t e=ut tire x =1t i, o—x =v't £E

=X

— xal Movieg Exouev :

=5

e
e
c

gxedn 68 x =ut

Svouey wt=—— o0 f{= ;
Lou 1 B v+-v

S. Soua Hov nivnow duakdy Emraguvopéviy Gvoyome:l Bx tiig
fosulag xoi dravier b pérou watd T momrov devtegdhentov. Znreltar
o' Tloiov elvar to Swevudev didotnua Bvide 8 deviegolémtov. p". Iola
glvan i ToyUmg el 10 téhog ToD attol yodvov.

5 1 : . 5

Avgg © e= 5 0 64 =160 xai v=>5 X8=40.

. Kuntdv dvaymoet &x g foeplng xal Soviet 110 g, pet’ Emu-
taylvoswg 2 yhw. rad’ &oav. Tola i taxdtns 108 xvnTol LETAL TTol-
ofhevow B0 xal Evedg wdoov yedvov ) raytieng D& yivy 70 pdidperoa ;

Adaoug : = NiEEye=—al
50
p—t ‘ e ‘)
Vo= 2 KXo 027
. ‘_‘(.) — 35 Goout.
2
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e

®. Znusiov xelpevov elg 10v Tonueowvdv tic vile diarodyel sic
< d r I3 -~ © ” s © »
24 Boag piav megrpéoeiay drrivog 6378200 pérowv. Molw i ToyuTg
Tov xatd devrepdhentov ;

2 197 8¢ !
Adaig ; u:__’_th U_:(;B;@XQT

—gedo0 1649 uévo.

D. Ioio elvon §) yoviodne toygdmg thg yiic Srav 1 meptotpogi
e

g yiveton €l 24 Goac §ij 86400 Sevteodhenta ;

5 2 25 3,14
Adouc: 0=— =—""12 —0,000072722 . ..
$ t 36400 o i
BO. Znuelov xeluevov Enl 1iic mepepeiag dloxov Bv mepuoToo@f
el youppy  tagvtTe 1,20 péroa werd Sevvepdlentov. ‘O Siowog
ger doriva 0,40 pévow. Zmreitan 1 yoviddng taydme.
v 1,20
Adoug 0= _— =~~~ =3.
$ EE T et
1 B. Tpoyoc aspiotpeqdpevos Erat yoviddy taydtmra lonv mooe
6. TTofa a elvon i yoappxd) taydtne onpelov xewévou i dndotacty
0,98 pérpav amd 1ol dovog ;

Adag : v=ar v=6 X098 =5,98 uérpa.

B2, Na evoedf fi yoviddng taydine évog Pfoldy td dmoiov Exte-
W1 45 grpoqac el T hertév.

nm __ 45X 3,14

Avboic : 0= W= 30

= 4,71.

1 3. "Odoviwtog T00x0g wvelton ué yovimdny taydmre H. Idoug
OT00ag xdpver gig 10 Aemtdv;
300 050205 0

Ades: = =471,
voig n = n ER Y] 1
B4, ‘O pvddhdog pidov Exrehel 115 croo@ag sig 1o Aemtdy.

ofa i yoviddng taydme 10 pulodidou ;

Adoug : 0 = %—%&é = 12,04
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Vit

. W e - ; Sl s oA

125, SdHpo T xTe ™Y ATdo 10V SlaTerEL T0 Fauou 6hnod
1

fpovg | rotd t0 TeERevTalov devtepdlemrov. Na mpocdiopiodi o 10

Shndv Bwog h | wal Ba 6 yobvoe t il mrdoewc.

gt

1
Avoeg: lov. To Shndviyos h =<,

1 2
2ov. To typog h' = l*l =0 gtz_% 2 (t_l)

n

S Gl .
gEov 2t—1= - 1 t? —2nt+n=0

n
aol -—:ni\[n’z— n

16. Sona 1 ninte Eevdépug EE Upovg 144 pérowv. “Orav dwa-
vooq dudornua 25 pérpwv, Goplevon va méoy Ex 100 adrod typoug dhko
smpa dxohovioty Ty raraxdougov. Metd molag taydmrog apédn va
aéop O DeUTEQOV OORK Gate v pddoy eic 10 Bdapog ovyredvag ue
10 TEMTOV |

Avoug : h = 144 pevp. d = 25 péroa . “H doyoy tayd-
e 1ol devtégov wwnTod gival vy, “O yodvog t TOV OmOTOV yoeuale-
rar o mpdtov xivntov  iva dwteékn o Yo h — d elvar Toog pe
1oy yodvov mob yoewdletan T0 dedregov avnrov Oia va diarpéty T
tpoe h.

“Qote Hopey t= \/2 h_\/?.é_ 2k [’ﬂémVIEG \fﬁﬂ\f'ﬁ—\fé]

g g g

1 2% ey
Hoi el — Ut et el \/Z_L + k EE ov
2 o

N = \/% (ﬁ\/_}_\R ) To medPhnua dindevel ndvrote diom h>k

1'y. Al 8o patar pnpoaviig Atwood CTvyiCovewy Exdotn 150
vooupdoa. Iolov mpdodetov foog moémel va Déowpev elg thv plav
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Bl
2E adudv, tva fi taxtne elg Haowstovg yivn 1,20 péron xaxd devre-
o6lentov £ic 1o téhoc Tol Toltov devrepoléntov ;
Adoic: “Eorw x 1d mododerov fdoog. ‘H uwolcu Sovapig 1
Smrayuvopévn D elvan x,g Stvae
‘0 timog F = my phc Oidet
xg = (2 X 150-4-x) v (D
#ic 1o téhog oV 3 Sevreoodémrwv ) Taylmg eivar 120 éxatoor. ‘H
Elowoe v=qyt dide 120=1vy X3 & ot y—40 nal &x g (1)
gl R RT2000TSE 12000
JOREYS R SRGRIS ) - DAl
B8, Miyov) Atwood ge dvo wuolog ndlug toag mpog 230 youp.
“Eudornv. ‘H mpdoderog pala elvar 10 yoap. Znreltu o, 10 duavu-

v didotnpe xavd to 4ov deviepdhemtov.. 6 yopbvog elg 10 TEAOG

= 12,7563 yoaupdoro.

108 6molov ff wmdeioa taxiing elvar lom modg % . To g =980.
Adeig : ‘B Emurdyvvors tiig xviioews diderar tmd 10T tinov F=my

E ‘}80>(1U 980 cm

T AN A s

Td tnroduevoy didornpa eivat 1 Stapopd petall ol daoriuatog

0¥ Swevudévioe notd ta 4 mpdTa devtepdhenta wol Tol Sluotiipartog
10T Swvudévrog xard v 3 deviepdlenta.

éE ()f)y:

. ? 1 1 1
Eyouev Aowwov x:3YX15—§'YX92§YX7

‘Aviadiordvee T y dud tiig Twudic Tov Exopey :

30 : ;
X =]§ X 9—— ¥ T="12,98 éxatoorueron.
B’ ‘O timog tig tayimros v=yt 8ide t= ;—,
g 980 s AT 0
gEob t= Fal 5 1 9,4 Sevtepdhemra.

19, ‘O xevdg danrdhiog xal & mhiiong daxrihog ungaviig Atwood
slva tomodemuévor, 6 udv mpdrog elg drboracy 32 EXOTOOTORETQWY
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A

2 T doxfis Thg xAlpanos, & St devrepos elg dndoracwy 1,50 nétpmv
“Enactog tiv nulivionv Tig ungavils oiviveg xpépoveal g 1OV drpwv
oyowviov elvan 100 yoou. *Emnigpootilopev tov Eva &t TV wuhivoomy
Sua 8o pafav, 10 yoou. Exatéoug, &x t@v Gnolwv 1 wla dovaron v
zpondii duct Tod drarerirov Santuhlov. "Aglverol T0 olommpa v K
vdfi divev doymiis TuydTnTog. ZnTEltot va evpeddow:

1ov. Of Gmoattovpevor FoovoL o) Ae va roam il 7 mpdoderoc
nita Srav Sibgyeton didi tob Suarofirov  daxzviiov. f'.) Aw v OM-
wyv  dadgopdy rot 1,30 UETOOV.

90v. ‘H toydme fiv 9o #yn Svav dd @ddoy Bt ol mhjoovg dionov.

Ty g = 981. ‘H pate vig tpoyahlag, Tol oyowviov, %ol 1 dvrioto-
oic 109 Gépog, dEv hapfdvoviar v Syuv.

Adoue : lov ‘H Emindyuvolg Tiis HVIOEMS [ELVOL ©

210 SRR cim

i e G T
') To thpog hi=32 Exatoot. 9 Swavudi elc yedvov t towiTov
1
ote: hE= 3 yt?
2h a2l : .
g .ot = \/2—2 = \[)S,Z—:o,sm devrepbhenta.
8 v 981

B’} Karémy todrov 1 Buirdyuvolg ¥ Elval
: 10 981
Y =5X g ol

Td Sudornua h’ = 150 — 32 = 118 éxaor. da davudi elg yodvov t’

& o ]
ToloUToy Gote ' =t +§' Yot

981
ol Ggot vo=vyt= \[2 yh = V64X S 75,54 Exorootope-

<00, 96 Eyouey Thy EElowow
W ! l. £E. ]

‘H devwnt) ila t' =1,15" povov adndeded.
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o

‘O yodvog & Ghidg elvar 9 ==t - t" dAiyov Sidgpopog Tob 2
Zov. “H zoygitng Ty oriypiy todmy elval
V=, -yt = 129,37 énaroorperon.

2. Al S0 loaw palu moviic Atwood elvan fxdorn Ton meog
40 yoau. 'EmupogriCopey thy plav 8E abrdv S uidc udalng mpoodé~
tou mehivdowdic 1 youu. xai wids wdlng mpoodérov Emyirove 1 yoap.
€ ’ ~ - 3 ’ x
H edevtaio afion mododerog nalo xoareizar Hrd daxtvhior draroitou
et mopéhevow 17 dg” Stou Hogioe v savfitan. Zntelvar 1ov) § oyé-
olg iy Stovvopdvoy dostudrov xatd t lov xal xatd 1o 20 dev-
tepdhentov tijg midoemg. 20v) al Emtaylvoec watd thy nrdoty, YVO-
oto® dvrog 6t 10 g iven 981 C. G S eig tov vdmov 10T meipdpatos.
Adowg:  lov, Kard o lov drvrepdhentov, i Sdvams tig Emraydy-
oEmg 2o peradider sig Ty Ghwdy ndlav 2 X 40 + 2=82 yoou. piny
Eurdyuvowy y towvmy dote 2g = 82 v,
2 981
serir : 5 ;
€ ov —io — = — = 23,927 &xatootou.
E Y g X a2 i1 f w
Katg o Bevrepov devtepdientov 1) dbvapg g mraydvoeme elvar wd-
voy ¢ — 881 dvvog, xal 1 magastigovan puala 2 X 40 - 1= 81 yeau.
SR T i i g 981
‘0 tinog F=M.y didet did thv véay Emvdyvvow v = TR
12,111 éxavootdpeton.
2ov. To Srovediy Sidotmue xatd v mt@owy &l 10 téhog tol lov
devtegohéntov elvan ©
y 98

1 981 ;
e, =53 Yt2=€2' =tar EXOTOGTON.

3 981 . I y .
Xai § raydng v, =yt = sl Exat00TON. Xotd devrepdAentoy, 10 dia-

Vulty Sudotnua ot To devtepov devtegdhertov  elvar nutdmy  tol

, 1
oo e_—Huc,twf«6 TP

1

1
ea=1’l+§ ) s

rel™=.
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S e

I1X2

L=

Mo o 0 o —
nol € = F7 + 63— ° (41)(162 xal Good e, =
B G 81.

Eyopev t€hog — = o3

L #evdepog va méoy dvev Goyutiig ToUINTOS,
§ yobvoe Tl TWIMOEMS
£lg 10 Padog

<2 § . Aidog dopieta
¢arog Bddovg HOO pérowy. ZMTElTon
Ty Bmov @idve

Sy hapfdvetatr D Oy,

2vt0g QO
o Mdou, xal fi togdimg Tov mv G
w0V gotavos. ‘H avelotaoig To GEQOS

Adaec : "0 yobvog Tils RTOOEWS -
t = \/i‘l = \[2_X 500 _ \/ 101,936 = 10,09 devrepdhemta.
g 9,81

9ov. ‘H togitng uett oV yodvov todToV :

v = \/2gh = \/9)(810 — 99,04 pérpa.

fordpevog glg Tyos h Phémel v Diégyeron
@ity @V ndTw so0g T dve, Mera ma-
Bhéner Td odpa ToTTO vi Sifpyeron Ex véov
g Tol chparog, xal o pEYLs

<22, Ilapotnentis
Fumpootey oltod oMU Ot
péhevowv B Sevtepohéntov

Zuspoodév Tov. Znrettal 1 Gpyud o

grov Ppoc eig 6 10 chua tobro Gvihle.
Adgrg: O vimog tov Suuotiuatog elvar h= vet— 58 t

Adopey Gg moog L.
_ u,EVui—2gh

gt’—uat—{—ha-—"O BEob t= 5

Bo|

1) Snpopd TAHV dltav t — ' = ki)

mhadl 9= 2\v, E—;—_Eg—l[

o : S . R e
Gote T Goxwd TWVING Vo = 5 \ glg9® -} 8h)

A o oo v, 0
Td uéywatoy VYog s av6dov h, = -;;'—g =h-| 5
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2:3. Muopd opaigo Ex podifdov, ninvovea Ehevdépwe, diépye-
ta v 10nv dpav  Eumoootey mapainontod tomoternpévov eig Hipog
300 pérowv amd tod Eddgpovg, pidver 8t Erepov mupatnontiv tomote-
muévov ez Upog 200 uérguv thy 100v @Gpav xol 2 devtega Aemtd. Zn-
Teltaw 1ov) Gmo motov Tpog mimrer ; 20v) elg molov doav Yo giddoy
gle 1o Edagoc ; 3ov) mola & elvar Ty otyply tadtiv § togvng g
‘H Gvtictuoig Tob dépog div hapfdverar On’ dyuv.

Avoie : "Eotw x 1o Hyog #E o ainter péyottol omuelov tdv 200
étpwy; t 6 yobvog tiig mrdoemg uéyxpt Tod onpelov tovtov, xai to o
10évog tig mrdoeng uéyot ol Eddgoug.

1 Solt— :
Tov. M'vwpiCopev 6Tt x =Q—gt’(l)xm ( 3 2) =x—100 (2)

Gepogodveg Ty (2) thg (1)
50 |- 9.8

$ropev: 22t—2g=100 4 t= g = 6,1 devrepbhenta.

To thpog tiic mrdoewg eival

¢ ' qn
Jic éﬂ 4200 = 382 péroa

Qov, —S-_-t— 382 xal t, = \/? X 382 = 8,83 devtepdhenra.

‘H spuioa & @pddoy tic 10 Edagog €l tag 10%¢ 27 -
(&’\’3 — 6,1) = 10%¢ yoi 4,73 devregdhenta.

3ov. y=9,8 X 8,83 = 86,03 uérpx nurd deviepdlemtov.

2.4. Bifipo Guttépevov xutoxopigug &x thv xdtm 1gog To dvw,
Emavégpetat Eic T onuelov Tiig Gvaxweioews petd magihevaty O devte-
oohémrov. Tlofa fo 7 Gopwl taxdms tou v, xal €ig moiov thpog h
‘gfpﬁaus %

e = A z 3 v

Adoig: ‘H Budprewa tiig dvodov eivon 5 Emopévas 5 E"
gk ol v, = il
s a 2
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To péyiotov thpog:

225, BMuoa fimetan xataxoigos B thy ndrw mEdg TG Ve
ud tagdimra v, = 100 péroa. Na drohoyiodf 0 péyiorov thpog elg i
Grotov da @ddoy, xal td dtavediv Hudotnua wotd T0 mpdrov  devte-

oGhemtov Tiig xwviioeds TOV.
Adoug: To péyorov tpog :

e 1002
e T ERCENOR &
h= 5 50981 — 509,683 pévopa.
Kard to modtov devicpdhentov da Siavdop Sidotnua

f C
e 3 S [t 7);“ == 00 D05 uETen:

2. "Ex 8o onpelov A xal B, eboworopévoy Eml thg avTiic ®O-
'tliﬂlOQlt?(D&U xai eig andotaow d, atmtover ddo RvmTe  PE Gpyrag To-
yémrag v xal v TO ebolonbpevov elg 10 Dynhéregov onpeiov A ava-
ypel 1 dsutegilemra nobtepov Exelvou mou ebploneral gic 10 omuelov
B. Eic t téhog moiov xedvou da svvavinddor ; Eig nolay dndotacy

.fmé 100 onuelov B ebglonston 10 onpelov tig GUVOAVITOEWS §

Adeis : "Eorw C 10 onueiov tiig suvevtioeme. Ofropev BC = ¥.
Af £Ewodoeig  Tiig ®ivijoEmg TOV Svo wyntdv elval :

1t
AC=d+y=v(t+ t+5¢ (t - 9)*
BC—y— t—{—lfg i
2
Gpargoiives E(ouEY :

d:(v—u'—’rgﬂ)t—}—uﬂ—}—.%g L

1
t_d—(vﬁJrggﬁ)_d__P& ]
7 v+gtd—v o — 1)

5 1 5 Y i
av e,=vd + ggﬂ’ wl v,=v-4g® Jnov e, du
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= 45 —

otnpa Slavudév, xai v, xndeioa Tayime Hxo ol mpdtou HVNTOD KT
N 7 - ) . A 1
Tov yodvov tov modteoov tob 4. ‘H dndotaciy BC=y=1v't}- 5 &t
Gmov t Eyee thiv uuny (1),
7. Na deydf or xord v atdow cwuatog Bv T xevd, te
dlavubpeve Steotiuate xowd o dradoyind devtegbhenta adEdvovot xatd
Gountudyy mododov.

1 1 2
Adeuc : At:ggt?—gg(t—l) =gt—

1 2 1 e
Ap=5g(t+1 s el

&

bOjUg

O

o ey - . Al
N auEnols g elvol moootng otadepd.

28, DBljpe dirteron dno yoviay 45° pe a@xmﬁv tayvtyre HOO
Wepmy xatd Sevtepdlentoy. Eig molov tnpog 9a gidoy w0 BAiua, xel
&g molay andoracy anod 109 onpeiov tiig Gvaympetiorwg da ouvy uvioy
Tty 10 GoCdvriov Exinedoy

Adoug : To Hpog tiic Boriis elvae :

ey 1
v ta 500 X 2 62500 X
e —‘)— g— = 2X§T§1 7):8‘]'— *—(){571 05 j.lS'r[)(I

‘H &xracic g Pokiic elvar

2
Al l’_.“_n‘“ L = @ = 206484,14 uérpa.
S h

Y. Blfino durtdpevoy 050 yoviay o, m\\'uwu 10 6p1lovilov
E’HTEEBOV elg dndotacy d 6m0 tod onpelov tic dygéoswe. N mgoodio-
Q6Bf i doyu taydne v, 00 PAiparos, xal 1o fpog el o Grotoy
Tolito Gyvijide.

‘Epaguoyi. a = 30° ®ark d = 800 pérga.

Avoig . “H dnboraois €lg fjv ovvaved w Goilévriov Brimedoy

2 200 S &
At L B o e Rt e \/ d. g
g . 2a

e v oid o
tiio: ol ' Gyiide s h— ”2“?‘ gnwa

(
= EQ. U
g 2¢gmuZa 4
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A

A o =30° nai d= 800 Exouev:

vo = Vs_____;ooxgémxwg — \ T0B82=95,19 pévoa

xol h =200 X ep. 30° =200 X 0,5773 = 115,46 péroa.

3. Bdpoc natéoyeran émi xenhpévov  Emumédou yoviag 45°. N
no0odiopiodf i Emirdyvvors Tiig xwviioede tou, ol f TaxvTg TOU Gray
#yn Stavioel piog 3 pétowy 2l toD aerhipévou Emumédov.

Aveic : "Eoto v 1 Intovpévn grudyvvolg. A moapdyeta Do

tiig Suvdpewg F = p nu. o

i % . O 3
I'vopiCopev OtL e Bl ol y==gmnu o

y p

: e !
‘H topdme elvar v =yt nol unxos 1l= 5 Y i

T toyding v =\/ 2y1

21. Sqoion xwhopévn Exl xexdipévov 2rurédou, draviel 0,60 .
paLo

3 e ; IS ol hing 11 ial e
wotd T0 toitov deutepOAEmTOY. Zaeltan 1 oyéolg T T renMpévou Ent-

1
wédov (whowc), nal o Siovudty  Sidormue xoTd T Sevtegov devtegd-
AEmTOV.-

c 2

Avoig : *Eorw y 1§ &mrdyvvolg tilg cpuipus. To drovudiy Sud-

sTUo xate T0 ToiToV Sevrepdhemtov elval :

1 : N ED
0,50:-‘23’ (3’-—2)—§Y

& ov Y= % % 0,50 == 0,20 u.

SR bk v LT i,
H oyéolg 10 Tpovg modg t0 pijxog == Mk 0=

h> DD 502039

Emopévog 1
To Savudiv Sidotnua xotd o devtegoy Sevtepbiemtov elvo @

s 1§ v(‘Z"‘ ey 1=) = 0,20 ><:°;—= 0,30 péroa.
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2. Al dlo pwalor ungaviig Atwood CTuyiCovow Exatépa 20
Yoou. *EmgootiCopev thv wiav dud fdoovg Evog yoappapiov. Iofa o
elvar § Bmutdyovolg tiig wrdoewg 2v téne fvda o g=981;

Adoic: Al Bmraydvoeie de wla xal §j aded) Svvaue, peradide eig
dlo Sungdpove pdlug elvar dviiotodgog dvdloyor wodg Tas pdlac
Taitag.

m
5! i § f ey e

oL — EX TOUTOU = 3
\ m Y=t oM Lm

dote vy = 981 . 7}1 — 0390
B3, Sopa Pdeove p tideror tnd v Evégyerav duvdpewsg ota-
Yepdc 1 2mi t Sevreodlenta. Katdmv 100 yodvov todtou % Sivaug
STopord Ty SveoyeLdy The, ®el O vty Stoviel pErd xvijoEmg OUO-
A Sudotnua e eic O deviegohenta . Iola 1) Bvraoig tiig Suvdueag ;

RS N SRSt P S o PRt P U
Avgigc : F = = p xal uv=yt € oV F = at 19
Eroné = {0 F A5 b
S0 ¢ = —  xo = = .

UEVIG U i L L:Lﬁ I

Emuguovﬁ c At p = 1 phbyoap. t = 3" e = 90 péroa wnai ) = 5"

90

X5X“’ ¥ 1 =0,611 phdyoan.

Eropev F =

4. °Ex 1oHv 0o drowv 1ol vijparog tie pyoviie Atwood
EEC!thvtm Bdon &xaotov H00 yoappaoiov. Oftopev eig w0 fv £ ab-
Ty wpdodetov Bdoog 10 yoawn. Na& vmohoyiodf fi &mzdyvvors f Aap-

UWougvn Suck tob overfparog, 10 dtavuduevov Sidompa peTd wrdoLy
65Utsgohémmv, xol 1) Tayxling xerd thy oTiypny toalty.

Adowg : Ty mpdoderov Bdgog m = 10 yoop. 8ider &l o Shmdy

6690‘5 2M - m = 1010 yoau. dmrdyvvowy ¥ dnhady -i— =.T;I-1‘-m

Moy o I 109,81

Y;_V.._,.H_.__ g e e e ﬂ
oM-fm - °® TR L
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Ta Srovudiv drdornue perd 2" glvan
e =% i ] ;— X 0,007 X 4= 0,194 uéroa.
‘H roydng thy ouiyuiy TovTY ELVOL:
v=yt=0,097 X 2= 0,194 péroa.

=213, “Exactoc 10OV wulivioov tJTDLﬂW]g Atwood #get Pdooc B.
Na Sohoyodfl w0 npdadetov Pdoog B 0 Gmoiov tideTal €lg oV Evor
iy 8o wukivdowy, Hote o Savudty didotmpe ®oTd 0 mpmrov Ogu-
repblentov vi lval h, xol § Togdng Eig yobvov t va elvat v

Adorg » ‘H Emrdyuvols glvat 10 Suthdotov tod ®atd THY Toh TNV
4 0OVIXNY povadu Stovudéviog dlacTAUETOS !

i ¥ p 2y 4h
v—92h & Bt minos — = mo §da = —-.B=——=—_.B
y Aele i PR b= g—2h

e 7’ : 1 25 ¥ U
H taydme slvar v=yt € ov V=1
v 2 2v
dote B = “Y B= . B
g—Y gt—uv

3G, Avo oduara wimrovowy 2x toD abtol tpovg B0 pérowv
word pedvovg SLopEOoVTUg KUTH Sevreoéhenvov. Iola o elvay § Gmd-
sracic Tov d  Otav 10 TOMOTOY 2yyloy 10 Edupog |

Adoug : “H EElowoig tig wvfioeng TOT ARMTOV cthpotog elvol *

o 2L 100
HOOD = == wal t=
2 Ve

“H E{owoig Tiig xviioemg 100 Sevréooy ampatog Eval

og
o
T
—
&=
=
o]
v

5000 —d = 2—r— = 5 — il
GpaigoTpey Ty DEVTEQAY Flowowy & Tiic mpding Hal Ao fdvopey

L —— — 3 .—_:2639 — | 26,39 uétg.

' . Al do palo tdv wlvdomv pnyzeviic Atwood glvar Exdot!
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g

ton meog 100 yoappdpia. TTof moémer va elvay 1) mpdoderog pala x
tva peva téooupa deveepbhenmsa ¥ raxdims yivy 200 &xotoctdueron ;

Avows: "Eotay f mudyvvows iz iy foadeiay xivnow 1 200=4y
ot Y = H0.

“Eniong: (200~ x ) B0 = x, 981

10000
st 0o,

38, "And wolov oz h meéner va wéoy Midog, Tva fj taydmg
v yivy 100 péroe Srav @ddvy &g 10 Edagog ;

Avboig : Tyvwpilopev tv oxforv v =\/2gh

v 10000

ot ol — 5 T uétné
5z = 5981 h = 509,7 pévpe

T l—
B, Tq Bondele pnraviis Atwood Bdpogz 10 yoapuoolwv dveo-
Ve xal gvger Ghuady patav BOO youppaoioy né Fnirdyovewy 19 &xaro-
Stopérowy watd devrepdlemtov. Tloiw elval § Bmrdyuvoig thig Paode-
05 o ¢ic tOv ooV TOUTOY
Adoig

F
il = (21\1 - m) arsno)l So ='31%! .19 = 969

490, Bdpog 8 phoyedinwy dSepoipdletar xard rowodtoy Tp0mOV
&g §do péon, dore tatta Enprdueva B thv dupwy vipatog pnyaviig
Atwood vi 8idwowv elg 10 clomua plav Emcdyuvery 0,69 pérpwv.

Otoy elvat 10 Pdooc éxdotov &x tdv Slo pepdv’;

Adois ; "Eorwoav x nal v 1 fdon tdv ddo HEDDV,. Hul TO X

B“Qﬁtsgov tob y. To modatierov fdoog (x—y ) 8ifer «le 1o olomua
X+ y) dmdyuvow v

R e v P

(hote = £ ob
o L
2x __vtg v+g 0,69--9,81
o lhles s — 2 e[S e TR S R A O
s e ("7 Y) 19,68 - AL e

smopévors : x =4,28 wal y= 3,72 yiiSyounpa.
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£1 . “Ex tov dlo dxowv vinarog dueoyopévov S poviuov eb--
zadole tooyehas, roéuaviar pdom p wai p’ (p < p). "Agivoney vir
méoy to Pdoog p EE Evog fyovg b doxetod dud vo dvupmon to Pd-
oo p’. Znreltar to fpog h €ig o Groiov 0 Bdpog p I dvuydiep O
p’, wal molog G yeGvog Tilc avédou ;
Adorg : “Orov w p doxlon va xwil w0 p’, Eyel méoel Ehevdépmg
2 Tob Ppovg L mat Eyel groxriost  plav toydmta v, = \ 2gh.
“H xivnoig To overiuetog p° - P elvar Guakdg EmiPouduvouévy.
Altla  tiic dmPoadivoems  &lval 5 oot p'—p. “H &mvdyuvoig i}
GoynTind elvar
D=D
i iy
p'p
Td olornue orapatd ovayv f tugdme glvar undév ¢
e v —2yH =0 @& uvw—yt=0
Td tpog tig Gvadov :

1,_vo’_vo‘ s s 8 U
s ot ey
¥ FD DAL D

‘H 8dudoxewa tiig Gviodov :

P=Uels Dol \/QE
- Yoo DD Ye

4. 'Emi xexhpévov Emmédov  oynpariCovrog yoviav 30° petd
to¥ Gptloviiov, xatépyetan dvev Touiis witoe M, flue dvvpdver T
Bondely maylag tpoyuhicg raromogipae, £xéoav nilav M, €l hpoc
945,25 pérowv Bvidg 20 devtegolémtwv. Nd ebpedf 6 Mdyog tdy e
woév M, xal M.

Avoeg : Tvootdy 6u F = m.y Rov g = (21\H~m) Y

wol m=— — M

2
s Mot S g(M,—2M )

(M,+M)_ 2( M,+M )

Emopnév K
Enopnévog —_— =
W (Sl ¢ o
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1

; M A
Oftoviee - = x hapfdvouey :

(x—2) :

2(x+1)

2 ~ £ ’ 1 ’
Ex tijg 8Eedhoene ¢ = g t? hapfdvopey :

¢ _ 490,50 4,905

TG T e e @

‘Etwmvovteg tag (1) wal (2) #opev :

e x—5

5 (‘ 2_) 4,905
2 (x+1 ) :

4A3. Alvawg 150 yoapnaolov Eaonel 82l odparog Bdoove 600

Yooupapiov wyv évégyewdy g, Katdmv molov yodvou § xtndeion ta-
Wring da yivy 4,90 péroa ;

£E ov X — 3

Avog : "Eotw F =150 xai P = 600.

F=-P noil v=yt

v
>
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v 125 600X¢4,90
Fe Y P aal t= —— = ===t =2 dev g0GAenToL.
E \ Fg  160X9,81 el
A4 . Sona b phoyodupwv Aaupdver tayvira 100 péromv g
tola devtepdlenta D Thy Bvéoyelay duvdpewg oradeodc. IToia f &v-

Taoig Thg duvdueng Totng ;

Adous : F:—;’;.P Aol v=xyt
F;;_'it — 5')—%(;?3 X 5 =16,99 yhdyouppa.

425, Advapg 500 yodupwv Eveoyel 2mi oduotog edplonopévou Ev
foeule, Bdoovs Evos yihoyodpuon® Cnrelrot o) H Brmrdyvvolg tiig ao-
* 4 - ’ M b ’ - 4 I d
payopévns wvioeds. ) To Swvvdey Sudotnua €l TEVIE Sevrepdhe-
o wed y') “H taxding rord tov yodvov todtov.

Adoeg - Ol :E — Ig—‘ tvda F =500 xnoi P=1
F i L
= s =5 g= 490 n
3 LA 20, .
B. e ....2—~/t =— = 61,31 péroa

. v=yt=490 X 5= 24,53 péroun.

£6. Moo elval §i Stvawg 7 dgaopolonévy elg wvntov fdoog P,
> Sroiov Gvaymoolv &« tiig Noeuias datoéyel petd kvioEmg GRA®dS
petaforhondvne Sudomua e cigt Seviepdlenta ;

o 1 3 1
Adoug F—m.y—= .y % e=gyt
e 2
2e
) EEEA P

v P = 2 ylyo. e = 98,10 péroa xnol t = 4"

L 2 angln

F—= BTG X 2 = 2,5 phdyopapua.

.
TOTE
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— D3 —

£'7. Eazi onusiov Vhrot eivar Eguppoopévar ddo Svvdueic, 1§
ria 30 =ai 7 ftéon 40 pihoyodupwy, oxnrarifovea yoviav 22° Iloia

e

1 Evtaoig tiic ouviotapévis ;

Advewg . "Eav o § yovia tév 800 duvdpemy

TotE : 2 — \/B?—i--l” F2BI ouy u =

== \/St)’—HO'ﬁ—,ﬁ(2)(:—30><40) ouv. 22° = 68,74.

48, Eic ta dnoa eddeiag AB - Evepyotion Svo Suvdperg magdihn-
Aou xal Gpdogomor ) A, =3 zhyo. xal fi Ay “H cuviotauévn adtdv Bl
E - 3 5 s s = z
gvtaowy 8 yhyo. xat givar Egnouoopévy Eig drdoracy 15 Exarootopé-
0wy drd tod drpov A tiig eddelag AB. Iotov 10 ufjxog tiig AB ;

Adoig : ‘H dlvapig A, = 8 — 3 = 5 ylyo.

"Ectw, O 10 onuelov Epaopoyiic tiig cuvm%uuévng.
Tére 5@ Bi=3 > 155 8¥ey = OB =9
xal AB =15 4 9 = 24,

£9. Toeic duvdneg A, B, T, w0 ddoowona tidv Evidoewv tdv
Snotwv toofia node 100 phidyeaunpa eboloxovian #v loogoonie. Na
€00edf 1 Fvraoie fxdotng TV TOUdY ToUtwy duvdusmy, yvmotod dvrog
Bu i A oynpatiCer pete tiic B yoviav 120° xol § A peta vig [
Yoviay 150e.

Abgis: Aéyep 100 Su looppomody, éxdom eivon Tom xota thy Ev-
Wow kot gyvridterog wodg TV ovviotapévy Y dvo dAdmv. AT yovio
1200 yo1 150° xetvran éxatéowdev tiic A, xal i B xai I’ oxnuatiCouy
Yoviay 90°, “H cuyiotapéyn adtdv 2 = A xeiron & eddelug perd
Wic A, 90 oymuoazion perd tig B yoviay 60°. Td dodoydviov tol-
Yovov i mhevode tig B wal T nod dmoreivovoav == A #e plav

3 ~

Yoviay 30° xai dMqv 60°. ‘Emopéveg xai ) ahevod i dxévavie tdh

N.\] -

300 glvar oy medg T fuiov viig Brotewvotong, flror ['=
B T ; . 5 :
# tol adrod dpdoymviov Torydvou Exouey :

A GA? ]

e
B2 —= A:* ——4— g—‘l— wotl __T

<
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Kal ATHES S N

9A- A+ A\ 3 =200
3A AV 3 =200

A (3+\[§):900

A———— —4226
- 3-+V'3
g6
M= e 21,13

B= 21,13 \ 3 =36,60

rpp. Eig 1 onueiov O évog GOUOTOG, ELVAL Fpnouoouéval al du-
vapeg A, = 1 1hvo. . A, = 2 yhyo. , A=>51hvo. A= 4 yivo. , As
=5 yhyo. , A=06 ¥hvo. sxnuariCovoa vt dlo nedg aMhag yovias
60°. N& mooodiootodfi i suvigTanévy avTiv.

Avoig: Dovia A,0 A, = 180°, &ou A, %ol A, weivian 8n edidelag
sl ouvviotapévy 2, = A, — A, =4—1=3.
*Ratone 2i—10: — Ay=D5H —2=3 el B,=A, —A,=6—3= 3t
" Dégopev tig 2, B, nal 3, 3,. To rerodahevgov eivat pdupog, Biott
& tolyove elvar iooydvid, doo nai loéadevoa. Emouévog i ovviota:

iy

pévn oY =, nol Zg ) 3, vovrilevon perd tiic 2o Smhadi elvar Ton 05
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N

3 yhyo. Svvdétouey tig =, nal =, altves Exovv cvvictapévny O Z;

)

A

&

R4V
L ]
fron 2, =3 - 3=06 rhvo.
38 . "Exl eddelag AB piixovg 88 duneidav Evegyoliol Toels dv-
vipew A, , A, , A, mapdhinlot wal dpdpoonol. “Ex toltov §i pév A=
10 pudyo. xai A, = 30 phdyo, ele td dnoo thg eddelac, | 68 A=
4 yiudyp. ele 1o péoov. Na npocdtopLat §j ddvapg i duvapévn va
loogponfoy the toElg Taltog Suvdueig.
Adorg: “H Tyrovpévy  Svoric B elvar Ton #al dvridetog meog
™y ovvistanévny v duvdusoy tedtov. :
Suviotapévy w@v A, zal =2, = 304 Frot a4
Td onueiov épaouoyiic A 0 ehplonopey (g EENG: d 4
"Hotw KA=zx tére AB =44 —x. DI'voellouev oOuwg om:
dx = 30 (44 —x)

. 145
aol 4 x — 1320 — 80 x xod 34 x = 1320 dpu x =38 I Sdntvlot.
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Alop s

e — 52 E— domr.

i AN = Lo
nal AA = 44 | 38 i 7

i A4
Hroutd A dadyer tob A nara 82 7 Saxt.
T ; 5 e ; i e
Tdhoa ocvvictapévn tiig =, =oi A, Eotw | A'Z,

14

Gv AN =1y tére AN =82 = U
S ; 14
gmopévog 34 (82 il — )= 10y
ol 2188 28— 34y =10y # 2816=44dy
wal = 64.

Suvende o onpelov tig Epapuoyiic tiic tntoupévng “duvipewng &i-
vau 1o A’ améyov 64 Soxtilovs dmd tol A, fi 8¢ Eviacig abrilg elvon 44
wihdypape. : ; ’ s

392, Avo duvdpeig P oot Q #gouv Aéyov moog dhhijhag Ov Aéyov
#youv ol dortpol V" 3 wal 2. °H cuviotapévy obtdv R ¥e Eviaow
1 yvoyodupou. Iolay yoviav oynpariCovoy al dvo duvapeg P rat Q;

Agore: To tplyovov MRQ  elvan dodoydvioy elg R dudu QF =
R*4P*

Eropévorg fiu f= [.2.‘1 nal  f=60°.

-

e 2

Suvende § yovio tov cuviotwedy elval o~ f = 150"

B3, N& dvadvdf A ddvopus R = 20 yihidyoapna, g dlo ouvi-
otdhoag P xal Q, oympatilovoug uetd tiig R yoviag o= 15" xoi
B = 45°.
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SN s

Aveeg : Al oyéoeic Tav furdvoy slva;

B0 Sleriy iR, i
P amwa mu(a-p)
; 3 Riudp® V2 ;
E e Pee e N — 33 A &
nopévwg I e 607 \f 5 > 20 = 16,33 phdyou
e A R T
Q S iy X20=5,08 hdyQap.

B4. Naavakvdf §i ddvapg R = 10 ypdidye. el Sto suviatdoug
P xai Q oymuonitotong perafd vov yoviay o= 60°, o) “Otay P=Q.
) “Orav P+ Q=12 yhéyoon. xai ¥) “Otav P — Q=7 yihié-
Yoopupa.
Aieig: "Eviatda yonowponoodpey tov wimov: _
; 1
R'=P"4- 04+ PQ = 100 &ié6u ocuv 60° = o
a@.) “Ovav P=Q 161z R*=3P*
e IR T e
EE ol P=—sz = 22V @ —5H 77 yikidyo.
V3 3 ¥
B') To d@dootoua P Q elvan dedoudvov:
Mote P24 QPO =100
wai P4+Q=12
£E ov PQ =44
P xai Q elvar ai pilo tiic #Eodoemg :
x?—12x 44 =0 8nov x=62\36— 44
AT pilau elvar @avraotixai. To ddpotopn P+ O dgelder va eivan
Hwpdregov tol 12 phoye. rwg dd Enyfowpey g 1 xarotéom
TeoBAN e
¥) TvoolCouey Gu:
P4 Q* 4 PQ =100
P—0=1
8k o PQ=17 xal P}Q =\ 117 =10,82 ETOEVC
P =891 yihdye. nai Q = 1,91 yikidye.
B, Abo dvvdueis oynuarilovor yoviav o= 185°, Znreivar §

WYnoiono|Bnke amé 1o ivotirouto EkmaiSeuTikig MoAmkrg



FCHE Qe

I3 c c ’ I3 A € ; \ -~ ’ ’ )
oyéog i Gmola mEEmEL va VTUQXT petofy toOv duvdpewv TOUTOY, LV
T CUVLOTOPEVT elval Tom mog Ty pLrpoTEQUY.

Avoig : "Eoto Q i wgotéea v guviotoody. Tvopilopey d:

guy 13D =— \in

“Raedh § cuviorapévn elvat {on moog Thv Q, ELOMEY !

% Y

7 ~
s
N

. N
i v

5 - 3¢ p e
Q=P+ —PQV2 &b 5=V 2.
5. Na etosdf youpuds 1 suviatapévy Vo duvdpewy aUpuh
Moy nal Gveipedmov.
"REorwouy af dvo dvvdueg A, xal A, ,nol A, > A, "Ex

Adaoig :
Yoov medg 0 A, A. "Exi tiig AA, hap-

100 B géow 0 weiipa BAS

Bdva AA’, = BA.. ‘Evavo v A, wat A, , wal mooextelve v A A
d onueiov I'. Méta tuhpara TA' wal A Ay

Afity téuver Ty AB elg 1
H 'S eiven § ovviotapévy OV A

waraoxevdto mapadinhdyouppmoy. ©
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e T

wai'A, . A 8x tiig otooxeviig xal 1dv Opoiwv towydvoy ATA,
AvSELE T
e AT

B, N davaludf pla Stvapg R elg §o dhhag oynuonilovoag
Yoviay o, ofitwg dore td ddpolona v S0 cuvicTwaodv va elval
Uéyiotov.

xal BI'A, ovvdyetar = = A, — A, x=al

Aboeg: "Eotwoav P xal Q al 8%o cuvictdoar, [ xoiy al yo-
2 \ ~ "
Vi toy pera tig R . Tére p-+ v =«
Eic 10 toiyovoy tov Suvduewy, i oxéolg tdv futévov elva
R P Q P+0O

e Sale meB o B B
2 2

o —
= auv B

2 2

g£ob P-4 Q=2R nuanu

1Y &doowoua P+ Q O slvan péyiotov Sl ovv B;Y =11 f=vy
; . o e R
sy Grav P = Q téte R = 2P ouv 1 gtovd PH-Q=

ooV

3. Na eboedii 1) fviaoig viig suvietapévng dvo duvdpewy P=5
by, wot QO = 4 yphbyo. tepvopdvov. a’) “Otav aympatiloot
%0ty yowviay, xai B7.) “Otav axnuatiCoct yoviav 45° , 60° , xod 10°

Aboe; : o) R =\ PQ* = V25416 = V41 = 6,40 xhyo.
B) R =VP0 2P0 owv (PQ). -

ouev 1 ouv 45° = \% xl R =\ 41420V 2 = 8,32 y\vo.

ouv. 60":_];— xat R=Y 414-20 = 7,81 yhvo.

cuv. 10°= 0,99 xai R =V 417389,4 = 8,97 yhibyo

B9, Na eboedf 10 névioov fdpove tdv EEfig megiuérowy :
%.) ‘Evde novovixod fuetaydvov. ) ‘Evdg wavoviol fiuoxta-
Y®vov, y') Tod tpumstiov 1ol xutacxevalouévov did tiic Evdoewg TdY

RESo)y iy Srio mhevamv ioomhevipoy ToLYHYOV.
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B0

5 e - _
Adgic : 0.) "Ectw OM 4 évolon & péoa t@v do Pdoemy. Al mhev
: ¢ ’ " Y ’ - /
oal ABxai T'A Eovor Ty GuvioTOUEVIV TOV ElS TO péoov EZriig OM.
, s x ~ ] N
‘H mhevoa BT #ge 10 névigov Bripovg g Elg TO oMpEioV M. "Edv

wm

© b cnerdonorwnd 2

Adfopev Gg povdde Suvapeng to fdeog midg shevodg tob é‘;—,uymvm:*,
eic 10 M 9d elvan 2pnopoouévov Bdeog 1, elg 10 E &v Bdoog 2, wal €5
o onueiov Z, dnhadn elg 0 Cnrotpevov wévrgov [doovs, £V Bdoog 3.

*Av noréoouey thy OZ Sit x zoi OM St b Egopey :

I§
m=1xh+2x§=2h

g€ oU ’x=§ h

B') At alevoai AB xal AE #ovou tijv cuvictapévny tov Elg M.

4 el €

Af mhevoal BI' xai TA eic N. Aapfidvovres tdg gonde (g mpog 10
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el
onueiov O Bopev: 4 X 0Z =2 X OM -2 X ON

howoy OM = OZH RV.Z
(O — () FI =t FH — B_\fi 4+ EZ_A@ P E_(z_IJ
g€ o 4><O/J—R\f‘) R(‘)2—|-\[.3) Rl -F=\2)

JL

wal O —

v.) To toanéCiov AAEL elval xavovindv fuietdyovov. “Av nogo-

oty 2 :
Moouey thy MN 8w h, xol AdBwpey tde fonde o5 mods 10 one

Heloy M 2youev :

5 X MZ =2 X MP 41 ><1\1N=2><]2-‘.|-h

&€ on M/——-Q;
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GO. No eveedf Evrog tod saponhoyodunov ABILA onuetov
M, 10 6molov va elval 10 #évipov ﬁagovg 1o meviaywvou MAT'AB,
100 Aaufovopévou & agaipéoews Tob torydvov MAB.

Adoic : "Eotwcav Z zal Z° td wévrpa Pdoovg tol mapuhhnho-
yodppov ABI'A »oi to¥ ‘l:Ql‘Y(DVOU AMB, tdv 6molov ta Epfadd
eivar 2 noi 2. T Cmouuevnv onueiov M ebploxeral i nal T Hdo
M wévroo Exl Thg drapoov Ed. E)Etoptv E®P=o0a xaei EM=x.

A 13 [
Aapfdvouey tig pomdg TV Emupuverdy (g modg o onueiov E.
a SR oy
EX5=2 = -+ (E—2'x) (1)
2 3
a < ’ ’ LYRCE. W - 4 -1 A
018 < ey o Su6tL f AB elvan pio xowv) Pdotg nol o v glval Gy
5
Aoye tdv Sapécmv.
Eiven qovepov ot & tiig (1) Exomev:

a 2 }
%:%Jr(u—;—‘ + 0 2xitpoax-3ax=0  (2)

£ oy x= 3oEV9 @ —6a _ a(3EV3)
2 2
‘H Yerund) ) dropoimretal dgol x <a, péver Aoy
2

G 1. IMotov slvar t xévipov Pdoovg Tiig Brugovelag ThY mEVTE
£0pmv £vog dpdoywviov ropudnhemiédov, To Grolov Eyel Gupog o, P
ol v, ;
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Ao : “H 6hinh) Emgdvewa tdov 8 E8pav 2 = 2 (af |- ay |- By)
elvou Bv Pdooc Epmopoopévov el 10 wévigov O 1ol otepeod.

Yrobécwpey St 1) dpapsdeioa £6pa elvar ¥ £doa i dvotéon tol
éuﬁqéoﬁ Z=up.

“Aoxel va ovvidécopey pioy Sdvapy 2 eig O petd widig g o
Qukiihov —Z2” £ic g’

To xévipov Pdoove tdv mévie £8odv elvae v onpelov Z  Exl Tiig
; 07 b F
Tpoextdoemg g° O toodtov Gote : = ==, £ ov
(07 2—3

0z =Y X = Ay *Axolovdoliviee v dgupedeiony Edguv
2 7 aBF2(arBy) :

i S
B Fraitey: D e TS SRR L)
- By
wal 02" =5 X grotagray)

Gnoordoelg AauPavopévag Exl tiic mooextdosme tig eddelag ijvig Evan
VEL 10 wévipov Bdoove perd tiig dpaovpévng doag dnd tol xévioou
T0b ragallnleminédov.

Megusy mepimrwars. Eig tov xifov, af dnpal elvar oo, tdre

0Z =07 = 0% :.1_0

6. Tola oyowia AO, BO, T'O 2poou6lovran gic 10 adtd ov-
ueloy O. Awgpydpeve 88 1@ oyowia dud tooyohdy telvovrar dia fupdv
Enotquévor B tdv droov TV toidy vapdtov. Td exovia AO xal
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— 64 —

BO oynuazitovor ywviay 120°. Ta oxowvia 'O %ot BO yoviay 90°.
Tot onusiov O glpioxopévor v loopgomie xal Tob Bdgove Tob Eno-
uévou & toi oyowviov AQ dvrog 200 youppraoiov vé wpocdlopt-

o9®ol T fdon ta Enomuéva éx v ayowviwv BO xai I'O.
Avoig : "Eorwoav P, Q nal R 1d pden. P = 200 yoap.

=

’ * =i A 3 ’ C
*Ago® té Bdon elvar #v loopoonly, w0 P slvan {oov xal dviidetov

&

129

mpde thy cuvictauévny P, tGv Q wl R, dpa P = P,. Tére Egopev

}3 = 100 ypou.

QO =P, X ow 60" = 5

aai R =P, X ouv 30" = ﬂg-é- = 173,2 yoap.

G3. Al &vidoeig toldy duvdpewnv sholoxopmévov v loopponiy
v\ 2,V 3 ol V5 — V6. Hoia elvon of yovia, tdg 6moiag
af Suvdueg avtar oynuariCovat pevell TOV;

Ao : "Eowwoav T, Q xai R ol vpels Suvdpeg &v loopgomi¢
‘H P elvou Yom nei Gvridetog woos wiv P, auviotapéyny tdv Q xai R.

Eig 10 voiywvov OP,Q ai toelg mhevpal elval yvootal.

T o
‘H fiureoinergos === g (\[2 + V34 V5 —\6 ):2.31 16
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Sibeni

Mapatnpoipey Otu (\/-2?— V3 )2 =5—2\6

SUVERDE EQ —T?—P- V,—Ia 8t oh OQP, = 60°
.\ =
Ex{ong E'D \[(Jt \i)(;i_\/ ;/-)9 \[6

&t ov. QOB — 692,557
y OP, a—\3 n—\'bH —\/§
nai  EQ 29 (TE\(‘;_?VSI.):)V’ \[)
gEov. OP.Q =5H0Y bl
Svumzoaivovieg Fgouev yoviag duvduemy
POQ ='110°5" , POR = 129°55" |, OOR 120e.

6.4. Tlévie duvdusg Epnonoopéval Ent tod adteld onueiov, xal
£0giondpueval &nl 100 adtol Emmédov, Erovay Bvidosig Avaldyovs mpdg
3a, 4, 5, 7, vat 2. “H nodin #x 1oy duvduewy oxnuatiCer ped” End-
Stne #x thv Gy Swadopnde yoviag 45°, 185°, 225° xai 315°. Na
Doy Gru af Suvdners adran ebploxovean dv ivopgomia xal T olotmua
.
150ggomel.

Adoic : "Eotwoav o névre dvvdpeie F, , F,, Fy, F, xal F; zal
M onueiov tiig Epuouoyiig adtdv.

[Moofdiopey adrdc xard thv devduvory ME, nal éxi Sievdivoewg
*odéroy,

AT npoBoral X wai W tiig ovvistauévng elvan :

X< F, -- F, ouv 45° 4+ F, ovv 135° - F, guv. 225° - F, ouv. 315°
W = F, fu 45" + F, fu 135° + F, fju 225° +1~ fm 315°

Bore guy. 45° = fiu 45° = fjn 135° = ovv 315°=

%l gyy 1850 — gyy 225" =i 225°=iu 315° =— \’r—;

J’;ou‘(_gvr? ;4.\{?__9\f“m7\’r§+2_\f‘.j=o
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” B vz V2 V2
J — 4 — — — = —_—
nol W 42+52 72 22 0

fmopévog X =0 %ol ()

10 glornpa Ty duvdpemy etvan ouvende v loopponia.

&35, Iota moémer va elvar of Evidoeg thy dvvdpswy TOV
Zgmopoopévoy g T0 onuetov Tilg auvavtiioews © o) Ty Dpdv  Evig
towydvou. B'.) v daptowv. v.) v dixorduwy, iva 0 olompa
iy tordv duvdpewy edolonetar &v ioopoomiq ;

Ao : “Eorwoav toeis duvdpels P, Q, R Egnopoopévar eic 10

% Gt 2 . - ¥ ;
onueiov M &vrog 1ol Torymvou ABT icogpomotoat xatd thy dieddvy-
oW v xopupdy  Tob Toydvou. Al dvvdpeg oymuariCovowy dve de
dg yovieg o, B, v

Af Suvduelg looppomotoy &hijlag, cuvemig 0 dfpowopa TdV TEO-

Bokdv &mi tdv dlo un aopcdihov dEdvov elvar undév. *Enhéyopev
Toig dovag duolfatmg xadérng node MA xai MB,
"Eyopev: Qmuy =R nup
nol Pnquy=Rnuua
i 12 ) R
£E ov — = IHEEaE
mua quf npy
o)) “Eoto M 10 onuelov ouvaviicewg tdv v, Al yovias
@, B, v, elvar cupadnowpatial tHY yoidv A B

A~ quB ol ST S LT
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S emi

dpol 6 Mdyog éxdorng mhevods £vdg Toydvov modg Tt fuitovov
g dnévavn yoviag sivar atadepde.

Af dvidoeig v Suvdpewy xatd thy disdduvery 1dy hpdv mpéne
v glvar dvdloyor mode Tég whevods.

£.) “Otav 1o onueiov M elvar 1t onpeiov tiic cuvavtioemg tdv
oy Swopéowy, ¢ tolyove MI'B, MAT, MBA sivor uow :
MB. MI' qu @ = MI". MA nu B = MA. MB nu v

of Muo  muB  muy
MA — MB — MT

kg TR e

MA~ MB = ML

£Tv

&
o
MoTE

ai gvrdoeg tdv duvdpemy modne va elvar Gvdloyol medg Tde Sa-
Z ~
WEgovg 10D tpiydivov.
¥'.) Eig oy meolrrmowy xad® v 1o onuelov M elvae | ovvdvinoig
Ty toidy dugotdpwy, Eyopsy:

iy B+-I' AT A4B
(]—-7{*—2-——, 6=3t— ‘2 ,YZTE_‘*“‘Q‘_
% of B o B
S B
oV ? ouv _i)—“ ovy o

B6. ‘Enl peraddivng 6dpdov AA, fing petd tig doloviloe ed-
eiag AX oynpatiCet yovioy 30° elver Egnopocuévar téocapes duvd-
Ueg toopponoticon dhhitag. ‘TI momm Svvowg F, elvon xataxdovgog
*ai Bveoyel B TV xdTm  mEOg T4 v, 1) deviépa B, elvan Tom modg

Whibyoappov xal 2vepyel wataxopbpme &x 1y, dvm moog TA XATW,
'ff do @har F, xai F, elven nddetol mode vy 6dfdov xal Evepyodol
Wudérog, ‘H dndotaoe AB= 0,40 péro. §§ BI' = 0,30 p . xai f
FAE 0,25 p. Znreiran va droloyiotlotv af toeic dyvooror duvdpeig

iy Fs KC(‘I. F,l.

db6ig: TTpofdhlonsy toc duvdpec #mi ol dtovog AX  noi mi
“ovog wadirov pé doymv to onuelov A.
Ex xataoxeviis Egopsv
Fs e FJ

wai F, =— F, = —1 yhidyo.
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S e
‘H guviotauévny Homn Bv oyfoel modg IO GMUELOY A elvar undév,
& od 1% 20Y3 =F, (95 — 70)

MOTE E, =— 3 ol = 3

&% . Ex dbo onuetov A xai B eugmmmvmv gl tiic adriig Got-
tovtiov eddelog EEnprdvim 8o vijpata, T Ev droov Tob £vog VIAULUTOS
péoer xoixov Ty S1a péoov tod Smolov Subpyetan T Bregov vijpa &g
o Gngov Tob Gmotov xoEruTaL Bdoog K. Na noocdoplodf] 1| Yéoig g
ioopgomniac.

Adoeg : “Orav 0 ovotpa 100Q0OTEL, Eropev

AB=2\ xai A'=1
"Borw T § tdog 100 vipatog AL, 1 tdoic tob vijparog BI elvar K.

‘H ouvictapéyn t®v tdosmy  THv {owy medg o tuipata I'B Hotl
T'K Swevdiverat xotd thy diordpov i yoviag BI'K =2 6.

“Eyouev : 6—_—'-%'-'0.$(1+|3 (1)

&

2 ov =—-2—- —2a (2)

Td voiywvov ABT pisg d{det TG oy£GELS ¢

__?_L_ e T e
23" mu(a-Fp 2
#at arohoviav : fin (0B =2 Mu P
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"Ex 1tfig (1) ot (2) Aapfdvouey :
ooy a= 2 ouvv 20 = 2 (2 ouvvta —1)

A
Ta
b
T
{8
E ot % towoig : 4 ovv a —ovwva— 2 = 0

1£\33
Adovieg Bygopev 1 ouv o = et

il o = 32° 32" 17

‘H tdog tod vijparog AL Tt‘)ﬂﬂ@momx v mpofokdv 1OV du-

vipeoy 2ml A elvar pndév :
T—92Kowd=T—2Knpa=20

ol §j vdoe T = 2K mp 32° 32" 17 =1,0756K.

68 . Tolywvov duoyevés fdpovs P glvan eEnormuévoy dud vipatog
& wdc vy xopugdv tov. Tob torydvov elvar yvooral af mhevpal
%ol af yovia. ITolov fdgog moémel va 2Ecptiompey &, i tdv dlo
®0oup@y {va 1) Pdotg elvar 6piCoveia ;

Adgig : "Eoto 10 rgwmvov ABI sEngmusvov e Tilg xogU(pn,A
0 Tolyovov dtv Eer dAAnv xivmowy xt0g tiic meQIoTROQTlg TEQL 10 o1~
Ueloy A Ady Srdoyet howdy magd pia Héorg iooppoming.

Poxf éc moog 10 A.
P oK a0 (1)

"Av 8 i muonvbing, tote Exouev :
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‘H gtlowoig (1) yiverar :

K:%XaX2XAXE$B

MoTE a = ['X 4- BX
®al 2XA =TI'X — BX

B ob rx)‘(?.X‘L\:I_"_).(E-—EXE:ﬁ"’—Y’

“Qore K :g- (B"— y’) ep B

GD. “Ex tov 8o dxowv A xoi B yoviddovg poghot AOB, w-
voupévou meol T anueiov O wofuavian Bden P xal K. Tol poghod
ebotonouévor 2v loopponiy v droloyisdoly al yovia a, #oi {3, 105
Smotag synuasiCovot of Poayloves ol poyhot wetd tiig xatuxoedgov tiis
Gyopévne 8x tod onueiov O. To Bdoog tod poyhot dév Aaupdverar b’ diy.

Adoig : "Eotw 9 = a + B 7 ywvia 10U poghod.

AT fomal dc moos o O elvan » 4

P3¢ OA’—K X OB =0
i Py.qua=Kdnuf
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=t L

i KD * ; : R
3 ob 'rtma = — 1 oyfoig adn Slvara vi yoaodi olite :
MR SRy 1

qua—nuf Kd—Py
nua - nu Kb -+ Py

-
e

«-—‘
&

=z
&

o ( ) € 1 - K&
PR C Q) S 2 ; T
( ) ey 3 Dérovieg €@, @ = -——PY
el @

; N}
ote:  EQ -;— (u — B) =t X e (cp—45°)

‘H #Eowoic aim ovvdvalopéyn petd tiig § = a - didew g
Yoviag a xol B.

e | ]

- TO. Sdua Fov fdoog romodereltal Ent nepupepelag Aelag , g
Onol.r:., 10 Entnedov elvar woTaxrdgupov. Ivcunrou dvrog, St 1y toIfn

®axd thy avagdonow sivar 0,20 = {, mole elvan 1 f yaunhotéga Yéoug,

Wy Srofav Sivatar va xotahdfp 1o odua ywelg va wapaoved ;
Adboig : 1 Cyrovuévn Hog M da wadoowodq) S tiic yoviag a,
s dxrivoc MO xal tijg xataxopiov.
Td Bdooc P avahberar elg dbo duvdperg. “H uie N wond vy Sied-
Bwvowy i axrivog, xal f din Epamropévy T. “H moity Bider piav
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alrone

Stvapy topiie F = NI g depeiher va givan Tom moog ty T xaté
Y dvaydenow.

Eyopev : Ni=T
# Powwa Xf=P fina

&t o0 f=cpa=cq @
wor” drohovdiovy @ =u

c

“H yopnhotéea howmdv Héowe elvar Exelvn wod fiv 7 axtic oympoti-
tew petd tig xataxopVpov yoviav Tony 7pog v yoviay toffic nawd
Ty GvoydpenoLy. :

B’. EPTON KAI ENEPTEIA.

= 1 . Iloiov elval 10 oyov, 10 Grolov Exteleitow vatd Ty mTdo
fidatog #x Toudv pétowy, xol to Gmolov nogéyer 2000 xuPwma péte®

= i
VooTog TNV Wpav ;
Adowg : “H moodrng éx tilc wrdoemg xatd deviepdlentov elvar -

2000000

paxr
0. v a
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e et =23 9D ool

2. Na tmoloyicdf elc yphoyouppdustoa, fi kvnt EvéoyeLa
PAMpatog 350 yhioyodppov, aprenévou perd taydmrog 800 pérgwv.

Avoug : % X 350000 (30000)* Eoywe 7 82 X 35 X 10° "Tovhi-

32X 35 X 10

FUA 5 :
A1 LMOYOURUOUETOG

ovg, dnhadi

o=, Na dmohoyiodf i rovmrogy  Evéoyewe tiig pdlng wol évog yi-
hooto® tot yrhootoyodupov 1 Gmolov xveltal ue Ty tayvtnTa 1ol
Pordc. _

. 1 el & Sl 107

Avoig: 5 X 10 { 3 X 10w ) Eoyw 1 5 X9 X 5ET hLoyoaL-
éuerpa.

‘v 4. Totov Eoyov moémer v damaviioy Tig did va peraddoy wiav
Aoyund)y ragvmmra 800 pévowy watd Sevrepdhentov elc &v fAjna 300
thoyodupwy ;]

Adaug % 300000 (80000): goyix i 96 X 10° Tovhar povades.

5. Na dnohoyiodii ) svnuun Evéoyewn wholov Extomiouarog 10
MhddSwy  tévvoy xai Swevdoviog 20 pthia T dpav. [1 pikov = 1852
llét@q)' :

20 X 185200

Adgig:  Tayime mhoiov : -—3_[)'07(')_:1029 EXATOGTOUETO .

Mdte mhofov : 10°° ypapudoua.
1 »
Kivnrwd) dvéoyeia 5 3 100 3¢ (1029) Eoyra.

Y 6. Sdua Pdgovs b phoyodupmy mintel elg émoy Grov g=980.

4 \ ~ a
Hoiq B elvar 1§ wovnToa] Tov Evéoyelo perd  TTOOLY 4 Bdevtepolé-
:'ETOJV A

Adois - Svugdvog pi tOv vopov TV TuTiTeV ®atd Ty wrh-
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feylri s
= ; : 2oty . / .
s Ty copdtoy, § TayvTne Tol cWNUTog WE napéhevory 4 devtepolé-
2rov 90 etvar v =980 X 4.

L mel— = X5OUD (980 x 4)* oy == 3,8 X 10*° Eoyia

S

i'] 3800 ‘Tovhiat povddes.
2. Sedion mhefdlov 10 yhoyedppwy, dintero pevd raglom-
105 600 pérowy waud devtegdientov. Mofa elvar i xovmun tng évéo-
YELT |

1
Adoug : 5 10000 (60000)* = 18X10* Eoyiax

i 1800000 ‘Todiar povddeg.

<

=g, Ng tmoroyiedii 1 logdg nudoemg Udatog noedrnrog 240
rofwdyv uétoov ratd hemrdv, xul togdtnrog D pérowy xatd devtepd-
hetov.

Adgee . “H moosding nard devrepbhentoy elva :

240
56%- — 4 P péron Bdarog A 4 X 10° youpudowa.
‘Bt dilov v =500 &xarostéucton.

dote %m u"‘:é— X 4 X 10° (500)* = 50 X 10*° Egywae.

“H Toygve 9a elvar 50000 Prir.

v9. Ei tdnov xou 10 g = 980, palu 24 wihoyodpimy tpddn
glg typos 8 pérpoy. Iofa elva 1 Svvapued gvéoyela tig ndlng

Adgig ;24000 X 980 X 800 = 1881,6 X 10" Zoywo.

&G, ‘Arpouniovy fdgovg 10 tévvov netopéger 900 BmPdres
iéoov Bdoove 65 xothdv. Kivelaw perd raybmrog 18 yidwpérowy T
Hoay. TMofa elvar i wvnro mg gvéayewa ;

Ao :  m = 10000000 + 65000 X 900 = 68500000 yoauo-

1800000
3600

y = — 500 ExutooTAUETQN

;21— my? = § 685 X 10° (500)* = 1 685X 25X 107 *Tovhar wovddes
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S H . Sgaion Gxhov Eyer nalov Tonv mpodg 12,8 yoapudoia. *Etée-
Aetur 1ol Gmhov perd tuyumnrog 120 pérgwv xatd deviepdlenoov, Zn-
telray a'.) vir eboedf) eic “Tovhiove povddag xal el yihioyoopudpetoa i

: S S S T ]
rnri g Evéoyewr xatd Ty otypuny Tijg éE6dov. f) [Av vmodéow-
Mev G Bvide Tijg xdvvng tod dxhov wijrovg 80 Exurostopétonv 1) opaipa
Groxtd xivnowy  Gpokdg mrayuvopéviy, Inteitar 6 ypdvog TOV Gmolov
V0 yoriaodi iva datoésy v vy,

Avoeg : o) ‘H xovnuxny Evéoyela tiig opaipog elvae :

> mv =_13 X 12, 8 X (72000)* = 33177600000 Zoyia

2
1 3317, 76 “lovkion povddec
33177
i ALl T = 338,2 yhoyooupnduston
9,81
, ; g il 1
5.} Ivwolfouev, Gt 5 tl—= 5V t.t—= y.t
e 1 2
g€ ol gV t =80 é&xaroor.
€ &
nal & — b S B9x#s ol devtepGhenta.

v 72000 ~ 450

82, Bifjuo 20 yihoyodupwy dimtetar perdoypiis taydmrog 300
Wévaoy ward Sevtepblentoy, natd Sedovay oynpatibovaay yoviay 60°
HErd ol Goibovtion Emmédouv. Na dmohoyiod{i elg yihoyouupndperon
*al g *Toviiovs povddag, fi dodoa ddvaus to¥ flijnatog peva b dev-
Ye0dlenta dmd tig Gopéoeds Tov.

Adeig - To revpdymvoy tilg tagboeog werd b Sevregbhenta elva :
V= 2, Log?t? — Qu,gt nu a= 92405,9 — 25486,4 = 66919,5.

et 203X 66919,6 g ;

H dodoa Stvapug nv? = -XTS—I——— = 136431 yphoyoupudue-
e § e = 20 X 66919,5 = 1338390 *lovAiovg povddag, didrt
1 thoyoappduetooy looduvapel moag 9,81 “Tovhiove.

Zhornua C. G. S. ‘H pale tof Phiparog m = 20000 ypouud-
Ql?‘ 0 ﬁdgo; 10V ]J:ﬂ]g:90000 X 931-=1962000 duven. “H SQG}GG

Yvapig
mu ? = (20000 X 669195000) Eoywa = 1338390 “Tovkiovc.

WYnoiomnoir|Brke amoé 1o ivotirouto EkmaiSeuTikrg MoAmkrg



— 76 —

&3, “Ev xovntov pdoovg 10 ghoyodupoy, plmteran & TdV ®dTO
7o Tht dven pE todnra 50 wérov xatd devrspdlemTov. a')Na vmo-

hoyiodf A vnuad) Evéoyela fi yovoudyn xazdmy  Gvédou 3 devtepohé-
mrov. B) Na drodeydf Su i Suvapd) Evépyew Toll  GOUATOS i
dpethopévn elg Ty Pagdmra, BRI #atd o adtd woodv.

Avoic: "Eowo P 10 Pdoog 100 wynrod, v 1) Toyxding Tov xal h
10 $og tov perd dvodov t devregorentwy.
*Eyouey : v—=1, — gt = 50 — 9,81 X 3 = 20,57 pérea
i e .
xal h =, t— = ot? = 150 — 44,145 = 105,86 uévoo.

‘H perafoly the xevntixii gvepyelag elvac:

1
T=—1-m 0

CR e i %——-2_ 2 =9 e
5 (v —v%) AL % (20,67 —H0?) 1068,55

p7) To odpa rotodetovpevov eig tpog h dvwdey tob doyot Tov
fpovsg, #éxTyral niay Suvanny Svéoysiay cuprinewtindg lony node Ph.

vyt — vt 1 Tkl
Svvendg Ph = mg X-“-'?—(]f = m(v,*—v?)=--1058,55 ph
su6tt v= Yuv,'—2gh
*Erahidevors : Ph = 10 X 105,86 = 1058,60 phioyoaprGpeTos:
& 2 . “Tmoc Elevyuévos i udyyovov ESucnel E\Elv otadepav 3
yhoyodppov. 0 otifiog gle tov Gmolov ®KvELTOL § immog  Eyer-Gurive
3 uérpwv, xal orpépetar & innog gic tola hewra Ewtehdv 10 oTo0QUS:
Na& dmohoyiodf to Fovov &g phoyoapudpeton  xad’ Moav, nal
ioyve elg drpolmmoue.
Avoue : Blg plav oroogiiv, 6 immog gutehel Ev Foyov:
TR — 35 ¢ 21 X 3= 85 18,85 = 659,75 yhyu.

S o ; 60 DeeArte
Elc plav doav 6 trm0g RAUVEL: 10X = = 200 otpodg ®al &%

tehel Epyov :
TF — 659,75 X 200 = 131,950 yhovep. my Goav.

H iogde elvar 1o Foyov natd devteodhentov.
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el

131,950 A ; .
Anhady : 7630—;@ = 36,66 yuloypappduetoo
A0 ORES N Be s
75

5. *Avio fveoyel dut duvdpsog 20 pilwyoduppmy &l Tig  yEe-
00huBfic Pagotirov dxtivog 0,30 w. Emrvygdvov TEQLOTOOPNYV  Tilg
Ieohafiic dvide toudv Sevrepodémtwv. Na etgedf 10 Eovov glg yihio=
Youppdueton xatt deviepdhemTov.

Adog : TF = F X 2aR.
Eoyoy €ic piav otoogiy elvat 20 X 2x X 0,30 = 37,7 {UMOYRCUOH.
S

3

i

Td Foyov xatd devrepdlemrov elval: 12,567 yhyndu.

S|8G. Sopa fdoove 10 pihoyodunmy, dpleta Bevdegor va néay
EEﬁwovg 20 pérpwv and o ddgove. Znrelvan Elg 7IMOYOOUPOUETO O
Xl ele Foyia, 1 dodoa Stvapig Ty dmotav xéxtyran 10 cdua @ddvoy
tlg ) Edagog, ol 10 Fpyov Smep magdyeral &g funddiov aviiotdye-
YoV mhfpwe ele v xlivnay 100 oduatog xatd Ty grypdv todTny,

Adeig . T sdpo dvaygooel dvey dogdg toydmrog 1, —0"
L ~ - e ’ 2 Ao + 58 4
H Sodoa ddvams, Grav @ddve glg T0 Edagog elval !

T —2 % 10 ¥ 20 = 400 yphoyouppdperoa.
g

H 1 afey, Bngpocloudvn e ona, elval :
400 X 9,81 x 107 Eoywa = = 3924 X107 oy,

T goyov o magayduevov évoviiov 1ol woldnutog sivan :
A 1 B Lo LRGN ety Al e
T— — mv, dgob 1 o@pa petaninte gig Noentav.

Shady  T=200 yhwyouuudpergu=1962 X 107 Zoyia.

. BT, Yioavhuds toords Séyerar 1800 nvfd uéron Gdarog thv
Doav. Ty fidwp ainrel & Hyoug 6 péroov ué teyimea 4 uérowv xotd

§E“‘EQE'!RE:n:mv. Zmreital To Yeswonrikdy Foyov tol Vdurog elg drumo-
oy,
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Adoig :
lov Elcodoc &vtog tol tooyol.
A e 4 ’ - 1800
O 8yzog o Bdarog nord devepdhemtoy eival 3600 —0,500 »ufi.p.

x e[ el 500 S i
H dpdoa loygis: 5 MY, —?Xﬁ,s_x W42=407,75 yhwoyou.

20v "Epyov #vtog toll tooyol.
To H6wo Bvepyel did tod Bdoovg tou @md Tyog h = 6 uérou, T
dvniotouotv Foyov sivar T = Ph= 500 X 6 = 3000 zuhoyouppnd-

neToo nomd devrepdientov.
3ov ‘Olxov Eoyov.

Td demonunde Shxdv Eoyov elval : 3407,75 yuhoyoa b e

toe #atd Oevtegblemrov, | —wp — = 4543 drpdinmol.

&8, ITisathoov 8 druod, Rdpove 20 tdvvoy, mimre €€ hjoug 2
péroov 2ml Evdg dyrou ydluBoz. ‘O dyxog odrog whardvera roto 2
€ ’ -~ & B ’ < 4 c 51 -~ ’ (]
Exarootdperon. Znteltot 1 dvriotoog 1 mooPallopévn Do tob ydhvfos.

Adaeg : “Yxodéropey ty dviiotaowy R oradegdy xard tiy Sy
‘H §bun 1o dyrov 100 ydhvfos elvar :

T — R 02 (1)

Td meothiploy #rund tov dyxov pé ulav taydmra v fug dideta
im0 thc &lodaosmg : v =2gh — 2 > 9,81 X 2,00,

‘H avnuind] tov évépyewo elvar:

1 20000

1
— my' =

— bt ¢ < 2 g
5 5 5781 X 2 % 9,81 X 2,00 = 20000 X 2,00

1
bl 5 mu? = Ph = 40000 yihoyooupuduetoa. (2)

EEwootvree e (1) xal (2) hapfdvopey :

40000 ;
R = -6-,'65 = 2,000,000 phioypappa.

8 9. Sgaipn Srhov Siapéroov 8 yhwoordv Cuyilel 15 yoaupdoo.
IKmd v 20dov & tiic xdvyng Tod Srdov wixrovs 1,20 p. wéninron to-
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Winta 600 pérowv. Hola eivon ele phbyoauuna %ard Tetoaymvirdy
Batootdy, 1 néan tdotg v deolov TOV TUDUYOUEV®V XATG TNV Rob-
Oy 1ijc mupitidog ;

Avorg : "Eotw P f tdog #otd tetpoy@vindy éxarootdy, vnotide-
Révy oradepd xord 10 Sidotnua xold’ 6 7 cpaipn diatgéyEl TV ndv-
v tod 8mhov. "Eotw d 1 Siduetoog tiic opalpag eic Exarootdusroa.
© 3
H 2{owowe elvor :

nd? 1 0,015

T=P X 5 X 1L20=5 X 32 X 600

Snhadi P % 0,5026 X 1,20 = 275,23 yihoyouppduetoa.
‘H 8¢ péom tdoig eival :

. 215,23

—0,60312

= 456,53 yhdyo. ward tero. £x.

DO. Egaipo tnrefdrov Bioove DO pihioyodpuwy xrvmd Ty whe-
&y Ywpnxrod mholov pud taydtnta 600 pérowy atd deviegbhemtov,
*al gigfoyerar dved: tiic ¢ ydhvfoc mhevodc watd 0,15 péroa. Ioix
elvay N wéom dvriotoowe, 1) moofaklopévn Hmo Tob ydluvPoc ths mhev -
Qg tol Swonxrod el thy opaioay |

Avire: T, — ;, mv? = R X 0,15, ‘H #owoic afity pdg didec:
BB o
Re— 5{9,81}(('}7_7 = 6116207 phdyoauna.

DU . Sqaipe dxhov Pdoove 25 ypappaploy, finteral trd dxhkov
“ﬁROU; 1,25 pérowv nal 2Eéoyetan ué toyirmra 100 wérowv. ’Edv tmo-
1
1000
Qhnzoy, wal Gt fi 2véoyein abien nopapéve otadeod, Tnretzano’.) To

LTI S Budonera 17 Bvepysiag Tiic mupltdog fro 107 Ogvte-

“evedog tiic miboeg tile BEaoxndelong éni tiic spaions xal ') Td B0
s upindog Extedovuevoy Foyov.

IRl 2 o ; :
Adoug: "Eoro m — ~ i udla tiic opaigug, xai F A nieois § 8-

o =
=1

[y} ~ . ~ ’ - ) ~

*OUpgvny En” adriic Ord tdv deolov iz muptnidoc, dmotidepdvng g

mé %

%otwg oradepis.
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: — 80 —
a’) ‘H ogaipa happdver Bvidg tob dmhov plav wivnow 6pakie &mi-
Taguvouévny pé | Emitdyuvoly
— 100000 uéroo.

Kot érohovdiay 1 mleois :

R 25
B =my = -g—i = &Qi%}l_@OOO —254,84 yhbyooupa.

B7) Tbd dvuorowolv Eoyov glval :

T—F.e— 254,84 X 1,25 =318,55 whyopd.

. ATIAAT MHXANAI

9. Sgoipn poldpdov  doleral fevdéoa eig v HoQUPTY
Evde nerhugvov 2muédou wijxovg A Na Suaipedf] t0 piixog A, glg ¥
uéon, ¢ 6mola va Sravdovron trd tie opalgus els Toovg yodvovs.

Eqappoyi: A = 2,70 pétpo  wal =5

Adorg : "Ectwoay X , ¥ . T ”)umn]p.at'a tubra, Dvools
ofCopev Gttt Bravudueva 5[.(10"[]’“1(11’01 Gmo tiie doyfic TV yedvey el
vou Gvdloye @Y TETQAYdVLOY TOV (0OVOV :

By wfyde !

e =3 ey

&k ob Ggaipoiivieg qwoLotd tovg dorduntag petoSt 1oy ral tovg A
povopuotag  Metafl Twy ELouey !

2
T

T i e

R T v?
L : A
--@nousvmg R i
et I
Y::i.—;
s
/‘.ﬂﬁ.—_—‘

]
§(
|
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Biéropev howwdy 6t ta tpipata té dtavvdueva elg {oovg yodvoug,
glvar Gvdhoya moog tovg K momrovg meottrovg Gotdpois :

A A 2,70 ; %
‘Eguounoyi : B achi D 0,30 uétou
nati x = 0,30
y = 0,90

z=1,00 uéroa.

93, Kewapévov Enimedov oynpaciCe perd 1od doilovrog ywviav
) 2 5 S Sais - e 3 .
o, "Ex 100 onpelov A dgletan Eevidiepov, dvev doyindis tayirntog, i
%0V oyueiov, 10 Groloy atmrer nard thy xataxovgov Ax. Ty abduiy
arywily, devtepov VAwdv onueiov Swayodper thy A dguépevoy Ex tod
A er’ Goyufig taxdinzog ve. Hofa moémer vi elvan 1§ dogen Toygdmg
Vo Tve wad te 800 Ohd onpela evoeddowy Exl tiig adtiis Golovriov
BI, Sty 1o modrov anueiov #ge Siavioer piiwog AB=h ;
ubs o = : S . o
Na Eupoacdf] dGowdunuxdg T v, O v mEginTwow Omov
4=30°, g = 980 &xar. xai h = 1960 éxar.

Avoug: ‘O Sobpog 6 dovuduevos Bx6 tob devréeov wvntol  ward

i

X

IS
MY Ay elva: e= ot g 8 fiw. ot
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‘H mooPohf tov &mi tiig Ax eivar :
i 1 kl 2
e’ = uatnuu+§gnu at
‘0 Spduoc e’ elvan Toog medg TV Spdpov h= 58 i (1)
‘Enropévae 3¢ Epouey v oo
: 1 e
vtnpat 5 g et =58t (2)

AL : 2h
‘H npdhn Elowotg Hidet: =N

Kal 1 devrépa yiverou :

oh
v, Np GX\/% +hnua=h

& o 2 h odv’ a
8 ov = —_—
2 \[2h
Wi\
2% 1960 ;
‘Apduntundg ;. t= \/%869— — 2 devtepolenta

L M — 1—%%2(—3 — 1470 &xoroor. -

Vo s TS
5 \/ 19602
980

Q4. Ao mvnudt xoaréoyovian xatd pijxog dvo wexhpévoy  Eme
atdov AO xai BO. “Avaywooiowy dvev doxfis taylimrog &x 1@V
onueloy A xai B zol elvar AO ==y xai BO = §. T'vworiiz otions
tiig yoviag AOB = 9, va npoadiopoddoty ol yoviar tig whoswg ©
xal B, tva td dvo xvntd pidomot auyredvig gig 10 onueioy O.

Ao © “Ag tmodéomuey Su y >0 xei o >P

"Eoto t 6§ xrowodg yodvog g radddov
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el o0

Sral s y
Ex tiic oyfoemg :

8
-- - - -—:’7‘
VA
L (a—B)
L s e
©ovFd  mwotnu B 1
o = 4
2
: 1 y—38 1
wik EQ 5 (aglij = oy o 2~1‘J
—B L i)
Pyvawpitovree 3—0—{ xal 342—{3: 90"—}; enplonopey o o ®ai

B s uiiic mooodéaeme , xol wids Gpaotoews.

. V. A mowroyevode noxhod petwrivolpey Papoe 400 dnddwv,
YU Buvdpeme HO dxddav. ‘O Pouyiov tiic dvuietdoeme elval 2 péroa.
Olov td pijxog tod poyhod ;

A Aot fj aviiotacis elvar dxtd @oods peyuhntéoa Tiig

&U"“MEU)Q, nal 6 Poaylov tiig Suvdueng da elvar drramhdoiog toi T
Viotdoswe iivor 16 péroa.

“Aoa pfimog poyhod @ 162 = 18 péroa.

I DG, Eiowiy dnpov mowroyevolc poyhol wirovgs 100 mada-

DV, Evepyet dbvag HO hoyodunwy, s i dievtuveg oynparice
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S QA

wetd tob poyhod yoviay 150°, eig 88 10 Erepov dxpov xoénoarar Ppos
800 yihoyodppwy. Tob poghol eboionouévov v isoogonig Gowovrimg,
Cyretzan fi Grdotacig tol dropoyhiov Gnd thg dvrioctdoems.

Avowe : "Boto O 1o tmopdyhoy. Tdre Pooyiwv duvdpemg  elval
i wdderog OB.

Eredl 08 § o ©dv yovidv tol dottoymviov torydvou elvar to

: _: 5 63;/)‘\ H‘

\fgﬂo

: S 0A
fiuov tic dddng, & OB = -5 -
"Botw x 1§ Inrovpévn Gndoraog AO, téte OA = 100 — x xﬂ?
100 — M o e
0B = 4—2—5 wol Bretdn O poyhog EVOLORETAL EV LGOQQOTLE, da gy

100—x 2

uev : 800 ., x = 50 X e il 1 % mohdpal.

9'y. Moyhdc Guotoyeviis winovg 0,60 pétpwy ®al fdgovg 20 AV
Moyodupey, géoet €l td dxoo tou fdon 50 ydwoyodupwy ol 11
ythoyodupwy. Eig molov onueiov 100 poyhol moémel va elvan td VA0”
uéyhiov, ivee & poyhog elbolonerar v icopponia ;

Adoig: "Ecto OK §j drdoraais 1ol Hropoyhiov 4o tol uécov K
107 poyhod.

“H ford) tii cuviotauéyng tdv tody duvduemy (g mode 10 O el

var undév.
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*Eyouev : P X OK + F, X AO=F, X BO
Ay AB =21 wi OK=x , 161t AK= ;—

*Avirahot@vreg Eopey ¢
20 x -} 50 (0,30 + x ) =110 (0,30 — x )

&t ov 180 x = 18 Hol x = 0,10

D=, Moyhdc duowoysvi; AOT S{‘Q{GKE'{GI 6piloviimg v iooppo-
alg Gno v Bvéoyetay tod Pdoovg tov, T Grolov eiver 100 yoouud-
0t watd Exarootdperov, xol 80 nataxoplpoy duvdueov P = 10
Ahidyoappe xai Q = 15 yihdyoaupa. “H modty  ddvape Epapudole-
T ¢l td duoov A 1o woyhod xal elg Gndoraciy o dnd tol Umopo-
1hiov. “H devtépa 2papudleron glc 1ov Poaxlove OT xal el dudotacv
12 gxarootopérowv and tod Hmopoyhiov. To pimog OI 1ol Beuyiovos
Elvay dyvoorov. Na eboedf i &Elowotg loopponiag tod woyhol, xul va
- ~ ~ ’ ~
Urodoyiodf 1o pijog O = x cuvaptijoer 1ol a.

Adbous : ‘H ovviotapévy v faodv difoxetar did tod vropogiiov O,
Al ponal dg medz 10 onueiov O, didovor v Eloway tiig foop-
Ooniog :
a— X St
10X a-+ 0,1 (a4 x} ( —27) — 1612 =0
¥l
A 200a+ af — x*—3600 =0
8 o0 x? = a® - 200a — 3600

9. ‘H dplloviia @dhayt Cuyol Exew 6hov piprog 0,20 uéromy
®od Bdoog 20 yoaupagiov. Znteiton N yovio xod” v Ja «hvy i @d-
Ay fd oy Bvéoyerav Pagovg £vog Eravostoyodupov. To névrgov
B‘iQOl!g eholonerar xdrodev tod dfovoe alwpioemg €lg drdotaoty do
Exatootouéromy.

Adoig: ‘O tinog elvad :

o] Sk o

WO Fak—18 85

Ecprx-:;ﬂd Epa— ij— 74_00

1L OQ@. Zvuyitouev odpd 1 dérovres totro Exl tiig puig v mha-
Stlyymy Cuyod, xal o loogoomoTuey St Bdoovs 100 yoappooioy, Gé-
Touey 1 giua il Tiz Eréoug mhdouyyog wob Cuyol xal 10 {oogoomod-~y
ev & Bioove 105 youunaoiwv. Ni eboedfi 10 fdeos ol edparos, NG
*ai oyfole petuEt TV Pougidvoy T pdhayyoc.

=
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Adaie : “Eoto p o Cnrodpevoy Bdpos, xei 1 el 1 to pwixn v
Bouyiévay tot Cuyod.

Eiz tiv modtmy Dhyow 10 odpe slven gig 1o dxpov tod fouyiovog 1.

“Qote plt — 0100 > ¢ (1)

Eig thv Sevtéoay Coyowy @ pl' = 0,105 X 1 (2)
IolamhaowCouey watd wely :

p:— 0,100 > 0,10b
a0l p= \ 0,100 % 0,105 = 0,1025 yhbyoouua.
Awrpotipey xord wéln tog (1) wod (2) xai Egopev -

e 000

G
\ 12 0,100
AT]}.(IF)T] -lﬁ = *O*]E

ST
£ e Ve
2 ! \/0,105 1,025

LOL. “Ev duvapdustpoy sivar Paduoloynuévov elg témov Gmov
t g = 982. Eig témov 8¢ Omou 0 g — 980 demviel 8 Ev cdpa,
Bdgos 8 phioyodppwy. Ioia elvar 1 pala tod GOUATOG TOUTOU ;

Adoeg - “H dvéoyewn 1i 2Enornovpéyn Um0 100 cwpatog Eal tol du-
vapouétoov elvar: 3000 X 982,

*Bay to duvapdperoov eiye Paduoloyndii eic tov témov Smov 10
g = 980, 1 &véoyeie da flro x X 980, Tl ardhuiog tol Pdgous els
témov Omov g = 930.

8000 . 982 — x . 980 o x = 8016 youpudoua.

202, Hola elvar T Bvégyea 1) EEaoxovpéyn &l tilg ahdoTiy-
yoc Luyod, Um0 adparog witne 12 yoappapiov, &g témov dmov fj Ev-
Tucig tiig Bapdmros elvar 980 5

Adoes: 12 . 980 §dvor-=11760.

1 Q3. Of Svo fouyloves Tiig @dhayyog Cuyod glvar Yool xotd 10
wixoe. To zévrgov pdoovs Ouwg il @dhoyyos Gméyer Gmd o an-
uelov tiic otnoikems thg dluyyos wato d. Zuyilopuev odpd 11 tomo-
Herotvies adto xal Bni @V o whaotlyyov xal 10 iloopoomoluey
S 24 wal wovdmwy St 26 vouupaoiwv. Iolov elvan t akndis pd-
00¢ TOl COUKTOS ;

Adeie : "Eotw o 1 uijzog éxdotov v Poupdvoy, © 1o fdoos
1iic @dAayyos, ol x t0 Cmrovpevov [ideog.
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b oY, I

& 4 s . pe 5
“Orav 1o odua tomodereitar mods to uépos b xévigov Pdoovs,
Eyopey : (26 — x) a=m.d.
“Ocav 1o oope tomodeteiton dvudétog, Eouev:

(x—24) o =m.d.

‘Bt adtdv happdvopey :
x—24 =26 —x
B O4. Na edpedf 1 ovvdiun loogooniug els 10 Swpoprdy mo-

nol o x —1 25!
Momaotov.
Adoig : "Ectwoay t xal t' ai durives 1iig peydhng nat tiig prods

Tooyahiog.

N4

s ' . 3 .
Af oomal 2v oyfor mpdg tov dEova O elvor:
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®al B— (I—Z—Tr)Q

1 O. Awgoowmov mollemastov dmoteheiton  Grd dvo tooyahiag
Sudromy 0,50 pérowy xoi 0,45 . Iole divapig moémer v E@ag-
woodf S v dyadoy Bdooz H00 yhoyedupwy, EEnotmuévoy Ex ths
ghevdéoac Tooyuliag ;

R—r
» e , s 1 D !
Aborg : ‘O tinog eivan : PG IR
A 50 — 45 o .
‘Eropévag: p = 5H00 X —100—’ = 25 yhdyoappa.

106, Iofa elvar §| cuvdixm loopoomiog eig tov xoyhiav ;

Adows : "Eoto u 1 drdotaoic 1ol dEovog toll xoyhiov dnd 1o
onuelov Egaouoyils tig Svvdpewg F, xoi f to fijpe tob xoyhiov.
"Av 6 xoyMog oroogf) xatra 360°, 0 xdrw dxgov ol xoyhiov mpoyw-
pel xotd €v Pina, ©o 88 onueiov Epoopoyile tijc duvduews Odayodpet
meoLpEpElay pwipovg  2m.

"Eyouev Zoyov duvduews F X 2ap
Kal #pyov avuiotdosme f i

O o ey e
O%ev F X 2mp=1XH xnal E e TS

1 O7. Iota §i cuvihixn loopponiog g 10 dagopndy Pupoiinov:

Adaig : "Eotw n 6 Boayiov tiig duvdueng F , xal T xai t af dxri-
veg T@v 6o topumdvoy, xai Yewerjowpey play Ghdxinoov mepotoo@ny
100 dEovoe. To onuelov Bgaguoyiic tiic duvduemg F 9 peraxivndd
nora 2 my, émopévog Eoyov F XX 2p , 10 oyowiov da mepurvdiylf ele
t0 tumavov T xota Eva yUgov, firow da Bouyuvdf xora 21T, 9 fxrv-
Mxd7 88 dmod 10 opmavoy T xatd Eva yligov, Nitor ratd 2sr, Eropévios
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Yo Boayuvdii &v 8k xatd 2x(T—t) , xoi 1o B 8 avéddy xatd 1o
f Xx (T—x).

5 - ; %
Nuiov 1ol wijrovg tovtov, ijrot :

T A

Gdev F X 2ap=1Xn(T—1)

i 2 n

Bl (=
Hixn icogponiag eig 1o ovvilerov Pugoilxov ;

nol
Ros. ITola 1 ouv
Adgeg : “H Stvopig F Bvegyel dia poyloPeayiovos A radérwg xi
v AafBijv, mdvrote &1 tob 6dovrwtoT Teoyod Jotig @égel v ddGvrag. O

9
O86vreg tob v, umhénovian elg todg Bddviag T Bv Sk to¥ ddoviwtod
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AR

-~ A ~ . ~ T
ooy T Botig cvvdéetar Sk xowol dfovoe werd tov umdvov I' ov
1 Guric elvan T,

*Eav 6 toogds © »dpp wlavindion 'megiotgopiy, vd onueiov Thg
Fpaopoyfic tiic F uetatideran word 2rA.

S P T .
‘0 tooydg T Bwrehel péoog mwegiotoopiis - 10 oyowiov weo-

yoweet wava 2wl LI‘
*Eyopey hownov F X 2rA =1 X 2a0 %

T
B T
Filhanas o =N A T

v
Hat

109. ol § cuvitiixn loooponiag elg tov dréppova woyMay ;

Avore : "Eoto  §u 6 ddoviwrdg 100105

#yel v 000vrag, 6 O dEwY
adrol Eger dxriva o xal elg 10 drpov TOD

nepiehiosouévoy oyotviov

Zvepyel 1) Slvapg £ loopgonotoa Ty F. Ll wdde meouotgophy 0V
xoyhov 6 tooyde T oroéperar xutd fva 0d6via. ‘Eropébvag Sux v¢
oroaqfi 6 T xaré plav ahion neororooqphy moénel 6 woyhoug K v 7€’
oloTRu@f v @oods.

“Eyouev houmov F Xv.2amp =1 X 2rnc

%ol

dHe taw L 0
PR 2mi V..
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A’. EKKPEMEZE. ®YI'OKENTPOX AYNAMIE.
ITA'KOXMIOE EAEIZ,

R EO. Ilotov elvar eic ITagralovg t wijnoc dnhod Exnpepnoles, to
-3 -~ o~ ’ iy ’ 3 - ~ ~ a2
Omolov pdg 8idst 10 devrepdlemrov (Sdoxeia pwide andiie alwofoewg) ;

Adboeg: "H duiorera wids dnhilg clworosmg elval :

i e t®
=x \[{— g€ o0 ] o
g - @

gvratda 0 yodvog t = 1

A ~ -~ ~ 2 ~ A\ € - e ’
10 pijnog ovvendg tol  Enxpenmole, 10 Omolov 8idel to devreplhemtov
: ( 1 S
Elvae 1 =9,81 X— = 0,99397 uéroa
7T

B H M. ITolov ufinog moéner va &y dmhoiv Bxxnpenée, tva 1 dudp-
B B i ,
Bl t@dv  alwonoemv uikool mhdrovg elvat — b devtegoéntov;

To g —9,81.

B r= RL — 0,09396 t*

Ve t = Tj—ésutsgolémwu, cuverndg 1 == 0,24849 uéroa.

1 1. Big tov “Tonueowdv, & eunpends éurelel 2400 aiwprioeg
n 2 A i e ~n - . ™ i
Y Goay. No edpedfi 10 piinog 1o duroenoi, nal 1o pinog tod Buxge-
Holig, 10 Grolov Sider 1o deviepdhentov. T g = T81.

Avgig: Eig tov “Tonueowdy, 1o piinog 1o Exxoepols elvar :

_ — 0,99102 t*.

—~

|

g

e

. 3600 1
8 1 il i A ¢ €l 1 = —— = 1— GA.
1 Sidonrelo pidc aiwpfoemg elvar @t 9400 B) devtepdl

B of  1=099102 X %: 2.9997 uésou.
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Td uiinog 100 Bxxpenodc th Groiov dder to deviepdhemrov elva :
1" = 0,99102 péroa.

113. Iloia 9 elvaw 7 Eviaowe tiig Paplmiog &l tdmov Gmov
10 uijnog toi Bwxpepoiic o dmolov wis Side o Sevregdlemtov elval
99,6 ExatoctdueTpa ;

99,5
T
& ob g = 7. 99,5 = 9,8696 X 99,6 = 982,02

Avoig: ——=

1 H4. ‘Exxpepic Gookoylov wadvotepel 24 devregdhentu my
fuboay. Idoov mpémer v Fhattodf 10 winog tov, va pdg didy T
Sevtrepdhemntov ;

Adgeg: "Eowo t i dudpxera wilg alwofioeng 1ol Exugepois tovtov
nol I' 10 piinog tov. “Eotw 1 wol 1, ) Sudoxeia xal 10 uiixog 1ol i
xoen0Te 10 Grotov pdg 8ide o devtegdhemrov elg tov avtov  témov

1mn\/,i. t= n\[l_'
g g

AN e T o

tt— — —_— = ———

1 {1 1

Ko Gpov 1o fxxgepds tolito xduver 3699 aiwoneew, dvil tdv 3600

_ 3600 t*—1 14-2X3599 7199
R EEan R e RO 0) R 26 00)

Katd 10 wAdopd

Tolito moémer va Ehartwdf 1o uiixog tol Exxgenolc.

BB, [éoov 90 dhatrodf § Sdoxeis @Y aiwenoewy ExnQE
wotic dhookoylov didovrog o devtepdhemtov elg TOv ionueavay, x’sd"
UETAQEQWIEY TO EXRQENES Elg tov mohov; g = 983 el wov zdhov, ol
g = 978 &g tov lompeowvdv.

Adoug : 1=ft\/_L t=x\/1_ i:\/ﬁ
978 983 1 983

‘H &\dtrooig slvar 1 —t.
1 EG. ‘0 yodvog aiwohicemg wag pdhayyos Luyod elvon 4 dev”
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— 93 — ;

tepohento. [Tolov elvon 1o wijxog 1ol cuyyedvou Euxpepolis ele témov
-4 £ -~ ’
0mov 1 #vraoig thig Pagdimrog elvar 981 ;

Avaig: Ex tig éfodioeng 4 =n (e
481

. 16 X 981
Eyouey : i— e

LER'2. TO piinog Eunpepols to
glg tiva témov elvar 0,985 péroa. Na
¥0Epotc, 10 OGmolov elg TOvV 1Owov 10TOV
nrév, nal va ebeedf | Evraoig

Gmolov 8idel 1o devteodhemrov
vrokoyiodfi 10 wijrog Evog Ex-
gntedel 22 alwpijoeig nard Ae-
tiic Praovnrog elc tov témov tolrov.

o : § 5
Adoig : A 10 modrov Eunoeute Eropev: 1" =nx _r_)g— 5

z

60" e

A 10 8evtepov N
5 a7 =

‘H modmy #Elowoic 8ider g =98, a*=972,16 Exaroorduetpa.

15H\2 :
Kai % 8evtéoa: 1= 98,50 X(l—f) =183,16 é&xuroordperoa.

LA8. Eic dOowopévov dmov, 1 Emurdyvvoig thg mrdiosme t@v
B(uucitwv glvar peyadntéoa tiic glg tov “Tomueowov  Emitaybvosmg
LU %6 Iléoa devieobremta wad” fiufoav 24 Godv xadvotepsl
“’inoymv eic  Sevrepdlemta, xavoviouévov elg rov Moplopévoy THmov,
Bray 1o petagpéomuev elg tov Tonueowdv ;

: 3 c T . 5
Adoi : "Egapudlovies tov wimov T =2 n\/l_ Su thy aldonowy
z
Y07 Exxpepols xatr’ Goyde el tov Tonuegwdv, xal watdmv elg tov
* ar
Vmotidépevoy 1émov, Egopev:
\/ i
g

T=2x\/1

o
5
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25 ol 8id thyv Sudoxelay tiig meptddov

i — 2\/5_'._ = 2\/2_(1 devtepdlenta.
g 200

Kol 8 v dandijy aldonow:

l _:\/ ?91 devtepdlenta

2 200
‘0 dpuduog t@v alwpeviosmv ol Buopepoie o elvad
86400 . P00y e
N= T = 86400 T 86184
2

Kal 1) xadvoréonoic R = 86400 — 86184 = 216
R =216 bdevrepddenta.

L ED. ‘Qpokdyov, toi brolov fi mopsla elvar xavoviuy &v Ila-
poloe, mpomopeveTan st dvo devreodlemta v fiudoav Gtav o pe-
taqéowpey el Bvo dolouévov témov. Na daohoywodi fi Emvdyuvais
tiic Pagdnrog £ig TOv 1Gmov toltov.

Adaeg : TO Buxoeute 1o¥ dooloylov extedel 86400 +- 120 = 86520
alwooelg Grhdg Ty Mooy,

‘H Siudoxaia wide todv aiwofisewy tovtoy elval: t= gl devre:
LHOHELD HLdG oY) rov elval: t= o devt

o6kenta.

T ; G feh T 1

H 2mirdyvvoic g 8ideton dua th)g dvodoylog: el .

8652072 T91°x >

gt 0 =9 81 —_— == '1 _— — e ¢ i
CE X (86400) 9,81 X (720 9,84 uéroa ;

1 20. Jgaipn petaddid udine 500 yodupwmy, mooadedepévn eis
10 dxpov oyowviov wijrovg Evog uétpov, meorotoéperan mepl 1O frepoV
adrol dxpov petd Toydmiog TowavTng, Mote va diayodey nioy xal fui:
aglay atpoy xatd deviepdhemrov. Na mooodiopiady) 1j tdaig, thv dmolov
9a dmootf t vijua.

AU’GE; < ‘O fﬁﬁog Ei\r‘[]l SR = :
Euvs:t("); L — '300 (3‘[“)2 500 (BX-B‘ 14)(100):
L F = —
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B21. Tole I eivan §i Sudonera tig aiwoiosme Euxoepodie wi-
*ovg 1 pérpov, &mt tiie Empavelag tol ‘Hlov ;

100 .
- : 3 g ————
Adboug NiE= 28 gl b— 1\/‘28X981

122, Maile 2 pihoyodunov oxijuatos @uxod, taptitat #% tod
fixgou avppatog wixovg 2 pérpov, oympatiCovoa dxxoepde. Na frolo-
?lcﬂn 1 Evépyeia 10T Exnpepolc tovtov Ymoudepévov (g dmhod, Srav
L otppe oynuatiler yoviay 60° petd tiig xutaxopvigon, e témov Srov
W g —981.

Adowe : ‘U pala afvy wdv 2 phovodppoy Stvatw va méon #x

00 Hpoug :
200 (1—01»11 liO") = 100

H duvapn g Evéoyewn sivar
2000 X 981 X 100 = 19,62 X 107 Zoyia.
3 1223. “H pita tiic viic slven 5,95 X 1027, xai # dxtic tg &i-
0“‘ 6,37 X 105, Na drodoyiodf fi npd tiic oradeods G tig mayno-
Siiov Secwe.
ddboig : Oa Hrodéowpev uioy pilay 1 Yyodppov g mimtel eig
MY Brdveway Tiic yiie kol 94 Epappdompey ™y oyéory T=G .EL]-};—_
r
f = 981 m—= 1 m’ = 5:95 » 10t

981 (6,37)%.10°_ 6,69

= 5,95 X 107 10%

A 124, Zopa Bdoove 1 yihoyoduuov, perapéostol 8z tiig Pd-
“‘G gty xoguply tob atoyov “Aiged. ITdooy Sa ghattodi) 1o
Y00¢ 1o :
E e R e e Al
o (R-+h)? R
2h =600 péroa R = 6,000,000
2h s ol o
R~ 100000

Abgug -
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‘H  drrwoie tob Bdoovs V& elvar 1 dékarov tol yoouupaplov-

1235, Yroudepbvne tiic yiic opaipudis, tnteltan 1 toyitng nail
i Sudpxewa Tiig meQupopds Evog mhaviitov, Sotic 9a mepuyodpn niav
tooyuty wurhueny Gurivog R, Tong npog 60 ynivag dutivag.

mu?
R

e T
w = YR =\ B s0r — \[ 200 _ 1030 trgs

Adoug : F=my=

xato deviepdlentov.
‘H Sidpxeie Ty meQLpoQds

2y 2352940 devrepdlenta

t:

Snhady 27D douw kol 35 emrd.

1 26G. “Atpopnyaviy fdagove S0 tdvvov duarodyel, ud tayitnra 60
yuhopérpov Ty oy, xapmilny dxrivog H00 pérowv. N frohoyiodi
fi @uydrevipos divapus, xal 7 ®hiowg i 6mole Vd dodf elg v odmeo”
Bpouuxily youpuiv.

Adoie : “H roaying s drpopnyaviis notd devtepdhentov slvol ¢

bO(}OU 100 e
ety T e el

‘H quydrevigog Ovvoptg elvan

1L
- my? 50000 ﬁﬁ_ — 9831

F= — = - BT by,
r 9,81 4™ 500 LI
*H ioig &nl tob Opilovrog elva:

i Ly i e
EQ U — —Is' = W)U— == 0|0g)[ﬁ)-314

wai  a=3" 14’ 28"
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II. YAPOXTATIKH

1 2¥. Aoyslov nthijoeg U8atog oxfuarog dpdod ndvov, elvan to-
T0dernuévov émi Gpiloveiov Emmédov, “H Bdoig tov ¥y Emigpdveiay 1
* "etpaywvinol denatopbroov, xai 6 Syxog tov elvar 1 xuBwov  Sexard-

Hergoy, ITofu elvan 1) nigoig &mi tiic Pdoeds tovu ;
Averg : "Eorw H td tyog 1ol xdvou. ‘O Fyxoe tov elvar :

1000 = 100. -IL)’—I E ob H=30

My
ey

‘H aieoig &nl tiic fdoswg elvar @ 100 X 30 X 981 = 2943000 §v-
""3“ dnladi, o tourddotov tob Bdoovg 0T Bdatog tol megiexoudvon ez
0 Boyeiov.

L2288, Na dmoloyadf i nieoic &l fvde xuxhinod dloxov Stoué-
00v 16 fxarootopéromy, Budicuévou gvtog Udpagyvoov. To wévipov
'to,i] ®Uxhov elolonerat elg dndorasy 25 énatostopéromy dnd tiig Bheu-

0ug Ernipavelag tol U8papyvgov.

3

Ao - ‘H aleoig elvar Tom modz to fdpog oridng Gyood frie Eyet

W Ja " AT A

S Bdow thy #mupdveiay 100 xdnkov, xal Tpog v Gndotacy &nd Tod
b " A 5 ; - 5
“VTo0v Boove tod wixhov, uéyol tig Bhevdéoac Emipavelae tod Uyool :

3,1416 ¢ 82 X 25 X 13,6 X 981 = 68361 X 981 divar.

129, ol elvaw i xleowe ) Ecaoxovpévn 8q° Evis Tetpaymvixod
P_(ﬂ:o , el n ’ (3 3 o N s Y
Ul‘ouetgou, Vo cn;r]lng uﬁgagyugov vipovg 1 UeTQOL |

Abgig 1 1 100 X 13,6 X 981 =1360 X981 = 1334160 ddvou.

o

3\ﬁ;q::l():. "Oyxoc otepeds ut ﬁdofl; ({){ﬁua‘ro; dodoymviov xal mapak-

: ‘;’; Extpavelas 1 terpayovinol pétpou, Cuyiler 200 phidyoouua.
o Vtokoyiod{j : o) f wizog vy 6molay  Efaonel Enl teToaywvixod
"Qfomouémou Brav eivaw tomodemuévoy ént doloveiov Emunédov. 7))
“x:“’-ﬁl:;. tf’]v‘ (‘mo{cfv BEaonel xgca’wtguyfuvmo:: emuocimustcgrlv gav
} di;ﬂtltn 1:.[(‘1\' -,;ga:-:g\tav .GE-]]Q:LSOUEVT}V\ 61:! Tgl(i)v J'mSL’UV, ol omoiot
tuvl:?wcft gmwc?; &xl tol &ddpovs dua xinhov Empavelag 20 terga-

WY ExaroaTdv.

-1
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Adaug:
201
a. R 1—0{)%:6 = 0,02 phdyouppa
x s 200 10 5
B R 390 — 35 O Yo UL

131. Ado uem?\hd(u apaioar, tov omolwy ol TUKVOTNTES ELVOE
B wal 10, Eovol 1o odtd fdeog P slc 10 wevdv. “EEqpr@pev aitig &
Tdv dxowy poxhol wal xduvousv va Pudieddov Eviog Uduros. Ilota

I 7 i 5 1
moémer vt glvaw | oyéolg T v dvo Bouyiévoy tod poxhod, tva ebol:
onetol v loopoomiq ;
Adorg: "Bowwouy 1 xal 1’ al durlveg tdv Stio cpaiodv. At avor

ol Bviog ol Bdarog elval:

— grtg w0l — mr’g
3 3
“H #t{owoic tiig loopgoniag ol poyhol Ha elvan :

o Bl = (10~ 1)ile

B 3
0 "8 ] ; ! 9r
g€ oV s el ®al - = o
S s 4 2 Tl :
EE Mov P=—=nr'.b g=—5ar?10g 1 Brie 101"
3 L 1 ; s
wal ity gmopévog =

1 3. Avuxelpevoy éx yovood, muxvdnrog 19, 25 Cuyite 96, 29
gauuciguz BudhiLopevov &vidg voi Hdaroc, dxromnilel dyxov Udavog, 1ol
Grolov t0 Pdoog elvar 6 yoopudota. To dvrreipevov elvar nhijpec 1 i
xothov, xoi molov 10 uéyedog thc xohdinrog:

Adgig: “Eoto v 6 8yroc 1ol whioovs népove 1ol Gvuixeipévor:

VX 19,25=96,25 xoi v=>5 nP. é&xar.

‘0 2wreowde dynog elvar toog moog 6 wufka Exatootdpetoa, T
odua cuverdg elval xothov xol fj xothding elvar 1 xofuwov ExatoatdV:

1 3. Ado xataxdovgor cwhiiveg toutic 2 teroaywvirdy erutd”
otiv cuyrowvwvoial S 6plovilov cwhijvog mepiéxovrog HdodoyvooY
péoL Hpovg dilymv Exarootouéromv, Plnvopeyv elg tov éva & v o
Mivov 60 youppdoin bypotd flagoorépov 1ol bdoaoydoov [yworol
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. e r - ’ a \ -~ oo
Bvrog Gt ) wuxvdng tob Hdoaoyvoov sivar 13,6, v ebpedf to Tyog
£ig 10 dmolov 4 @ddon 6 U80dpyvoos &lc tov dhhov cwlijva.

Adais: "Eotw A B 10 dopxdv Hypos 1ol d8papyvoov. “Otav of-

__l‘;L_.

hi |

lf ‘I!
Bt iownti B
5 e

B !

[ |

e Tt & A S

{ J

Yopev Vypdv &g 1ov Pouglova B, tdre 6 vdodoyvoos Ha naréhdy Ex
WY B elg 1o A, dnhady xata x wol da avéddy ele o0 A zata x.
> ﬂ l I] -]
"Eotw d | wuxvéing »ai h 1o tpoc UA tod fupdévroz typod. Ta
3 v = ~ 3 ’ . ’ E)
wn dvodev tiic dwoxwototiniic Emigaveing i elvar dvuotodpme Gvd=
hoya tdhv muxvoritov. ‘Erouévos Egousy :
h 13, 6 3t o hd
= =L REOh xe—
9% d : 372
*EE dhov 1o Hyog h tdv 60 yoapueolov 1o pwpdéviog tyood
Elvoy
GBI

= Pl

EXUTOOTOMETOM.

*Avixadiotdvieg ty Ty 1ol h edplonopey thy tudy tod x :

30 d 30 . f
XxX= — X — = —— = 1,1 éxotootducrpu.
e X 212 i
B 34. Kulwdowov doyelov touiiz 120 tero. &ratootdy, mepié-
XEL Wdwo péyot tpovs 30 Exarootdv drd toi muiuévog tol Soyelov.
v hY -~ o~ » I3 '3 -] 7 ~
Evtdc 1ol $8aros 1o Soxelov olmtopev wihwvdoov #x Evhov, topiig 80
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Exatootouétpmy, O OmO10G

Ey 2 e
teTpayovIR®my  Exotoot®y wal hpovg 10
1 ém@dvewe o Vdotog Bv-

2mmhéer. Zmusiton xatd wéoov i Dpwdf
10 tot Soyelov ; “H muxvémg tob Edhov elvar 0,7.
Adigug : “Yaodétopev St 6 xOhvdoog Emimhéer natd tobdrov  (ote
{3 s, b3 ¥ 4 b1 2 ’ ~ e €
af Bdosic tov va elvar wagdAinlol pds Ty Emigdveiay ol Bidatos. H

i
|
al 8
'q Lo T L i
e
L R o ey

- - S i -
gloodog 100 wulivdoov wduver vo Gvéldy 7 Empdvels Tod Udatog Ex

10D 6plovtiov Emnédov AB, sig 1o A'B.
‘H 2Elowoig loogponiog 1ol Emumhéovrog cdparog elval

Bdoog nvkivipov = Bdpog xromlopévov 1idarog
80 X 10 X0,7 = 560 yoap.

Td Bdoog tob ExromCopévov $8atog elvar H60 yeau. ‘O dynog tob
gxromiCopévor Udatog elvar H60 nuf. éxaroord.
‘0 &yxog odtog maplotarol Hro tol xwhivboou ABA'B’ .

Iodypar Eyouev :
Byn. o B TA=308yn. o B aff +dyx. apTA.

Kot 8yx. o p' TA = dyx. o B’ o Syx. wapdalevgoy = Gyx. ABA’'B’
T'vwoiCovieg 8¢ 6u 1 toun tot doxelov elven 120 tet0. &n. Eyopev
120 X AA’ = 660

gE ol A A’ = 4,66 éturootéuetoo.
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L3, Zdua cvxvdinrog 8,4 Emumhéer &ni tiic Stoywprotinig -
pavelag dvo Dypdv muxnvdtnrog 13,6 xal 5,8. IMola elvar §i oyfoi thv
Synwv 10l cdparog tdv Pudioudvav vidg tdv dvo dyodv ;

Adoig : "Enedn 1o odpo looppomel &l to péoov tig Uyods wd-
Ing tiv dvo Dypdv, 10 Pdoog tov &lvar Toov mpdg ©d ddgotoua tdv
Pog@dv tdv Exromlopévav Oyodv. "Eotw v 6 dynoc 1ol uépoug tod
sthuatog 100 Buthopévou Evidg tod typod murvétnrog 5,8 nal v 6 dy-
®og 10l pépov: 10T odpatog Tol evpLoRopévou dvide ToT typol murvé-
trog 13,6.°0 dyrog 1ol cmpartog glvar v, 10 Bdoog tov dé sivar,

P=(v-}v') 84 Siéte P—=X7d
To Pdpog tdv Extomlouévoy vyodv elvat :
t—v X538 nol a=v X 13,6
‘Enopévog da Eyouev :
(v v').84=1uX58+v X136
2.6. v=—=10,6. v’
b o
T T
1 36. "Oynog ndyov oyfinarog mopallnieminédov 100 Gmolov o
Upog elvan 6 pétoa Emumhéer émi v Emgoavelag tig dahdoone. Iloiov

da elvor 10 tpog 1ol moionarog 1ol dvwdev tiig Amiguvelag tob Hypod ;
Muxvéing tod mdyov 0,93, wunvéine dakacoiov Hdetoc 1,026.

®al 2,

© Adowg : "Eotw o 10 #ufadov tiig Bdoewg el terpaymving péroa.
‘0 Bynos S eTvan 36 xufh. nérpa, nai 10 fdpos tod nolowaroe 9 elvar :

6 X 6 X093 tévvoL
To Bdoog tol éxtomGouévov Vdutog elvan :
o X x X 1,026 tévvor, Gov x 10 Thpoe.
‘Enopévog moéner vo Eyopey cvpgdvoe mede v ocuvdnxmy icop-
eontiag tdv Emumhedvioy copdioy :
63 6 093 =10 X x > 1,026

:  6X0,93

nol X == 1026 = b,438 péroa.
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137, Iofa elvan § Stvapig 7 2Eacrovpévn Eni tijg Bdoewg do-
yelov mepiézovrog U8we, Gray 1) Empdveia thg Pdormg Tavmyg eivar 12
Upexrardueroa, xal § devdéon Bmigpdveia tol Dyool elolonetar €lg 60
DpeExatopéromy hpog ;

Adore - ‘H £Zaoxovudvn dlvamig elvon :

12 3¢ 60 X 1 =720 xvfhixd eraroord
TOUTEGTL 720 yoouudota.

A 38, Na tmoloyodf 1) ratardpvgos dmdotacig dlo onueiwv
splonouévv dv td vdoaoylow, yvwatol dviog Ou T dlagopd THV
mécswy elc T onpeia vadte slvan 1 phdypappoy, Eidmov fdoog Dopap-
yupov 13,6.

Aveig : I'votdy eivar du:

p=uv.d =xi p=n'd

wil p—p =(@w—1v)d 1w v—v'=h
‘Emopévog p—p'=h.d
&ore 1000 yoau. =h.13,6

21000 1(100_(_)____3', e T
= _—13,6 = 136 = (0,0 EXUTOCTOUETOCL.

%ol h

B39, H Stvouic ped” fig Aettovpyel Ddoauindy miectolov elvae
20 phid ‘O poyroPoaxt fic duvd i 1 el -
20 phidyouppa. woyhofouyiov tilc Suvduems elval mevianig WEel
twv 10d Tig dvuiotdosng, wol of Emipdveiat tiv tufoléwv elvan | pev
10 tevoay. éxavoot. §) 88 dMn T00 tetpay. fxaroct. Zyreltar o) #
1 I ’ 3 5 ~ 7 3 " \ ’ 3 -~
gEaonovpévn dvas Uxo b ueydhov Euforémg, nal B') elg molov
fpog B dvogolto 10 8wo cwhivos xutomoev@ov cuyxoLvwvoiTvos
UETA TOT Meydiov xvAlvopov ;

Adgig: "Borwoav E, xal E, 1d 2pPada 1ol pixpol xoi 1ol peyd-

e 3 3 B

Aov Eufolémg, #ed A, nal A, ol & abtdy émpepduevar méoeLg.

‘H ouvdipn ioogeonies elvat % = 'h.'rl :
20X 8 WX & ‘
a’.) AX— = % Hol A :1—%%—‘—0—0 = 7000 pihibypapna.
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8.) To Bdoog tiiz otiidnz elvar 7000 yihidyo. 1 AU{"» nukdun Udatog
£reL Prooe 1 phdypapnov.

7000
1
“H Bitoig tiig otidng elvan: 700 éx* =T terpay. mahdpol.
‘Exopévog 10 Uog tilg otfiing elvo

7000

= T009 »vf}. maldpos.

w o ’ £ a
Apa 1) dvw otiiAy Exel dyxov :

= 1000 muhdpon = 100 pérpa.

BLA0. Sguipn xoily muxvémrog A xal tiig 6molag 10 mAY0g
v toymudtov eivad g, Syxhelel tyoov muxvétmrog d. Ilolo mpémer va
slvan fi 2omTeoud) dxriz Tig opaigus, Tva aftn eboloxetar &v ioogoonia
Evtdg Dypod muxvémrog d;

Adowe: "Botw x 1 Cnrovpévy dwrle. "0 fEwtepunog dyxog tiig
g@aipng elvar Toog moog

o mlep
O dynog 10D xothov pégoug eiva : 5 nx

Tt = ; 5 = ; ke o]
O 3yxog toli whijgoug péoove Tig opaipug Va elvar:

4 4 :
a el == 3 Xt = 5 [(x+ ¢ —x9].
Td Bdpog tijz xoidng oguigug Fa eivow:
4
P= bal(xtor—x)].A

Td Bdpog 1ol mepiegouévor Dygod eival:

e e

NS S 3 G o
Kai 6 Syxog 1o éxvombopévov vypob elvan :
' 4
P'=— n(x-}¢°.d
3

‘H opaiga eﬁgumouévn 2v toopponiy #vrdg tob dypol murvdrntog

d’, #yel Pdoog ooy moog o Pripog Tob gutomibopévov Vypod:
PelRe—— R

3 Q ~ 2
Aviuadiotdveg Exopev

_%_ n [(x—}-e)"—-— x"):\A -+ —im nxid= —; n(x+e).d
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*EE atrfig AapPdvouev:
(xee)* (A—d)=x* (A—d)

; AT A—d
noil —

x'i A —(I'
£ O
= T \/ﬂ
% R A—d
D T £
£E ov X
A—d
T

14 1. Ado cuyrotvovoiivia xulivBorxd Soyela A xal B mepiéyouy
vdodoyvoov. "Ev 1@ doyelg A mpootideran Udmo, Gnep dmotehel oty
10 éxarootdv {ovg, eiva Ehuiov, droteholiy otidny 11,5 éxatootdv-
Znreital ©o Tog 1ol G8papydgov v td Boayiovt B Unepdvo tiig Eat
gavelag tiig Staywoiiovong 10 Hdwe dmod Tod 1doaoyvoov. TTukvdine 10T
pév H8oapyoov 13,6, 1ot 8¢ Eaiov 0,92,

Adoug : “H mieoig fiv Séyevan 1) Bmgdvew 109 B #) ebpioxopévn &l
tof 6otloveiov Emumédov el 8 elploxeton xal 6 dodoyvoos eig 10 A
slvol : p=c¢.h.13,6 8nov & 1 Emipdvewa, xal h 1o hpoc.

‘H nieowg, v déyeran 6 Hdpdpyveog elc tov owhijva A, elva :
p=¢.v.0924¢.v.1 Gmov v xal v ta yn.

e o = = ¥
L mMECELG OPIG OUTOL  ELVAL (oaL.

“Qore £.h.136=1¢.v.0,924¢.v.1
nal he.H3.6 = 1165092 08 —90) 68
20,68 7 .
= 5.6 = 1,0 éxatoordperou,

142, Ilofo eivor glg phidypopupe ®atd Tetoaymvindy Exorostd-
HeTQov, 1) mieoig éni tiic Ecwtepiriis Empaveiag Hdpoywyod cwlijvos
ovyxowvmvolvrog petd defapeviic, €ig Ty Omolav 1) Elevdépa Emipdveldt
tol Udatog etploneran elg tyog 20 pérowv dvadev tod anuelov Tol ow”

Mvog Eg° ol EEaoxeltan | nieoic ;
Adgig : P=nh. d
Aol p = 2000 X 1 = 2000 yoauudoia.
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1 4:. Ado ovyrowvovodvie Sogela xuhvdowa A xai Breguéyouy
bdodpyvoov. Td doyeiov A elvan whetotdv 8¢ EuBoléwe dveu Bdoovg,
10 0& B, &ni 0¥ Gmoiov Etédn Pdoog 1340 youppupiovy, elval dvouady.
Zmretran ol V6 elvan 4 dagope Tpove thv Emipavel®v ol dypol
gl ta Soyela ; Topd) 100 piv doyeiov A=12 terpuy. fx. 100 ¢ B=4
TETQ. £x. xal muAvétne 10D Bdoapyvoov = 13,6.

Adoig : “H mieog elg 10 dogeiov A nol nl i Bmupoveiog, Tue
Eglonetat elg t udrd Goldvriov EnineSov pé tiv Bmigpdveiay T0b Hdpnp-

Y0oov ol doyelov B, elvat P = &mp. X tpoc X €d. Pdo.
“Qote B=g >¢h < d
%ol P—12 X h X 13,6 = 1340
nol h = 8,2 éxarootdperoa.

144, Zdhud 1 #ge fdpog 40 yooppapiwy. To fdpoe toiito,Brav
10 o@pa evploxeral Bvrdg 10U Hdutog, @aiverar loov modg 22 yoapud-
Qu. ITotog elvan 6 dyxog tod sdiparog, xai wolov To eldinov Pdoog Tov ;
Adoig @ ‘0 dyrog 10d oduaros loobrat pui Ty dvoowy :

V = 40 — 22 = 18 xuf. éx.

] iy 40

Kaitd eldinov pdoog d = e 2522,

B4, Ztégavoc yovoodg Cuyilew 300 yoaupdown. "Emeld tndo-
&L Droyin Gr 6 yoveods 1ol ateqdvovu Tovtov dév elvan xudapds, GAAL
TEOUEyeL nol Goyvooy, O otépavog Euéln v Udatt wal ebpédy Ot tdte

g , N , Al s L o \
1aver Boapog toov moog 20 yoauudoLo. II&QLE,{EL’HQ{I Y€ dopyvoov, ol
Tola §) woadrng tob aspiegonévor Goyvgov ; Iluxyding tob uev yovood
195, <09 8¢ Goytgov 10,5.
b

Adgi; : "Eotwouy x 10 Pdoog ol yovood |, xal ¢ 10 ol doydpou,
L7} ’
UTwa wepiéyovran eig 1OV oté@avoy.

Tére : X = 300 (1)
‘H dvwowe sivar 20 #uf. éx.
Ex 100 twinov P = Vd edglovopev tov dyxov 10f yovool 1ol ore-

b4 s O s POl o P
cI""i\’(m = ——, KUl TOY OYXOV TOU UQYyUpOV, OOTIS elvol ——

19,5 10,5°
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£ i Ao 2re : — 90 9

Eyouev houwov Tty EElowoly : l‘l + ]0 5 =220 (2)

Adovreg 1o avornuea (1) xal (2), etoloxopey x = 195 ypuupdore
xot P = 10D youppdowa.

B A6G. PdBdoc #x yohrod CuylCe 9000 voauudoia gvToc 1ol AEp0G

Aol 799L vouppdowe #vidg toi Gdutoc. Ioim eiva | wurvéng tod
LahzoU | :

Adorg: P =9H000 7 = 9000 — 7990 = 1010

w= —% =01

v 3 &Y. Topd n Cuyiter 24 youppdow évidg TOU aépog wol
20 yoappdota Evrog o Gdarog. Ilalov elvar 1O paivopevindy fdpos
tov #vidg bypod muxvémrog 0,75

Adaug : "Oyxog 100 odparos 24 — 20 = 4.
Bdoos eig yguuuu@m wu surumwutvnu tyoot: 4 X 0,75=3.
Darvopevindv fdgog évidg ol Uygol : 24 — 3= 21

\ 148, Souipn reddvy &g Pagog 880 vouppdow, Tidepévn &V

H8utt Exer fdoog 620 youppdolo. Znteitan édv 1) o@oipa aitn gLvat
walky ) whiiong, yvwotod dvrog Gu f munvéing 1ol yahuod elvan 8,8

Aveug: 880 — 620 = 260 dvwoic.

*Oyxog Bxtomlopévov Hdutos 260 xuf. éx.

Rl P . 330 -
Ex 1ot tonov V= T 100 »uf. éx.

‘Bropévwg dyrog ogalpag 100 »uf: éx.

*Evtoe tob typol éxtonilel peyaleréoay wogdmra mog’ Goov glvat
& mpoynatikdg e Byrog. ‘Enopévos 1 ogaloa elvan xoihy. To xoldoY
g81 Bynov,

260 — 100 = 160 . &x.

1 £9. Spoipa i whativng Luyiter 20,86 yoouudoia elg tov &t"
oa, 19,86 vyoau. évidg Udarog, nai 19,36 yooupdola £vtog Sevino?
dtéoz. IMoton elvar al murvéinteg tiig mhativne xal 1ol Velixov UEEOC'

Adaus:
20 , 86

Avd v nhd ! e PN ) SRS o0
W Ty shduvav: d 50,86 —19.96 20, 86,
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3 SR LLCR0LB6 D BE .
Awd th detinov 080 : d'= 50 86 — 19 86 —l o

By, ‘H quevdme tof Yeodaoyipov elvar 7, xal 1 1ol youkrod
9. Tloiat moodtnreg Yevdupyvgou xal yxahnod moémet va Angddouy,
tva 28 adtdv oyxmuariodf npdpa Eov frgog 50 yoou. xal TurRvoTTa
8,2, (Aegbueda Guu 6 dynog tob xeduatog Ya elvan Toog ap0g 1O dVpoL-
Sl thy Jyxwv v U0 petdrhov).

Adaig: "Oyroe xodparog sive = 6,1 xf. &x.
Y W

Ho
3.2

"Eotwouy v wel x ol moodnreg elg yooupdoue tob Pevdapylpov
Hal tof govaoi. Tére:

y- =50 yoau. (1)
: P
Enfong & tod timov V= = Eyopey
' X e
{ 9

B 10 cvethuurtog 1y B Ewodoeny (1) xal (2) evploxopEy Tag
Tludg tol v xal X.

y=17,15 ol x=328b.

B0 . Mia oquioa xovea muvémnia 0,95 xal dyzov 100 xuff.
Rutoct. Amurhéel Enl tol P0utog Soyelov. "Eni todrov yiverar Ehaiov
“U‘rtvétnm" 0,9, ofitwsz dote v xadvpdf wehelog 1 opaipa. Ioiog
flvon § 2v T Ddan Syxog Ths nrpmga, 3

Adoig: "Eotwoay v xal v’ ol dyxou tiig ogaipag Eviog tob glaiov
i tof Hharog.

Tére Fgopsv v+ v =100.

X *Haione yvoordv S v.09 g+ v'.1.g=100 X 0,9 ¢
Ex vy 860 gElcdaEmy )\auﬁuvousv vE—50"

1332, “Evide foeidoli; cwhivog uerd 8to xataxopUgwy Poayd-
Yoy t{ferm mpdrov Hpdoyvoos nul elra €lg Tov Eva Tdy ['l@cqtovmv
o v tyodv. Al Ehevdepan Emipdveial ToU H6papyvoou xal 1ol Dypod
vay 107 utv modrov elg 17,5 Exatootd, 1ol ¢ devtéov eig 42 éno-
00t Gy dev tiic Siaywoilovong i byed Empavelag.  Znveivaw § wu-
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wvétng 1ol Sevréoov dyood, yvworod dvroc Bt 1 muxvdng Tol HHo”
ydpov slvar 13,6.

1 il
Adoig:  Elvar yvmotdv 11 T:— = %
17l X 17> 1'3.6
aQ & e e R O el ] £ 1 L —"':'—“L = X.
OTE 10 136 Hat 49 X

133. "Ev Argov Uypod muxvérnroc 1,66 Gvapvyvdetar werd
i 5 G ; S 2 5
toudv Aitpwy dhlov Dyeod murvérnrog 0,8. To dyodv piyno mapov

5 ol :
owdlel plav ovotoly xatd 1o ola elvar 1§ muxvding tov d ;

Adoig s “Ohmdg dynog plypatog dvev ovorodic elvar 4000 wup. &

*Oynog piyporos: % . 4000=3600 »vf. &x.

I'vooilopev Gt ) pila elvar duerdfinrog:
1000 X 1,56 4 3000 % 0,8 = 3600 X d
: wai d=1,1

III. AEPOZXTATIKH

:

B4, [Tolav Sdvapy 2Enoxel ) drpdopaion &l 1 tetpay. BE
100V, EVQLOXOMEVOL Elg THY ®opugny dpove, Evda t0 Papduperpov OEF
avier 70 éxavootd ; To g=9,81.

Adoeg : 10000 X 70 X 13,6 = 9520 yhdyoappuc.

135, Ilotov elvar 1o Hpog 3 otilng déoog, fitig elc Jeppoxne®
olay 0° xal Sn nleoww 76 Eacvel thv aduiy micow, fiv Eaonel oriMl
1 &xarooropérpov Hpaoyvpor ; “H muxvéie tod Géoog eic 0° xai 010
ateowy 76 elvon 0,001293.

Ao : 4 X 0,001293 X 981 = 1 X 13,6 X 981 xai y = 1061
EX0TOOTOUETON.
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L 36. IMotov dd Nro 10 Hpog tii drpocyaipag eiz Eva témoy, elc
OV Grotov to Paoduergov devist 76, &dv 6 dno elye muxvdmta oto-
Begay maveayol, ®al fdv to g dév perefdilero peta tof Tpoue ;

Adoug : % X 0,001293 =176 X 13,6
®al . % = T99381 éxarocrduston = 8 yikidpuetpa meplmov.

137 . ‘H duduerpog &vog Pupoustoxod swhijvog eivar 2 Exato-
StWpetou, § O diduerpog Tijg Aexdyvng 1ot fagopérpov eivar 4 Exato-
Tuerpa. Kota méoov 9 dvupolton f Emigdveia tob tdoagyipov &v
Wi dendvy, Srav 1o pugdugrgov wimey nora D plword ;

A 2 : 1 :
ddeeg: n X 1 X 0,6=rn (2°—1) y xai 1= Eratootéueron.
)

B8 . [Tole moérer va elvar 1) ywonuding évdg doyelov mepié-
1Oviog 3 yodupa aépog eig 0°, v & ano ovtog EEaonel nlecy BOO yody-
R el : il ok
'af”v eni Exdotov terpaywvikol fxaroctopétpov ; Iuxvding tol dGégog

0183,

Adbaig : ‘H wieoic tdv 500 yodupoy Tl TET00yOVROY Ex0T0oTs-
“;[;90\# tooduvapel mpdg xhdopo tig drpoogaiowiis méoemg Tooy mpog
00
lljés ITuptotdpey dia x v yowpnuxdra eg xuf. Exaroot. ‘O dne
UEOG gl v sieow tdv H00 yoou. =atd TETpUyWVLMOY Exatoot. Gu-
ey 3 YOUUUAQLOL.

500 L vl r
% % 0,0013 X 1083 = 3 BEob y=4161,7 xvf. &x.

VABY. Mata deolov xotahapfdver dmd wleow 14 &xatootop., oy-
“ov 646 »uf. &xoroor.ITolog & Syrog g Umd nieowv 16 Exarootopérpwy;

Adgug 646 X T4d=1y X 76 2E od y = 629 xvf. Exoroort.

LS. Mato aéoog titerar ahinhodiadiyws el 6o o@aipri do-
m“ Uarivov 2 xoi B Exarootdv. ITotog elval 6 Adyog thv mEGEWY TOD
f00g elg Tag dlo mepuTTdoELS ;

Ao - §n25p=§n{)“p'
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ned 151625
P

EG 1. Baoopstowmdg soliv, toudic 1 terpaymy. ExatooT. %ol €V
8 6ol 6 Hdordoyvoos edoloxeran elz (ipos 76 Exarootdv, zapovoLd-
Cew xevov ddhapoy wijxovg 10 Exarootdyv. Tloiog yroc V dépos moéme
v eloardfi elc tov xevdy Ddhapov Dxd mieoy 76 Exaroor®y, tva 1
8paoyvowdy oty méoy elz B0 Exatoetd ;

Adoig: 0 elooxdeic dne da #rp wlav mleow T6—5H0=26 , tnd
dyxov 10 - 26 = 36. “O Fyxog V adrod 1o aépoc 1o nileowy 16 ovps
@uwvel pe iy éEowowy : 26 X 36 =V X 76

%ol V=123 xufwmd Exarostducroa.

162, ZoMy whsotdg xavd © Ev dwoov xal neQ1éyov GEQLOY:
Buditerar Bvrdg Tl Ddpagyipov Aexdvne. Té déotoy xutehupfdver Hpos
10 &xatostivy, 6 8 Odpdoyvoos Fyer dvélder naza 15 Eravoord. Avd vt
APy 10 déorov mieory Tomv npdg Ty EEwTEQIHNY Arpooqoiptxiy, o
wer va fudioBi] 6 cwhiy ward 17 &xaroord #v 1@ Ddoapyvpwm. Told
slvan 1 drpooqaip TECLS |

:
Adoie © To thpog 100 deofov elvar 10 16 — 17 =8 &xaroor®”
pevoa, Gravtd thpog elvar 1o thiov Eomtepunidg ®al BEmTEQIndE :

10(H— 15)=8H xai = T7b.

163, T fapog 1ol swlijvog xlewotol navopéroov elvan 67,7 H’”
tOU‘tOu.thrI, U:ts(_)(wm ot G'T]LlEIO'U &lC il o‘rmlr:‘(q [} Uﬁ@u@ Vpog 1‘7'0
{onv nteowy T6 Exarostiv Bv td omhiive et 1 kendvy. (Empdven tf‘”
Hdpagydeov tic Aendvne alodnrde duerdflnroc). Yx0 molav miecty 8

Hdodoyvoog da avéldy elg 35,2 Exarootd ;

2 e £ s e q
Adoig : Equondtopsv tov vipov 1ol Mapidrrov elg 1o déguov 10V
WOVORETOLKOT omAfivog :

6T, 1 T6=(67,7 — 35,2) (H— 35,2) =i H=1935 Exato0T
*H nieowe xatd tevpayov. éxarootdy Od elvay

9 3
100 J?flo_a_ — 2630,07. 4 2630,07 X 981 Sivar.

LG 2. ‘0 Jyroc depoordrov meninpwpévoy St poraepiov givdt
1000 %vB. péroa xai i Shuad) nala tov (uerd thc Aépfov) elvar H00 27
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Méyooupe. TTdony walav Sdvatar 10 deedoratov vi avyroarioy ; Ilv-
nvdtng tob pév déoog 0,0013, tod d¢ porasplov 0,0000.

Adoug : H pale d fvdg xuB. Enaroor. Gégog elvan 0,0013 yoou-
wdowe, § pita d° &vdc xufuot péroov Ha elvar 1,3 pihidyouuna, xol 1
WGCa fvoe xuPol pérpov potacpiov potiotxod 0,5 yilidyouuna :

1,3 ¢ 10° — 0,5 X 10° — 5 X102 =3 X 10* § 300 phdyouuua.

1G5, Spaion xoihln weoéyovan déoa drd mieow 770 phiogridv,
moocupudletan Sud huipod petd otodplyyog e o Gvdaroy uépos tod
swhfjvoc Bagoufrooy Bdamoyvowod. O cwhiv tob Puoopdroov Exel
Topdy 2 tetoay. Exavoot. xal wixog 90 Exaroordy dvodev tiig Em-
Paveiug Tob Bdpaoyvony tie hexdvne. T orobeuwE dvoiveran xad” il
Styuy § Grospaioxh wlealg elvar 76 éxarootdv. ‘0 dne tiis ogui-
Qug lofpyeran tte sl 1OV fupopetpindy cwhiiva, 6 8 Udodoyvoog -
toyetan By tovtw offtwe Gote ) oviin elvow vilv pdvov 40-Exarosto.
Znteivan ) ywonuxdms e oqatooc. (‘H depuonpaoia brot{derar avo-
Jepo ward v didoxetny ot metpduatog).

Avoig: "Eq’ Soov 6 Buoow. cwhiy #yew Tipog 90 x., 6 dp 0 eloyo-
Ofioag #v adtd dvodev fx tic cpalpng 94 warehdfiy Syrov 14 wvfi.
fxar, (xevde ydoeog) - (T6—40) wuf. & Swdu firo T6 & wal Emeoe Elg
40, #row xardhaPe Syxov DO wuf. &x. Si6n 40 50 =190 &x.

AN Bredh 6 owAdv Eret touly 2 tetpay. fx. Eneran St 6 dio o-
g xaréhafe 50 X 2=100 xfP. éx. &v 1@ Bugoucrp. colijvi. *Edy
Mundv tov dyrov mod elgsv 6 4o (cpalone) modrepov maguor’owuey
bt x ®xuf. §x., THOA WOV GUYKOWWVEL UE TOV cwhijva ol Bagopéroov
Y& waréyy odrog : (100 4 x) wuf. &x. 5

Eioywofioavroc tob dépoc, #v 1 colijvi 6 B8odoyvoos &no 76 £ne
8y £l 1o 40, Exeton Bu § BEaoxndeloa nleoie (viowg) Do looTra medg
16—40=—=36 EXUTOGTO.

Téhog & tiv ebpedévioy, dyrov ol mécewg, ral #% 1ol timov

“‘VT = _p_ EYOUEY
i D

oo
(=r]

X

e b el T = 365100 1)
100 | x 7

-1

ol x = 77,8 wuP. &x 1) Cyrovpévn yoontdng.
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1 66. Ioiov slvar ©0 péyiotov o h, elg 10 Grotoy ddvara
va @iddoy dvidg olgpwvog Ev Dypdy muxvdtmrog 1,5, Orav 1j druocgat-
ouwxn) nieoig elvar 76 Exatoot@v; Eid. f. vdoupy. 13,6.

Avgic: h X 15 ="T6% 13,6 »ui h=689,066 Exatoot.

1 6'y. Bdooc m, tyoot A, 1ol 6moiov 1 munvéing eivan d, pi-
yvotal petd Bdpove 100—m Typod B, ol dmoiov 1 murvémg elvand’.
Ilola elvar §) Bewonuut) moxvitng A 1ob piypatos ;

"Avtt vé ebpedii 1) muxvdmg A, 1 edgedeioa muxvdtng melpapatindds
slvar K, avotéoa tiic A. Ilola elvan # ovotodd) ¢, & tiis miEewg tdv
dynov 1ol A xal B

Adagig : “Otav dév cupfalvy ovotohi, 6 dyxog tob piyuatog elvan
{gog mpog ©o ddpolopa Ty dyxwv tot A xai 1ot B.

m 100— i 1 00
d A A
100 dd’
BT A L S
f md'J-(100—m)d
“Orav ovuPaivy ovotod, 1§ Swagopd & petaty tod ddpoloparos
v Oyrov xal Tol dyxov tod plyparos, dnhadn N Ehdrrwoig tob Oy-
®OV, ELVOL
5 100 —m 100
o d’ K

Tov tomov totrov Suvdueda vi oy Hoopey dmd iy EEfg mopgiv:

1
5-—«111(—-— 100(1 —e—K—).

‘H ovotoMy ¢ eivar 6 Adyog tiie Elattdosng tol dyxov mpos 0
ddgotapa Ty OG0 piyvvopdvay Syxov. Zvvendg Exouey:
Sl YD 1 dd’ m 4 100 — m 100
T 100 md—-(100—m)d d d’ K
le. [locéine 160 wuf. &xat. aldégos, wlyvutan petd moooTn”
105 olvomveduatog, oUtwg Mote va dmotehest uiypa 200 xuf. Exato”
ot@v. Iapetnoddn Seu yoswdfoviar mpog tolto mepoodtepn TV 50
wofl. . olvomvevuutog, modypa Omep Oewevier Gul t piypo mapoxo”
Aovdsitar Grd cvorodiyv tod dyxov. Nd& tmoloyisdii fi cvstoky atvi
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Ihadly & Adyos tilg Rhatrdioeme tob dyxov moog 1o ddgoiopa v dvo
Hiyvuoudvay dyxmv, yvmorod dvrog BTt nia dukivy opaloa telotatal
2 513 A 2 , -3 T ~ l()’ 25 6 2 q ‘P lv| 5-
tveooy 22,4 yoaupaoimy #viog tol aldegog, 20,0 yoop. Eviog tov ot
vomvedpatoe, ol 24 yoapp. gveog 1ol hepfavopévov  piyparos.

Adoig: "Eotw 1 xuf. &xat. 6 Syrog 10l olvomveiparog 6 eloepys-
Uevoe vide tov 200 xuf. &x. ol piypatog, xol x 1) Inrovpévy ov-
SToM.

JO -n— 200
(1)

.)0 +n

*EE ddov 10 Bdpog tol piypazog looltar mpog 10 &dgotopz thHv
Bupdy tiv wiyvvoudvoy Gyodv. Kelobvees d, d’, d” tag munvdimrog
Ty §o tyodv xal tod ulynarog ELopev:

"Eyxopey ¢ e—

150 d 4 nd’ = 2004" (2)
“Ectw V 6 dyxog tiig vakivyg ogaloas.

s 22,4
Tote, V.d=224 g o0 d = S
i DS
Vd'= 25,6 & ob d ==

T 24

Vd'=24 g ov d'=—

*Avoadiordvees toe tndg d, d', d” els oy Elowow (2) hapfd-

150 X 224 | nX25,6 200 X24
il e e T
20024 — 150 X 22,4
nh e SR o G?—X = 56,25

Bdv dowpev oy npdy 00 n g thy éElowow (1), hapfdvopey
Y Tl ot x.
150 -} 56,25 — 200 _ 1
R RN On e
L GD. Aoysiov,ihpovg DO Exatootopétomy, nepiéyel GEoo Vo Thv
*vovudyy drposaigueay aleow. Oéropey dvodev 10 deglov lov) “Ev
'°5iﬁolov Bdoovg 100 xokdv, 20v) “Ev cro@dua Gdeceyioov tpovg 5
E"Clroatmv xod Bov) Stodpa Udarog T gxatootouétomv. ‘H voply tob
50151011 elvar 30 tevoay. fxarootd. Znrelrol E.LG Tolov onuetoy Y
Tanarijoy ©o Eupohov ;

8
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Avoic: To Bdoog tob Hdoaoydoov elval !
5 X 30 X 13,6 = 2040 ypapudoLa.
Td Bdpog tov Vdatog elvar :
7 % 30 =210 ypaupdoio.

Td ZuBokov Yo toplotarar émt g dvo Emipavelag tov mieawy Ohir

Wy 100 - 2,040 - 0,210 = 102,250 yhoyo.
“Exacrtov tetpay. Exatoat. thg émpavelag tov da déyeron nisow :
102, 250

*Eav rooactiioopey dud x o hpog el o 6molov arapord to Ep-
Bohov dvardlev tiig Pricewg toT doyelov, duvduedn vi elmwpey Gu G
dvrog-tob dépog maplatarae id B0, Grav i nleaig eivar 1033 youp.xard
teToay. fratoot. wol Sua x, Stav i mieowg elvon 1033 - 3408 = 4443
YOUIAL. KOTO TETQOY. EXOTOOTOV.

*Egopudlovies tov vépov toi Magidrrov Exopev:

50 X 1,033=x X 4,443
o o o Lioss
4,443

120, SolMyv toadnc peta dlo Pfoayidvov avicov Eyxst topnd
1 terpay. fxaroor. ‘O peyaldrepos Boaylwv elvar xheiotdg noi 6 p-
nobreog Gvowrtdg. ‘O Bapouetoirds ddhapog BI' prixovs 20 Exoxor
stonéromy meotéyet Gépa. H Sagpopd tdv Emgaveidv A B elg tods
860 Poaylovag elvon wéte 61 Exuvoorduperom. Xdvopev dua ol dvor
»tod Booyfovog 15 wuf. Exavoor. Hdoapyigov, xol i Srapopa v Emt
@aveldv yiveror 56 Exaroor. Na dmoloywdfi. lov) “H Swpood iV
gmupaveldy X xoi y ol Hdoaoyvoov elg tovg S0 Poayloves. 2ov).
“H &rpoogoiowkn wieoic.

— 11,6 éxavoorduerpa.

Adoig : "Eotw H 1) drposqapun wieois els éxarogtduerpa tpap
yégov. Eic thv mpdmv meolrtooww & dijo, 6 mepiegbuevog lg tov Po-
pouetpxdv Sdhapov, Fer Gyxov 20 wuf. &x. Dmd mieowy (H—61) &xor
TOOTOPETQY,

Eic tiv 2av meointmowy #yet dyxov (20 — v) xuB. #xavostd, 9md
atecy (H — 56) éxarootopéromy.

*Eqaopdtovrec tov vopov 1ol Mapidrrov Egouev :

20 (H — 61) = (20 — y) (H — 56) (1)
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To d@dpoiopa x 4y mapiord thv moodunra tol yudéviog Hdpag-
Ybpov.
‘Enopévog : x+y=1b 2)

At v Eqopev xai toltmy ogfoy f@aopdlousy el tov Ddodoyvoov
A ’ k] el ra
My meplntwow loopgoning t@v dyodv.

Aapfdvopey o Goildvrioy Eninedov o Sieoydpevov Sk 1o doyi-
%00 Hpovg A tod vdpuoytoov elg thv wixgdv Bouylova.

Avo aroyeia toa tod Emumnédov tovrov dplotaviae v aduv nle-
Oy, g

Syvendg : H4+x=H-—56+y-+61

nhadn : x—y=>5 3)

Ex 16v 2Eicdosny (2) %at (3) hopfdvopey :

Xi—1i0) wat y=05

AA’ =10 &xogroor. xol BB =05 &raroor.
Ly ~ . ~ 5 2 i %
Avrizahordpey iy nuiv ol vy sic iy Elowow (1) o Byouey:

20 (H — 61) =15 (H — 56)

xui H= —— = 76 éxatoorducron.
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17 L. ‘Evide Aendvig, meoieyovong H8odoyuvoov, Avaotoégouey
3%0 Soxuwaotinode cohiivag A xal B Suolove, Tpovg HO Exaroctopé-
tpwv. Obror fyxhelovey déoa xol 6 Bdpdoyugog tyolta elc pév Tov
A gic 0,40 péroa, iz 88 tov B €lc 0,30 néro. Mezayyilopev T aE-
olov B tod B elg © A. Znteival 6 Jyrxog woi A mizowg 100 Geolov
Zytde o0 donpaotino® cwhivos A petd 10 melpuna. ‘H Bapopetowxi
nleote elvan 750 phootduetoa. '

Avorg: Aot of cokijves Foval thy adwy topiy, duvduedu vit
avimutasticopey todg dyxove ik wdv dvristoizoy tpdv. Aapfdvov-
tec O ExarootéueTpoy Mg povdde pijxovs, Eropev otitw &vtdg 1ol A
Bywov 10 ind nlecwy 1D — 40 == 3b, Evidg to¥ B yxov 20 Umo mie-
awv 76— 30 = 45.

*Avapyviopey tag dvo deoubded wiCag Eviog Evog cohiiveg i
wol ot x 10 Upog ol dvegyopévou Bdpaoyiooy Enpoaldpevoy &ls
Snarootopetoa. O Byrog 1ol ulyparos Y& elvanr 50 —x xai 1 mieols
v 75 —x.

*EpuonéCovies tov vouov tiig uikewg tov deolov (VH =vh4-v'h’)
da Exopey :

(50 — x) (15 — x) = 10 X 35 + 20 X 45
Xt — 125 x - 2500 =0

"Eyouev otto dvo oilug :

A I (9} GOy -
X‘ = 120 ;M?_J = 100 x(i‘l. X“:; &)“2'—7—0 :25

“H oita x’ dév elvar dextdl, didtu §i i g eiva avotéoa Tol WijrovS
<07 Sompaotnod cwhijvos. “Qote udvn dextd) elvar 1 piu x”.

Td Geoddeg pivue 9¢ ratahdfy Eviog Tob doxipaotinod cwAves
uiixog 25 Exaroordperon. ‘H migoig EuEOUGUEY Elg Ty VUL’
yogov Do elval :

75 — 25 — b0 ExutooTOUETOO.
172, Spuowmdy deobotatov Cuyiler nevov 63,62 by e
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Mnpotiuey tofito §” 08poydvow, tol drolov o xufdv pérpov Cuyi-
Cet 100 ypaupdow. Znteltae 1 dvinportd Sdvape 100 depootdrov,
yvworod dvrog 6t 1O TETpUY@YVIROY péTooy TOT Vpdonutog Gmep oyn-
woariler ©0 meomdivppa  Coyiler 200 yooundowr, xal Ot pia Aroa dé-
oog CuyiCer 1,38 yoauu. vmd tde avviixag xal’ dg yivetow 1o melpapa.
: U P R ; ey (R

Adoig: ‘H #mpdvera 1ol @eoootdrov Ja elva 0.2 = 318 we-
oy, PETOM.

"Edv napaotioopey did R v dxriva toll degootdrov, Yo Epmuev:

4 x R* = 318
g R
€€ ov T 51dle UETQU.

‘0 dynog tol Gepootdrov Hidetar Vxd Tol TimOL
4 1 4)(3.1416)(12:_‘)_

ARE— =523,600 »vp. péroa.

g 3

Aot 1 Artoov &foog Cuyiler 1,33 yoau., 1 xufmov pérgov da
Quyity 1,330 phibyoanna, xal da #gouev it fdeog tol Exvomlops-
YOou @épog: ;

1,330 X 523,6 = 52,360 phdyoappa.

I dvoposod) Stvauts, fing elvar | Swwgoed ot fidpovg tod Exto-
mlopévor afpog, xal tol Mol fdgove 10T degoordrov (Géplov xal
Tepuwdhoppa) 96 elvae Ton mods

696,388 — (52,360 - 63,6) = 552,408 phidyoe.
N 3 7. To Paoopetoudy thpog elvan 76 elg v Pdowy tob avpyou
Atgel. TTotoy 96 elvae to Paoopetomdv Hpoc g thy xogueiy tob
Toyov, elc thpog 300 pérpwv ; [Tuxvdme tol dégog 0,0013.

Adous 1 "Eoto x 10 Hog tiis bdagyveuiis otiiing td Grolov icop-
Qomel lg 300 péroa agpog :

X X 13,6 X 981 = 30000 X 0,0013 X} 981 wxui x=2,87 &xaroor,

To Bugopetoundv fhpog eis Thy xopupiy da elvar @

76 — 2,87 = 73,13 &xatootéuetoa.
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1T 4. TO Bugopuetowdv Hipog elvar 76 fxarootdperoa. Tlola el-
vor 1) 2Eaoxovpnévn ateoig Ono thig drtnocpuipag émi tiig Emupaveiag tol
avioonivov odpatog, fug vmotideral 1,8 terpaymvind péroa ;

Adoec = 18000 X 76 X 13,6 X 981 — 18604800 X 981 divac.
‘H nizoig atey 9a elvor dvoréoa tdv 18000 yihioyodppwy.

17E. Iloie elval i monvéig Ehalov, Grep avupoltoa Bviog fa-
popeTood owhijvog i Uyog 11,68 pérpwv, dtov Mdpaoyvowmov (apd-
pergov TV otiypiv tavtny deviel 76 Exutootdpetoo ;

Adog d < 1168 — 13,6 >3 76 uai di= 0,885

B'76. Kora v xaraoxevty  Pagopéroov, 6 #v 1@ nudwdomnd
gwhijvt abtol ano Sév ENydn vehelwe. Ilaoarnendeione tiic 8oaoyv-
pwdic otihne ®ard tiva onypty, dvevpédn du 1 otihn atioy Exe Yyog
748 yihoordv. Katd v adriy otyury, 10 dndhomov pépoc 1ot ow-
Afivoc, 0 xevov Ddpapylooy, Eyxel uiixog 122 phwootdv.” Avelhniodn téie
éAiyoy 6 owhiv zul wugernendn Ot 1o pév Yog 1o Hdpapyvpoy xa-
téotn 790 phiootdv, 10 88 #evov Udpapylpov uégog tol swlijvog 141
ywhoot@v. Ilola lvar 1) drpoo@uipied) nieoig xatd thy otypnyv 1ol mee-
QUUUTOS

Avoeg 1 "Av napuotiicoyuey thy Inrovpévny wicow S H,8a Exopev:
(H — 748) 122 = (H — 750) 141
122H — 91256 =141 H — 10570
%ol H = 762,8 yphiootdpetpa.

15'%. Ilolav duriva mpémer v Exp ogooudy mepudluppa £
ahovuwviov, mdyxovs 3 yihwozopétpmy xai dnolltmg xevdy, Tva dbvarat
vie Totaron glg tov dépa glg 0° xal tnd aieowy 76 ; [vxvdrng dhovuiviov
gic 0° eivar 2,6 , 1) munvding tol Gépog gl 0° wal 76 elvor 0,001293.

Adoig: “Eotw R 1) &wregued) dntlg 1ol mepuolipparog, xal
1 1] dutic Tiig Bowtepixils xothdtnrog. Supng@dveg meog oV vouov TV
copdroy tov Pudopévoy Eviog devetdy, 10 Pdoog tiic xollng ogoipas
100 &houpviov elvar Toov mopdc tod Pooe tob Extomlopévou dépog :

f;- n (R’—r“) 2.6 X 981 = g- = R* X 0,001293 X 981

Ynoionoi}Bnke amé 1o ivetirouto ExkmaibeuTikrig MoMmikng



— 119 —

3
2,6—0,001293 25987 _t R—3
I TP TG R R

To R Ya Exgodleton eic yihiootdperoan,

1. “Ev depdorarov megiéyet 6 Mroag dEvydvov dmo mieowv 4
“drpocpatody. “Ev Settepov depdatatov Eywheler 4 Arpug dldtov Hmd
nieciv B drpos@apdv. Pégopsy eic ouyxowaviav ta ddo deodotata.
Iloto elva 9 Bhaotind) ddveg 1o plynarog, Stav 1 Seoporoaoio anol
Tom mod: v Goyumv Deopoxrpaciay ;

Adoig : H Ehootum Svvouig 1ol piypatog da elvan

F= bt mon s 4,4 drpoogaioag.
10

139, Aepdoratov 10 Arpwy, nhijeg dépog Umd dtpoo@oioL-
v wieawy 76 Coyiler 215 yoaupdowr. ITAfipeg dépos memeouévou eig 3
Frpoopuipne, Cuyilen 241 youppdowa. IMofa elvar ) muxvéing tob aépoc
g v nleowy 76

Adgee . Kard tov vépov tiic pifews @y deolov, 1 Stapopn TV
Bupdv nuowtd v pdlav t@v 10 Kitpwv dégog elg v nleowy i 2
drpocpaiodyv. Kard tov vépov 1ol Maguitrov # aURVOTIG TOV Elval
e Sto @opds peyahviéon 1) el Ty wleowy T6.

941 —215= 10000 X 2d =i d=0,0013.

180, [olacival § dvuporxn dvaug Evog Evlivou xuhivigov,
Budiouévou vede Udarog 20 Exarootopéromy Ypovg »al Sapérgov 10
< , " -

Snurooropérpoy ; [uxvdtng Edhov 0,6.

Adgee : ‘H avuvponud Stvaug elvat 1 Staopd petald 100 Pdpovg
0% Fwromlopévov Vdarog nui 1ol fdoovg tol Evkivov wudivdoov :

2 X 5° X 20 (1— 0,6) X 981 = 628,32 X 98L.

LTSE. ‘O ddhwog xdOBwv dc TVEVRATIXTS unyaviis Ege gwon-
Twdnte 4 Mrowv, kol f) aleois 100 dégoc gvtog avtol elvar 76 éxaro-

, S e ’ Toisns
otéperon. Tob xuhlivipov tiigdvrhlog Egoviog ywonTx0TNIQ 5 Mroag,

Totn 9a elvon f aleote Evidg 100 xddwvVog, xatdmy TECOEQWY Gvvpd-
Sty 1ol Eufoléws
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Avoue : e (4—43) X 76 — 47,12

A8, To povéustoov widg mvevpariniic pnyaviig dewviel D Exae
tootépetpa perd déna avupdoe; tol Euforémg. “H doyu) mieoig tob
; - A ; . AL o
rddwvog Mro T5. Tl da delly 0 pavoueroov xatdmy déna avupdosmy
10U Euforéwg ;

D G S N
Adowg 5_(R—§ C) X 15 €€ ot (R_{_C) — 15

o R-NXT;')— ]_ EX?‘"_I iy S
el G =\ b = 5z 100 &xatoctopétoov.

(3]

ES3. ‘O colny dvapoognuxiic Udoavrhiac Eyel piixoc 4 pérowv
nod toply 3 terpoy. éxaroordv. H toun tol xulivdpov tiic VdouvtAiog
glvar 200 terpay. éxatoot. lolov meénmer v elvar to Thpog toll  wuhiv:
doov, tva B pudg povne avvpwoems 10t Euforéws mlnowdf o Hoo-
toc 6 cwhiv ; ‘H druoogaipx) nicoig eivar 75 éxatootiv.

Adaig : “Eqappdélouey tov vépov 1ot Magidrrov elc i déorn 1o¥
avagoognTvol cwhijvoc.

400 X 8 X 75 X 13,6 = 200 h (15 X 13,6 — 400)
®ol h = 9,87 éxatootdpeton.

184. 0O x0hvdpoc dvaopopnuinilc Udpavriiac Exer  pixos
40 éxarootdv, 7 xatotéoa Pdog tol xukivbpov elvar 6 péroo dveo-
ey 1iig Empaveiog tol dvinpovpévov Hdutoe, ¥ 88 toud) 10 cwhijvog £

e < . " o
var 1o 7 tis Touiig 107 wullvdoov. ITotov 8a elvar 10 hpog tol TdaTos

gv 1@ owAivt ueta v dviyowow 1ot #ufoléwe ; “Atnoogaionn  wiE
oz 76 éxatoctdv.

Avoug: "Eotw S fjtopn) 1ol rubivioov. ‘O dyxoc 100 xvkiydoov £
Fey i - - 600 S
vou : 408. ‘O dyxog 100 owhijvog elvat 1—5* ‘Egaouétopey tov vé:

nov 1ot Mugiérrov eig tovs Ovo dyxovg tob Gépog ol GmOMEMOVE”

2z -~ ~ 5
uévov dvadlev 1is Emeaveias 1ol dvupovuévou Udatog, mod xal per®
v dvodov tob Zufdiov :

(H—x) [2 (00— 4 40 s) L e

D
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x* — x (H - 800) 4- 200 Hi— H = 76>¢13.6
nol x = 120,7 éxatootduerpa.

IS, Swpovioy xwhvdomoy hpovg 25 éxarostopérony, fudi-
Cevon wata 20 Exaroordpeton Eviog vdpapyvoov. Kielopev Sid ol da-
wtihov 10 Gvdtepov dxpov ToT cupoviov xal Edyopey avtd xadétmg &x
109 H8papyvoov. Iolov fpog xatohapfdver & Ddpdoyvpog Evidg Tob

’ o ’ e € 2, c k) 5 r L 3 Lo 8 -4
aupwviov, Stav madon 7 6o i H drwocqapu) mieolg elval 70

e o

Ao : "Eotw S § topun 108 argwviov. ‘O dnp 6 évidg tol olpm-
viov xatéyet Syrov 5 S el tiyv wleow T, wal dyxov (25—x) S eig iy
aizowy Th—x. "EgapudConey gig tov déou tolitov tov véuov Mapidrrou:

5 X 1= (20 — x) (Tb—x)

x?—100x 420 X 15 =0

%ol EAUTOCTOLETQOL.

ISG. ‘O dyxog 100 nddwvog aviilug degodhmtiniig elvar dexd-
nig peyahitepog tob dyxrov 1ol xukivioov tilg dvrhuc. Katdmy adcwv
-] ~ 2 ~ 27 ~ ’ A ’
Gvupdhoemy 100 Eufdhov 1 aleoig 1ol Géoog Tol rwdwvog U yivy di-

l ’ ~ A ~ 3
TAUGLC T1)G EEWTEQLHIG TETEWS |
Avoig :

pa f Py Ig—c F e |

18'Y. Sopd n tidetar txd wov rodwva degavidies. H doyu
nigoig elvar 76 Exoarootdpetoa. Mevg &do avupdoelg Tl EuPdlov §
nigoie yiveran 19 xatoor. Holog elvar 6 dyxog 100 odpatog; "Oyxog
108 xdhdovog elvar 2 Mvgar. “Oyxog ol xwhivigov avrhiag, 1 Airga.
A “Eorw v § dyrog 100 adRatog.

Tére: 19 =176 ( i:j:—_—l)q zai v=—1 Alrou,

188, Kidov depaviMag dvev Emlnuiov yoontmdmrog, Eel
Syxoy wdc Mroag. Meta dbo dvupdoeg tod Eufolov 1) Elaotun) §¢-
Yaug 1ol meguegouévov Eviog 10T xdwvog dfoog petafdilera dxo 80
E"“"OGTOHE'I:QU( glc 20 Exaroot. "EmavelapPdvopsv 1o meloapa ool
Elcquymuw #ytdg 10l vhdwvog odpa ayvdotov Jyrov.Metd 8o dvu-
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Wdoewe ol dpfohov ebplonopey Gr 1 doyxd) nieoig 80 Exavootdueton
anéfn b Enwrootdperoa. Ilolog 6 Fyxoc 10 cwpartog;

Avgeg : “H fhactxd ddvauig 1ol Géoog Bvrdg tol xddwvog depuv-
thiog, elval petd n dvnpaoeg ™l Eufidhou :

R n
= IIu e g
- (=)

fmov R 6 dynoc 1ol nddwvog, xui V 6 Syxog tod xvhivioov. "Egoe-
wdlovreg tov dva timov Eyouev

: 1 :
(1) 20=80 (ﬁ,) dgpod 6 dyxog tol ndhdwvog eiva 1 Aitpo
TV

Haptotippey St x tov dyrov tod cdparog dmep elofiide xard
Sedrepov melpapa’ 6 Gyrog ovrog Hmotlderar Eunepououévog eig Arpas:

‘H ywontnéne 1od xddwvog tére elvar 1 — x xal 6 Tdiog timos
gpuopoldpevos didet !

@  5=80( tiv)"

Al Eodoeg (1) rai (2) drlomootpeval yivovear :

1W4(1+v)2
15 (_1—_—;—1_3)

*EEdyoviee thy tetpay. oilav fxdotov pélovg t@v EEomoewmy 407
, .
WEV : L1 )(
}..
=1
X — X + v
9 T 2
&8 ov Bl 0,66 Alrpog.

189, ‘0 2pPoleds dvapoognrinilg OdoavrMag ¥xer Topdy 3
toay. Sexaropérowv. ‘H dwadoopt) tov slvar 1 pérpov. ‘H toun 100
5 2 o e Rt e e -
avappopitizod cwhijvos slvar 1o 5P Tiig Topiig 10U xuhivdpuu tiig HdeY
tMog. Totov moéner va elvaw t Thpog tol Gvaopognixod cwAives
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v perd oy wpdny dvipoowy 100 duPoléwg 10 U8we @ddoy Evedg
WU xuhivipov 1 Bdpavthiag; H druoogpaiguny nieowg 1 EEaoxnovpévy
&ml 1 terpay. fxatoor, elvon 1,038 yhibyoupmpa.

Adorg: "Eoto x 10 pfirog 1ol dvopoognuixod cwhivoc eig dexa-
touerga. O mepeyduevog aip 8vios tol dvappognunol coMijvog xata-
) ’ siai S s 3 X ay o ’
hapfdver nat” apyag Gyxov 15 * :“4—?.11@&;, ond micoww 1,033 yu-
Méyp. wort terpay. fxaroot. Mevd thy modony dvihpooty 1od 2uporéme
0 Gno odrog wutéyer Gyrov 30 Altpwy Hnd misowv (1,033 —0,01) ju-
Méyo. nutd tetpay. Exrat,

*Egapudtovreg tov vopov 10t Magiérrov # :

‘ 3 YOUEV :

4} % 1,083 = 30 (1,083 — 0,01 x)

wol  x = 68,9 dnhady 6,89 péroa.

OO, ‘H Sudperpog 1ol »whivBpov depavidag elvar 6 &xuto-
9Tdperpa xai to o 20 Exatootd. To Goov tol xevol Gnep dlvatal
v Emirevydf elvae 1 ghiootdupergoy v8pupyvpov. Znrelrar 6 dynos tiig
EthC’r]u.i(ru ywontxdmroe, xaf, drondendvng dnolitwg Gpiloviiov tijg
Ratwtépae Smqaveiag 1ol ®ulivigov tilg depavrilag, xoi ths xdtw mi-
Povelag 10l dufdlov, vi ebpedf to thpog tiig amiing tol dégog Eviog
g Emlnuiov ywonundrnrog. ‘H wreoud) nisog elvar 76 Exaroord-
Uerpa Hdpapydoov xatd Ty duipxelay Tol RELQAUUTOS.

Adorg: *Aqob f depuvidia dtv dlvatul va maoaydyy #evov, 6 ane
6 &vidg tiic EmEnulov ywonrudmrog, el vy drpospuiowiy nieoty, dro-
®1G piov Saotxdy dvvapy Tony medg Exelvny toi) Géoog tod xddwvog
Sray § 2ufolevg elvar Bvieddg Uwpévos Eviog tob xwhivdgou tijg Ge-
Cavidine. “Eotw howdv v 6 dyxog tiig éminuiov yoenuxdmros. Kara
v vépov tot Magiérrov Eopev

v X T60i=n X 31 2205010
38,1416 X 180

8 00 @ ve= 2 " — (0,744 xwfwa Exatoor.
760 1

‘0 Jynog ovrog elvar dyxog wulkivigov thpovg h xal topfig mrt.

e T 20 e

Eropévog : X3 X h= l—%i
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20 .
€ od = 760 — 0,026 éxatootdnero.

191 . *Evidg doyelov, yopntudmrog 2 Mrowv nal #1dn winoovs
Geolov, Bmd mieow lonv meds tv EEmreowny, ﬂé? £l TIC VO OUPTURVEOO]
aépu 17 Pondeiq usooﬂhmlmlg pnyaviie, tig 6molag 6 xUhvdpog Exet
dyrov 0,25 Alvoae.’O anp oltog Aupfdveran éx tijg drpoogaipag, g 1
mieoic slvan 16 éwotootdpeton. Na dmoloyiodfi i nleoig Evidg 1ol dor
yelov perd 80 dvupdioels toD 2uforéwe thig umyavitg. ‘H aleoig abinl
da 2ngpodteron ge phdyoapne. H muwvdmg tof Hdpapyioov glvat
13,6.

Adoig : Eic éxdomy avipooy t0d Enforéac elofilde Evidg 1ol
Soyelov pia pila déoog, fitig wutéhafe doyuds dyxov 0,25 om0 wieoty
1 Gruoop. Karalopfdver #veog tod Soxelov tov dyxov 2 Aitowy 0
ateow p, Sidopévny Umd 1ol vdpov toi Magidrtov :

0,25 5> 15=2n,
0,25

g ol P
- P1 9

Katt 1oy véuov tiic wikeme té@v dsotov § aiegic alitn mpooridertt
elc v Goyudv wieawy Tol deofov Tob Eyxexdewsuévou Evidg o doyelov:
“Qote werd plav Gvipoowy 100 dufdhov, §i aieois el drpooguiodt
igoltal : '

i 020
== o ATROOPOo .
Eic o téhoc tdv 30 dvvpdoeny ol ufdéhov 1 nirec da elvat !

2 X O < — 4,75 Gruooq.

Lo}

Atd vé Bropey thy mieowy tavty g phibyoappa xotd tetpay. 40
To0t. fxpodtopey nat’ Goyds el yhibyoapua Ty Ty tiic GTi. i
sewe. Afin iooduvapsi meog 1o PBdoog otiikng Bdoapyipov topdlg 1 ¢
Toay, &xat. rol Tpovg T6 Exar.

“Hrou : 76 X 13,6 = 1033,6 youupdora.
‘Erxouévac 4,75 drpoop. leoduvapodol modg 1,0336 whoye. X 4,7
= 4,906 pldyounu.
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IV.  EPMOTHZX

A’. OEPMOKPAZIA KAI AIASTOAH TON EQMATQN

192, Eic noiav deoponpusioy ti deoudperon Pugevdit noi Kel-
glov Sewvdouy tov adtdv fududy ;

Adoie : "Eoto ¢ 10 pirog i dupfoewg  elg Ty #hinexa Kel-
olov, wet I TO wiwog wic dwnpéoene eig My xMpaxa Dogevdir. Ila-
Olotdvovree it x tov Goududy Tdv Seevvopévov fodudv il Ty dio
®hudxmy, xal Bxpodlovies G o piixog 0 mepihaufovépevoy peTaby
W7 pundevds rai tob Emmwédov tol Ddgapyvpov elval to avrd Eml TV
&0 whipdnwv (Suvdueda vé ta Smodécwuey), Exouev

xe = (x —32) i
*EE diov yvwoiCopev 100 ¢ = 180 f
Awpodveee nord péhy Eopev : % == X—;’,? ‘.
& ol x = —40°

L 9:3. Na noocdooisdij i Heouoxpuoio S v omolav 6 doud-
Wog tdy Sewevuopévay fududv o Yeopouéroov toi Keholov elva
o uéooz Gooc 1@y Sodéviay dordudy G TV S0 Veouonéromv Pew-
Wigoy nai Pupevdit. ¥

Avoig : “Eorw x 1 dsonoxpasia w0d Keholov 1) dvtamoxgvouévy
BiS 1) wodPAnpa. “H Evdeikig f) dvrotoiygolion gig 10 deopdperpov Peo-

) 4 ; = i o 15
Wigou 9o elvar — x, woi A dvuiotooloa elg to 100 Qagevdic 5 X
) ¢
02

Katd 0 modPnpa 9 Egouey :

Te = Ti-g_’l;]_ E x n I e S
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T g
i % x+32

¥ 160
Hnoil = — 0 == —

3

To Yeopdueroov  Peopdoov da deify :

1
3
Kot © deoudperpov Qupevdis :

9

1 ] —
= e oD e
533X573- 64°.

ot
[+
-4
o] =

12
X"‘“—‘_42§

)

=

— b3

1D L. Kuhvdowdg cwhiyv Gdhwvoe, #helotds xatd 10 zetdtepov
dxpov Tov Eyxew pijog 1 pérpov. Ioiov tyoe Gdpapylioon el 0° moé-
mee va glpopey, Tva, ipovpévng tilg Jeopoxpaciog, o Sidotnue  pes
10 tig 200V @iig Tol swhijvog xal toli #évrgou Pdoove tiic HSpapyv:
ouilg pilng mopapévy oradepdy ;

- S des il e 1 L3
O ocvvrehestng tiig xuBurdic Siaotohfic tig Ddhov slvon SFI00" Kai
i

0 ouvteheots tiig ®uBuiis dlaorohilc tob H8pupydoov m b

Adowg: Muprordpey dia x 10 roavahaufuvépevoy oz Omd tod
vdoaoylpov eig 0° .uai Sid y 10 nutehappavépevov tpos ©ad 1ol
dpapyvpov gl plav oiavdiimore depporpuotay t. Awi 1 tov cvviehe
othy g yoauwxiis Swaorodfic vig Udhov. Kard o mpdBlnue 9
EYOUEY :

X | ¥
100 — 5 == 100 (1-+-1t) — g (1)

Aw va mpoodoplompey 10 y magatneoliney Gt elg t° 6 Syxog 100
Bdpupyvgov glvay :

er A ~ ~ 3
S(14+21t) vy amov S 1 topd) 1ol cwhijvog , 21 6 xav

3 A -~ [T o
Emipdvelay ovvieheotng tod ddhov. "EE @hov , 6 Syxoe obrog Suvaral

v Exppoacdf xal dg &g :
Sx(l -4 mt)
B obd y(1+21t)=x(1+mt) (2)
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3 RS m t S ; c
wai ¥y =x T X [1—;— (m_zl) t }

“Avixadordpey Ty ity tadmy i Ty Eloopev (1) zal Egousy:

100— 5= 100(1+1t) -3 {1-{—(111-—2]) ¢ }
X
0=1001t —5 (m H2])t (3)
‘H U;(édlg abt meéne vo Ogiotatay, oladimote xal dv elvar 1T

Tiig Deppoxpaciog t.

Yrodétovieg t = 1 da Eyouey :

0 =100 1— X (m—21)

. 2001

5
&g OV e

ure

m—21

LD, Bagouetoudv tpog 75,5 el depponoasiov 15°, va ava-
19 g deoponoasiav 0°.

Adaug:

1 96G. "Evidg napivon, tiig 6moiag Inrotuey v deopoxoasiay,
ﬁErUl-lEv pdfdov petaliiviy Erovoav elg 0° pixog 1,10 pérpa. To pij-
*0¢ tiig pdfdov yiveraw 1,107 péroa. Ilofa elvae 5§ Deopoxoasia tiig
"ﬂuivpu; Suvvieheotls Saorohflz perdilov 0,000012.

Ao : 1,107 = 1,10 (1 --0,000012t)

AOLER =5 30253

19¥. Katd ndoov perafdiieror 1o wiwog odnods odfdov ui-

05 1000 pérowv €ic 0°, Grav % deopoxoasie petafdietar dmd 00 ele

40°§ ‘O ouvieheoti)c tiic youumiafis Sweotodiis w0l cidijoov Elvan

0000013,
Adgug:
1000 (1 + 40 X 0,000012) — 1000 = 0,48 péroa
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198, Spaipn odnod dwpétoov 5,01 Exarootdv elg 0° tomo-
Jeteiran 2ml daxtulov Ex pevduoyvgov D fxatootdv Siauéroov. Eig
moiav Jeononpacsiay M cpaipa & Siédn dia tof Suxtvdov ; Bvvie-
Aeotie Sustohiis Pevdaoyioov 0,000031.

Adoig:

5,01 (14-0,0000118 t)=>5 (14-0,00C081 t)
xal - t=104°27.

199, Kuhvipwde cwhiy ddhvos wirovg 1 péroou wol duapé-
toov 2 Exatootdv el Deguoxonsiny 0° mepiéyer Ddpdpyvoov uégor wi:
wovg 0,95 pérpwv. Eig molay depuonpuctav da elvar GAdxhnoos 6 co-

A ’ A 1 ~ . ~ € r ]
Ay mhiong ; Suvieheotig nuPufig Swaotodiic tiic vdhov o= .
: ; 38700

Avoig: ‘O Jyxog o Hdouoyvgov el 0° elvar : w X 1 XX 95,

‘H ywonrmdtng 109 cwhijvog glg 0°elvar 1 w31 X100,

Eic iy deoponpusiov x -

X 1X95 ( 1o O_D%)z nx1x100(1+§§ﬁ))
nal x=—344°

200. ‘H muxvéme ot doyigov elvon 10,31 gig 0°. O cuvrehe-
ot tiic xoPudle durotodiiz tov elvar 0,000068. Na evgedf # mv-
wvoTne tov eig 150%

Adaoig:

he 2, TuDs
1T 1 +0,000058 % 150
201 . ‘H auvéng o 9douoyvou eivan 13,6 elg 0°. ITola

=10,22.

1
o ic 0 ). e U e
munvoTng o elg 20 vviek, Sieotohiis vOpooy FBEG
s 13,6 o
Avorc:rd i — —_-QO—— — 13581,
" BBH0

£ : o ’ 1 :
LO2. EoMy deopopérpov Eygl dudpeTooy 10 100 yihioctopérpov-

To Soyeiov tol Yeopopérgou elvar nuhivdowmdv xai #gew hpoe 1 Exato”
otov #ot axtiva 2 phootouétpmy. Ilolov elvar 10 pijxog tod Bad ol
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i e 00 100 \ 100
A”“"‘"(Eﬁﬁ"‘ﬁgﬂb)“IM)“(1+ﬁﬁﬂm)

N s ]y
V.,:n(-f—(-)) X1 xal Ul,=n(m)))(x

wol x =025 4 2.5 phwotdueroa.

LB Ocondperpov 0doaoyvokov fudiopévoy Ghdxinoov Evrog
< = ’ ~ - s hY
Uypol deoponpuciag oradepds dewwvier 95°. ITolav deppoxpuciav da
dalEp, fdv Pudiodf wdvov 1o doygelov xal T wdrw pégog tol orehéyoug
100 Jepuopéroov péyor tob Padpod 6° 5 T Ewregwd Jeppoxpncio
elvay 120,

Adoie : Tlaparnoofipey Gew 1o 95 elvar Toov modg tov Tyrovusvov
outpov oy v petafodf ol Gyxov fiv devdovasl (x — 6) Swofosig
nd 120 gl 95°,

‘Emropévig Eoney tv oxfow :

s v 1 1 i ‘
9 =x -+ (x —0) (ﬁ - 38706) (95 — 12).

wolk x=—=93.72.

5
Q
@

LD 4. Ocoudueroov Keholow Budilerar #viog Dyood péyor tod
Baduot 25. *O 6dodoyvooe dvéoyerar péxol tob Budpod 110. Ilotov
Badpdy 9 Selen 1o Deondperoov totito, v Pudicdii dvide deouod
yood néyor tol mimédov dmov otapard & vdodoyvoos ; ‘H BEwregun)

€guoxpactia elvar 19°,

Adeec - To pépoz tol orehéyove 10 meothapfoaviuevov perald tod
Badpod 25 nai o Baduot 110 mpémee va Deopoavdf dmd 15° elg x°.
0 Udodoyupos xal 1) vudog Gwaorélhoviar. ‘O @gudude tov fadudv
X dideran Umo thig EEodoswg:

1 1 2
Ml 4 el T (T e L
x = 110 -+ (110 — 25) (5550 38700) (x — 1)
ol x=111°26
OB, Tdpa otepedv fmimhéer Evedg Oyood deguongasiag 0°, xal

3 2 S e A < L
0 tepdyiov todi Puthonévou §rov elvae T T 6hxo® Syrov 109

” ’ {4 ~
®paroz, “H Yepuoxgaota tob Hyeol dvéoysron el 20° xal 1o odua
Vet mhfjoms Bvidg tod Dyeod. ‘O ouviehestig Siaotodiis Tol ore-
9
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peov odparog K eivar 0,0000026. N edoedf) 6 drndlutog ovvrehectic
Siaotolie Tob vypoT.

Adoig: "Eotw V, 6 dynog 1ol ompoaros eig 0%, P 10 Bdpog tov,
d, 1 murvétng Tov Yypov elc 0°. Kard 10 mpdfinuae 6 dyrog tol £xro-

- LYy 93

mlopévou Uypol eic 0° b0 100 cdupatog eival 100 Vo

Ei¢ v degpoxpaciov todtmv 10 Bdoog 10T oduatog eival Loov

c 0 7 3 natog

mpog 10 Pdoog ol Extomilopévou typod (suvdxn loopgomiog Bmindedy-
TOV oOUATOY).

98
(1) P=— o5 Vo Do-

Eig 25° 6 dyrog 1ot eduaroc ylverar VO (1 - 2H%).

Eig 259 §) munvdtne 1ol yood yiverau omov x 6 {mrov-

_.dﬂ S
1 | 25x
LEVOS ouVTELEOTTG dtootolic. :

‘H doyh tov Emmdedviov copdtov, g v depnoxoasiov ot
v da pag ddoy :

) P=V, (1 4 25x). —

?)

*Ex thv Ewdoswv (1) xal (2) 2Edyouey :

L o d
i ] e S Y e )
o \u(l,?)y ) —

%ol 1(2)?) I jg;j xal  x=0,00084.

2206. Eig évo témov dnov 6 adno elvon Enpodg xot 1 Deppono”
olo 15°, perpoluev did navdvog piy Sworehlopévou 1o Pugouerpind?
tpoe, #oi edplonopey 725 yihootoperpa. Znreitar lov. Ilolov Ha A0
t0 {pog ol Ddoapyvgov elg 0°, 10 6moiov da Euérpa v admiy nieotV
20v, TTofa Do elvar § véa avdyvoois 211 1ol xovévog Srav e S
on nig xaraxoplpug 10 Pupduetooy el Tpog D pétpwy ;

Zuvredeotig dtaatoh. Vdoaoyigov 0,00018

> » aépog 0,00366
IMuxvéing 080apyvgov &ig 0° 13,6
Bdoog AMroag @éoog 1,293 yoau.
Aderg: O vinog tiig Pugopetowiic Sopddoeme elvar

A 2 % %
H,=H TR Gmov A 6 ouvieleotig tig yoaumxkiic Swugrodile 1OV
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navdvog, m 6 cvvtedeothe the ®uf. Siaet. tod Bdoaoyvpov. TAvuixa-
Dordvreg £ig oV dvo timov Eopev:
1

1-1-0,00018 %15

2ov. Td Hyog 1o tpovpévou Hdouoyigou de elvut dhiydteoov Stav
i ec $ypoc b uérpov. ‘H Editooig toll fopoperpod Tipoug da
glvae Tom mode 10 Upog omiing Bdoaoyigou elg 15°, xavilg vi icoppo-
aioy wiav oty ééooc 10 pérpwy thpovs ele ey adely depnoxpaciay,
A%y Sideton o tiig xaretéom odosng cvpgdvog modz Ty do-
My Thy cvyrovovolviey dozelmv :

hene 0,0001293 ! 13,6
5000 1-+0,0086615 ~ 1--0,00018 %15
*Exteholvree tac modfeig haufdvopey : h = 0,45 yihootdpu.
To Baooueromdy thpog 10 maparnondey da elva

H,= 125X =723,04 yhwootdueroa.

725 — 0,456 — 724,55 yphootdperon,

27 . Ao odfdor, §i pia 35 vdhov, nui §) fréoa Ex yohrod, Erovu-
oy gl dsopoxpaaiay 0° t adtd pijxos 4 pérpwv. Oegpoalvoney du-
Poréoug elc Ty adtly deoponoasioy. ‘T Swagopd thv unxdv  elvan
thoa 0,004 pérow. Na mooodopadi, § deouoxgacia uéror g
Omoiaz 2deoudvimoay, xal § ogerd) muinuvels Ty,

Suveed. yoau Swot, e tdhov 0,000013782.

» » » 10U yalo® 0,000017182.

Avowg: “Eorm 1 10 piinog tig dadivng odfdov, I 10 uirog tig éx
Ladxod el t,. Kaléowpey d v Swapoodv 1 — 1" t@v 8o pdfdov &g t,.
"Eyopev : 1=1, (14-1t)
®al I'=1, (1 -} \t) .
£ oh l—lI'=d=1t(A—1)
d
'Baouév oyt e S
TOUEVEG t =T
"Avuxohordvreg S t@v doudy Egousy
0,004 e
= —— _—__— — (2R

4 ¢ 0,0000016

H aiitnoig tiic dativne edfdov elvarl — 1y, xal deod 1=1, (1-}-At),
LI ETIUUVOLS abtn elval:

1—1, =1, M =4X625X0,000018782 = 0,046955 n.
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‘H 2rwuinuvolg thg yoaduivng 6dpdov elvan 1'—1°, da elva

I'—1, =1, Xt =4 X 625 X 0,000017182 =0,042955.

2LOS. O dyroc 6 xarahapfavépevog petafd 1@V yooauudy 0 xol
100 fzopouétpov Tivdg nerd orehégovg &g 0°, elvan 5 wvf. whootd-
usrpa. Zntettar v drrodkoyiotii & dyxog tot doyelov tol Jeopouiroov,
yWooTod viog §uu 6 ovviekestiig Tiic Grohitov Suaatodiiz Tol Bhomoy-
gov elvar 0,00018, xcl Gu 6 ouviekeothg tiig xufudi diaotohiig tig
Bdhov glvan 0,000024. ;

Adgie : “Eoro V xuf. phootduetge 6 Gyrog 1ol doyelov néyo
107 0 tiic Sapfoewe. ‘O bdodoyvpos eig 0° natalapfdver TOV Hyxov
V, nai elg 100° 96 xaroddfy dyxov : i

V (1 - 100 X 0,00018).

‘0 dynoc obrog elvan éxlong dyrog tol Degpouéroov péyol tol on-
uelov 100 eic v deouoroasiov tdv 100°. "EE dilov 6 dyrog ol me-
oexopévor eig 100° elvan : i

(V 4-5) (14300 X 0,000024).
Todpopey v iodura @ "Oyrog nepiézovios = "Oyrov mepiegopévov :
(V-5)(1-+00024) =V (140,018) .

En tic #Elodoewg tavmg Edyopev V= 321 wuf. yhoot.
B. AIAZTOAH TL’!N AEPION. IIYKNOTHE TQN AEPIQN.

L20P. Ei; molav deouoxoasiav woéner va deoudvy tig plav pa-
Tav Gepfov &ig 0°, tva 6 dyrog tou Simhaoiact{ ;

Adsic : “Eav V, elvon 6 dyxog "tob deolov eig 0°, eig thv Inrov-
uévny deouoxpuoiay x & Exwpey :

£ ; %
2v,=V, (143555 )
nol Xee=oa
LA 0. ‘O dynoc ndlnc Geotov sig 15° elvar 400 xufuri Exatooté-
peroa. Eic sofav degporgaciav 6 dyroc 8d yivy 500 xuB. Exarostd-
peTpa, Ths méoswg diarnoovuévg oradepds ;
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Adgig : O Gyxor elvar dvdhoyor tév dwvinwy tig Swotoliis.

e S
—_—_ nol t — 87
0 15

273

28 B. 15 Mrom dfoog Wigoviar dmd 27° lg 7°. Ilola elvau 4

. i
Ehdrtoolg tob Gyrov Twv |

27 7
” 5 et & e ] —V _l___....
Adaeg : Var =V, (1 i 273) = Vs (] 273)

‘H Ehdrrwoig elvaun wdg Moo,

2 H 2. Jgaipa dakivn Byxheler 2 Mroug davioaxwwod deplov, 1
Yeoporoactad elvar 20° xal 1) mieaic 76 éxatoorduetpo Vdouoyvgou.
Oeoputvousy v opaipuy gl 2200 xal dpivopey vi guyrowvavioy petd
iz drpocpalong. N mpoodiopiadf 1o Bdoog tob deplov, ©d 6motov Ha
duaplyy B tiig opaipag. Suvieleotie yoau. tiig vdhov A=0,0000087,
Turvdtng tol aeofov 1,0, ovvteheotic diaotohiic 1ol deglov a =
0,00367.

Avoic : "Eoro M 1 pala to? deplov mpd 1ol meipduarog, xal M’
N nila to® Gepiov Stav dvoltwpey v ogaioav. "H pale x tob &ep-
10uévou Geptov da elvar M — M.
__ VdaH
T 76 (1 - at)

s 951,551,298 %76
EYOUEY M= X ')Xﬂ ﬁ__Xt

76 (1 420 X 0,00367)

*Ex tob tinov N

Eig 2209, § véoc dyrog tiig Ddhov elva:

o (1+220%)

T 20x A alodntdg 2 (14200 %)

Dvopitopey 61 6 ovvieheorng tiig xufunile diaotoriis elvar toumhd-
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o10¢ tob ouvieheotob thg yoorpudic daotodiic. H pdla tob deplov 1
diauévovoa Bviog thg o@uipug elval GUVETOG:
- 201 200X3X0,0000087) X151, 293X 76
=70 T6(1 -22030,00367) .
Kol 2redny x elvar toov mpog M — M’ Exopev:
1 1-4-0,00522 J

— BX1,298 | ————__ —
=il ok ’3[1+20xo.003u7 1+220%0,00367

®xal  x = 1,45 ypappdoia.

21 3.I'vooilousv Gu 6 drpoospaiods dfo draredeivon &8 79°/,
dtchrov xal 21°/, dgvydvov.Na imodoyiadi Lov. ‘H alecig, tiv omolav
Ewaotov TV iy tovtov SEaoxel dvidg widg Mroug dégog. 2ov. Td
ogetoed Tov Pdon eic oy 1Hov tolitov dyxov, yvwetod dviog Guu 7 oyé-
oic 1ol Bdoovg m Tig Mroag aldrov mpog t Pdoog m’ tiig Mroag ofv-

ydvou elvat ,wol Bt 10 Pdpog the Mroug tol dégog eivar 1,293

1
16
yoaupdota.
Avoig: To mpdrov Eodtnua Satvmoltar xal g EEfig: "Avauy-
viopev T90 wup. éxar. aldtov elg myv mleowy 76 perd 210 xuf. &xar.
dEvydvou eig v adtly mieow' 6 dyxog yiveron téte Toog mpog uiav
Aroav. Mol glvar i peown nieawg Exdotov thv deplwy ;
At Ty mtesty tol aCdrov, v Groluv mapiotdvopey Suk x, 6 vo-
pog the piewms t@v Geolwy 6{8e:
790 X 76 =1000 x
790X 16
1000
Kal duo tyv siesty y tod dZvydvou :
21076 = 1000 y
210 X 76
1000
2o0v. To Pdoog P widg Aroag aCwrov elg v zleowy 60,04 Exato-
otop. da elvar:
m X 60,04 m X 790 Baoin ey Boos e A
— = = T 1pog T T00c Eig 7
T 360 &’ 0og Tiig Alroag &ig thyv

olv 16 étatoor.

£ ou = 60,04 éxoroorduetpa.

gEob y= =15,96 E&rutootdueTpa.

]
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T Bdoog wdg Mroug dEvydvov P’ eig iy mieowy 15,96 Ha elvau :

pr WX 1596 _ X210
¥ 76 1000
Awpovreg xatd péhn Exopev :
B mx¥7 14X79

P wxal 1BX3I
Kot qoydg #yopev P4P'=1,293,
‘H Mo tdv 8o tovrav Ewdoemv dide tdg S0 tipnig P=0,990
vouppdowa, xai P' = 0,303 yoauudoua.
Ta Bdon tadta dviiotougoly &l Tolg Exatdy :

DRA00 > QDI = ISR SR
e 16,05 alortov.
0,303<100 : Sl
Al T 2_1}3_* — 23,44 okvyovou.

20 4. Aoyelov ywontwdmros Evdg Mroov elval mhiioes GEpog
O wleowy pidc Grnoopaioug xai elg eouongusiay 170, To Soyelov
Tobto wheletan St nundudiz emotopidog dxrivog 0,02 pérpwv, frig Exet
Sdgog 21 pdyp. Eig molav Deoporpasiay moémer v deoudvy g 10
Soygsiov tva 7 Emsropls Mot ; ‘H drpoopaigud) wleog elvon 760
thiostdpeToa.

Avoie © ‘H 2mgeoopévn mieowg Hnd vilg gmotopidog Exi 1 tetpay.
Exaroor. fmgavelag elva

21
) = — = 1,601 phoyoauna.
1 in i Yoouup

Atd vé Bnpodowuey thy mieow tavty el drpooqaions, GOHEL vé
axepdduey 6n ouijhn 0doapyveoy 760 yikoat. Dpoug Gvriorowyel g
Sdoog 1,033 yhoyo. natd teTQ. EX.

1,651 .

‘Exopévos == = 1,6 arpdoop.

TOREVWS | 1,033 K

"H 6ty mwleowe, frig EEaoneival gmt tod deplov eig wv Cnrovpévny
ﬁEQuouguomv glval 2,6 dr. Iapooticwuey dud x v Yeguoxpaociav,
&g v Smolav moéxe v deoudvopey 1O Gfolov va dvomrogdf A Eha-
Sl Sdvapie TV 2,6 ATHocpaedy.
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*Eqpapudtovieg tov timov 1ot Gay—L ussac eig tov dépo 1ol do-

yelov Exopev :

: = 6 § cuvtedeatlic tig & N e
i Gmov o 6 ovvieheatne i orohfic 16
1—}-‘170; [j'—\(); ne ¢ OLUOTOAYS T

a
xal  x = 480°

21 5. Sgaipa depootdtov,fig 6 dynog elvanr 60 wuf. péroa, elvan
mAiong U8poydvou, 1ol Gmolou ¥ munvéing dc mwode tov  dfoa elval
0,069. ITotov moémer va elvar 10 PBdgog tol megumalipparos, ive gddvy
gi¢ thpoe, Grov 1 Jeppoxoasia elvar B nai 1§ wicoig 152 pihwootduetod ;
Adows : Eic 1o Thpog 6mov 10 dsgdoratov D oradij &v icopponia,
10 Bdpog tod &xtomlopévov dépog dd elvar 10 ddpowopa tov Bupdv
10U Eowteoixol deglov kol 1ol meputealppatoc. "Ac xadéowuey o 0

Bdooc ToU meoixaldpparoc :

as ; am
6 i%_’i 1_5;2 A0S 1,293._0,069 : 1752 i
1+;_. 76 14 ) 6
213 273

1,2 15, ; :
= 60 —---79,3—' %J?— (1—0,0()9) = 14,18 yhibyoappa.

21 6. Eig nolay deononpusiov mpénel va tpodf 6 dho deoo-
otdrov pé depudv déoa, tol droiov 1o mepwdluppa xal to oxdgeg Lu-
yitovot 130 yhiéypappa, »ai 1ol 6motov 6 dyrog elvar 200 xuf. pé
100, iva oradf év loopoomiq &vtdg Enool dépog deomonguoiog 0°:
"Yrodéropev 8 6 dyxog tol depootdrov elvon otadepde.

Avoig: "Eorw x 1) Enrovpévn Deopoxgooia. "Edv xpodowpey
105 pdlag elg yhidyoappa, 1 #Elowoig tilg ioogooniog & elvou :

200 . 1,293

o
i 273

-+ 130 =200 . 1,293.

Role == 2762,
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<2 1'% . Aepdotatov xevov Eyxet fdoog 1452,465 yoap. TTAfpeg Ind
&vde Enoo® deplov el mhv alesty 73 Exaroot. Vdawpyvpov xol elg 12°,5
e Pdoog 1465,418 voap. ‘H ywonuxdng 1ol degostdrov sivar 7,234
Moot el 12°,5. Znveivon 10 fdoog wids Mroag tob deolov tolrov, xai
1) muxvéig tov gl 0° xai 90 nleawv 76 Exarootou.To déolov xai 6 dne
fyovot 1ov abtov ouviekeotlyy Sworodiic 0,00367.

Adowg: "Eoro x to Pdpog £l yodupw tiig Mroag 1ol deglov toi-
tov el 0° xal vmo v mieow 76 Exavoor,

To Bdooc P 1iv 7,234 xvf. w. ol deplov tovtov eig 12°,5 nai U
nlecwy 73 da elvac:

s 23X xXT3
g T (1 C12,50)
Svvenive 10 Pdoog todto elvar toov xpog v Stapopdy :

1465,418 — 1452,465 = 12,953 yoap.

Od Exwusv howmdy :
7,234 XT3 Xx
T6(14-12,5<0,00367)

g€ o0 BEdyouev: x = 1,949 ypou.

= 12,953 yoau.

‘H mvuvéne 88 da elvan:

—

, 94 =
dl== —:'Eg‘ 1‘-)
L1 Q. Aéxa Mroaw fvdg deolov glg 27° Omd aleoww 68,4 Cuyi-

EUUUW 16,15 yoop. Ioia elvar 1) muxvdrne tol dspfov tovUtou oyeti-

—
Lo

*ig g TV GEQU ;

Avoug: Aéna Mrpow dépos lg 277 xal 0 mleby 68,4 Tuyilovouwv :

68,4
10 X 1, 298 —— 8,
T ¥
= 10,69 yoau.
P I8
273
‘H quxvémg tob aeolov oxetnds mods tov dépa lg 27° nai mleow
8.4 elvan:

16, 15 o
2 L =1,b2
d 10.5¢ 1,625

21 9. Eic nolav deoporoasiav t dvydvoy, imd aieaw 19, Eyel
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v abTthv muxvdTnta v onoluv #xel xal to Gdpoydvov i 0° xal mie-
awv 76 ; ITuwvdenuee oyetindc mpog tov dépa, tol pév ofuydvou 1,1056,
1ot 8 vdpoydvou 0,069,

Avoug: TTuwvdng tol dEuydvou eig Ty deppoxpacioy x xal Hxo

nleow 19
s 19
1,1056¢0,001293 o
b
S
1 973

ITurvdtng tod H8poydvov eig 0° nai 76:
0,069x0,001293
‘Efwodvopev tag dvo tpds:
19 X
11056 — =10,069 { (1+ —=
! 16 e 273
xal x = 820°6
22®. Avo doyeio A xai B, ywenuxdmrog 1 xal 2 Arowv, e
otégovol 10 pév A Géou elg Veopoxpusiav 15° xai Umo afeoty 720 yv
Atootop. Udpapyvpov, 10 8¢ B Enlong dépa deoponpaciog 20° xai 170
aieow 4 1)2 arpoopaiodv. Zvyrowmvoluey va dvo doyela i cwMi
vog Gvoiyovieg tig otpdguyyas aitwveg 9 whelwor. Znteirow lov. N¢
txodoyiodfl 10 Pdoos 1ol Gépog to Gmotov da Expetdoy &n tod Soygelov
B elg 10 doyelov A; Grav i) Yegpoxoacio elg ta dvo Soysia Do Eyy yive!
{on modg Thy tob meoBdhovtog  péoov 15°. 20v. Na moocdiogiadi 1
mieag tol deplov wuutd thy onypnv tadmy elg ta dvo Soyela.
To fdpog wag Mroag Gégog eig 0° ai Hxo ateciy 760 yhioot. elvet
o 4 i LT~y 3
1,293 yoau. nail 6 ovvreleotng Stootodiig 573 O Gyrog 1ol EowiE
oxod 10l owhijvog Ogv Aapfdveran v’ dyuv.
Adowg: "Eorw V' 6 nateyduevog dyrog tmo 1ol dGépog tol doyeio?
A &g iy tehny aleowv x. ‘0 vépog tot Magidrrov pdc 8idel:
SR 20
V= —— kitput.
X
"Eotw V" 6 zatohauBavépevog dyxog Bitd tod dépos ot doyelo?
B elc thv afeow x nal elg vy tehua)v deoponpacioy 15°.
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‘l)( JEJ

I'vowotlovreg ot 4,5 aru. = phioot. Udoapy., Oa Eyxopey:

9(1420a) (14 15a)
9)((()0(1_—!—1)(1)
0 L 2049

#al Ggod V' - V=2 xup. mak., duvdpeda vi yodpopey:
[720 | 9XT60 (141507 _ g

Mroug

e

€€ oU

(14 20q)
_ 720 | 9XT60(1+15a) o404 99419481 yihioord
& o =3 +5aa0a 0+ 224 yihlooTdu.

20v. ‘O Fynog tob Gépog Hotig Expéer Ex Tod doyelov B elg 10 do-

Ylov A elvon Toog mpog V'—2:
9 X760 {1 -150) = 2) ey

x (14 20a)

Ty Bdpog tiic Airoug ToT dépog elg Ty tekuy nteow X xal el 10%Ivan:
1,293 %x

&= T 15a) 760 °

Ty Bdoog Enoufvmgtod Gépog T Grolov Expéel Ex Tob Belg o A elvon:
_1,208Xx  (9XT60(I- L )) 2,840 yoauudoia.

(1 -+ 15a) 760 w (T 200)

22 . Yo viv adtiy nleowy, pla pia aépog eig 1560° narahap-
Bvey 1oy adtov dyrov,8v watohapfiver ndla vdooyGvou gig BOC. Tlolog
vy § AGyoe Tiic pding o déeos medg TV wilay tob dpoydvou ;
nUMVétT]g Hopoyévou Gg mpdg tov déou 0,0692.

Abowg: "Eotw a 1 nuxvéme tod dégog eig 0° noi 716.
o X 0,0692 d¢ elvor §) moxvéimg tob Hdooydvou el 0° xal 76.
"Eotw V 6 dyxog 100 déeos i 1ol ddooydvov, M i uala ol Gégog,
“al M f péta tod 68p0yivou.

- e |
M':V.a.i'-—-—i—*m M=V.a.00692. e
76 150 50
Irams 373
x , TR I
A W = 2737150 0,0692
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I'' OEPMIAOMETPIA.

222, Aoyelov 8 dpeyydhnov Pdoovg 30 yoappaoiwy mepiéyet
500 yoaupdoia Udatog gig 20°. "Eufomtilopev 108 yoappdoww adua:
1og Yeppo® ele 100°, “H tedyy Yepponoaocia ivar 21°,815. IMofa elvat
1 eidwn eoudtng tol odparoe ; Eiduwn deopding dozigdinov 0,09

Adowg . Equpiidtoviee 1ov timov 1iig pedddov tdv wiypdroy #o-
uev s (500 =4 30 X 0,09) (21,815 — 20) — 108 x (100 — 21,815)

%ol x—() 108

LL3. ‘H eido deouding 1ol yorxot elvan 0,095, ‘O ovviehe
otg thic yoopuwiic Swwatorilc ol petdikov tovtov elvar 0,000019.
To eldundv Bdgog ndrod 8,87 elg 0°. Znveira va etpedf), moiog Gyxos
qodnod eig 100" mpémer v fudiodf Bvidg 1 yhoypdupov Udutog 4%
tva 7 deppoxrpacia tol Vdarog yivy 10°.

Adoeg : “Eotwo M A nila toi yulrot eig 100°. Aw tiic neddédov
TOV prypndrov Lopey :

M X 0,095 (100 — 10)= 1000 (10 — 4)

; P00 EESER
nail M— 8§55 (01,75 youppdowa

*Et &Mhov, 6 cuvviekeottic tijg #uf. Swaot. tol yahxol elvon 1005
mpde 3 X 0,000019 = 0,000057, xal f avkvéme d Tob perdhlov Tov*
tov eig 100° eivan

P 8,87 D=8 8T
~ 1-(1003¢0,000067) . 1,0057

‘Enopéveg 6 dyrog V 1ol yohnod 9a elvor elg v deopoxpoaoic?
Tty :

701,75 _ T0L,75X1,0057

I 8,87

224, Avapuyviousy 300 yoaupdoia tnropévov mdyou uetd
700 yoaupaoiov Hdatog deoponoasiog 100°. ITolo Od efven §f wehutlh
degpoxoacia 1ol piypatog ;

Adag : 300 (80+x) =T00 (100 — x) nal x=46"

= 75,565 wvB. Exaroot.

V:
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2255, Teudyov adioov [doovg 870 yoappoolwv xaldarera
Und srpduarog mdyov deonoxgooiag 00 ‘Okdxinoov o odua toiito
Buditopev fvide 1 Mroog Hidarog deppononciog 20° xai perd twva yob-
Yov ) depuoxoacta ol Bdaroc yiveraw 6°. Na etoedf 10 fdoog tol
tg tov ofdnoov moooxexodlmuévoy mdyov. Eidua) deopdtng adijoou
0,1188, deoudne witewe mdyov 79,25 deonidec.

Adoug: To mosdv tii; Yepudnrog 10 6molov Eguoe o 1 yihidyo.
f?ﬁum; tva vocéddy 1 Deppoxoasio Tov dxd 20° eig 6°, Eronopomonidn:

lov,  Auwd vie Gvéhdn f deonoxgacia t@v 870 yoou. adfjoov ano
00 ;G-

20v, Ak va taxodv X yoappdole mwdyou.

5

Jov.  Aw va deppavdoldv x yoap. Udarog tifews, dmo 0° eig 6°.
*Exopévog : 1000 (20 — 6) =06 X 870 X 0,1138 - 79,256 x -}- 6x.

E ov x = 157,25 yooppdora.

22G. Aoyeiov meoiéyer 00wo deopoxpaoiog 15°. “Erepov do-
1oy meguéyer U8wo Veonoxoasiag 95°. Igov Tdmo meéne v Ad-
Bopey 2 Exdatov doyelov, lva amoreréoouev piypa 320 xuf. male-
Wiy Yepuorpuoice 85" ;
Avoic: "Eotwoay x sl y ol wwfixed makdpon tob Gdatog tév
o Soyelwy.
Foudtne amoppognieico Do v x aufi. makapdy elvol : (354-15) x.

E0udTie mapuymondeion 00 @y v xufb. makaudy eivoe: (95—35) y.
‘Eropévos : x (35—15) = (95—35) ¥
i Ridar 1000 3
b AT e ST
ki x-y=32
“Ofey x=243,75 wup. mad,
“ol y = 281,25 xvf. mal. ‘
X LLY . Osowdéucroov weodxer 10 youmudotn Ydatog eig 10°, \
Uvopey 2vede abdrod 5O yoap. Bduvog eiz 50°. *H deouoxpusia tof dv, O
: \2\
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® deopdouéron Vdarog dvépyetan eig 25° Iofa elvar % ywonmxdms
10D Jeouidopétpov ;
Adaig:
(704 A) (25 — 10) =50 (50 — 25)
xat A=13,33
28, Oeopdpetoov Hdocoyvordy Tuyiler 60 yoapudoa. Oeo
paivopey eig 110° zat Budilopev. adtd vrdg deomidouéroov,tol Gmoiov
i T elg Bdwo eivar 160. “H deopoxoasio tol Hdatog tpoital G0
6° elc 10°. Znreivar v mooodiooadfi o Poog ol Hhoupyvpou tol
deononéroov, nal td Pdeog tijg vdlov, fitg drotelel 10 Jeppdusrpov:
Eiduh deopdng 9dpapyipov 0,03
» » vdhov 0,19
Avoig: *Eoto x 1o Bdoog 100 180agyioov 10D degpopéroov, ol
y 10 fdpog tiig tdhov ol Heppopéroov.
Téte (1)  x-y =060 yoappdpic.
‘H grodidopéyn deopding Ha0 100 Odoapydoov, Sorg Ond 1100 vi-
veran 10° glvan
xX0,03 (110 — 10) Hzopides.
“H tadog n0 tag adrag cvviirag drodider deopdnra :
yX0,19 (119 — 10) deonidag.
*EE dMhov 10 Depuidduetoov deonuvdpevoy amd 6° elg 10° xeodilet
160 (10 — 6) Yeppidag.
*Etwotvreg tog hapfavopdvag wol tag drodidopévac deppdrntds
Eyopey: :
xX0,03 (110 — 10) 4 yX0,19 (110—10)=160 (10—6).
il 3x + 19y = 640 (2).
*Ex tdv &odosov (1) xal (2) Aaufdvopev :
x = 28,75 youpudoio.
®atl y = 31,25 youuudow
229, *Evioc ndlne t8arog 2500 yoaupaolov depuongacias 5?'
pimtopey 725 yoappdowa mdyov dyvdorov Deopoxnpacia. "Emrvyi®
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vouev Jeopixty ioopponiay xal etoloropev Gt 10 Bpog 10T mdyov o=
MOn natd 64 yooupdowa. ITofa #ro 1 doygwd deonoxoasio toi md-
You ; Eiduty deondenz tod mdyouv 0,5 deounides. Oeouding theme nd-
You 80 feouidec. H deopoymontnding 1dv tomudrov 1ot doxsiov
0ty hapfdverar v gy,

Aveig: "Eotw x §i dyvworog depuonpacia 1ol wdyou el Ty do-
v tol wepdpatoc. Tlapatnootpey B1t #) tehd)  Jeoporousio  elvay
dvoyzofog 0°, &@ot thy otyudy tadmy Brouey Bv piypa mdyov xel
Bdaroq elg thv ady deopoxoaoiov. ‘O mdyos difpgetan dnd v dee-
Roxpaciav x elg 0° xal droppogd.

725 @ 0,6 X x  deonidog.
T $8mpo 107 deppidopéroov dmd H* el 0° dmodider 2500 X 5
Beopidac.

Téhog 64 yooap. Hdurog elg 0° petaoynuantéueva glg mdyov Ehevde-
0dvovor 6480 deouldac.

‘H xepdrideioa dropding elvar ton pé my yadeicay, cvvemdg Ha
Hd L
gousy ty Elomow

726 0,5 X x—2500 X5} 64 X 80

20
spager £ L0300 pne

~ 3625
23O. Aoyeiov &x adijgov, 10l Gmolov 0 Pdoog elvar 7,500 yi-
"lémauuu, meotéyet 15 pilibyoupua Evog oduarog, ol dmolov 10 o1-
Melov tHitemg elvar H9°, i Deonding tlewe 94, xal f eldu) ﬁsguorn,
0,75 ele v dyodv xardotaawy, xal 0,32 el v otepsdyv xatdotaoy.
olav moodtmra Yeopdroc da droddowot o doyeiov xal 10 megie-
Wypevoy dmd 900 elg 400 ; Eid. deon. adnoov 0,11,

Adgic: “H mocdne tiic degudmrog finig ydverar Hmd 100 aidjoov
S v notéddy Gnd 900 el 40° el peydlag Jeopidag elvar:
7,60,11 (90 — 40) = 41,25 Heopidac.

Yrd tég adrde cvvihixag, 1 mocdmg tig deomdrog g ydvera
U 10l odpatog eivat

“Tva naréddy axd 90° &g 59", 15%0,75 (90 — 59) depp.

“Iva grepsomoundf 15 X9 »

“Iva waréhdy and 30‘ glg 40° 15 X 0,32(59—40)9¢ou.
Ta 6hov 1849,95 Oeonideg
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‘H 6wty mosding deoudmrog fjug ydverow H10 tot doyelov xal 1ol
mepieyouévon Otov and 90° yiveron 40° da elvar:

q=41,25 -} 1849,95 = 1891,20 depuidec.

23 1 . "Evide deoudopéroov &x gahxod, to dmolov Cuyilew xevov p
yoapudoie, mepiéyovial P ypopudow $darog xal P’ ypaupdole mdyov
gic tv adenv deoporoaciov. Awafifdlopey Evidg adtol m youppdoLd
aruod Udaroc Yepporouotos 100°. Ilofa elvar 1 tehud) depuonoasic
100 plyparog ;

Eidumn deou. yohxot ¢
Oeoudtng tEewe mdyov 1
Oeoudrne BLaspdoeweg Vdatog A,

Adog : "Eorw x 1 Enrovuévn deouonoadia, iijv tmodéropev me-
othapfavopdvny peraty 0° xoi 1000,

To Bdoog n 1ol drpod cvpmvrvoiuevov gig 100°, pdg mapéyer ulov
moodmra deoudincog Tony mpog n A. deopidag. “H dygomoinoig alitn
8idet m yoap. Udarog elg 100°, drwa haufdvouv thv tehxny deppo-
xoaotlay x, dmodidovia x (100—x) deouidus.

“BE dhlov, dpol 10 Deoudustooy meptéyel uivpo ndyov xol UdwTos
elg v admiy depponoauiuv, 1) doyxd) attm deoponoacio elvail dvay-
xratwg 0°

'6 Bidgog P’ 1ol mdyov tnréuevov dmopoogd P’l Heouidag, mooé
w0y ovtm P’ ypap. Udatos gig 0°.

Avvdueda howrdy vi eiropey St td deoudbperpoy mepiérer (P-P)
voau. datog, ¢ 60Ta Sifoyovran dxd 0° elg Hepuongaciav x, amo0”
gogdvia (PP’) x depuidoc.

To deomdbpergov 1ot 6moiov 10 Pdpog eivan p xal N eidyy Jeo”
e ¢, hapfdver dua Aoyapiaopdy tov p ¢ x deouidog.

Fvoottovreg Gt 1) depndne 1 AauPavousévn elvar {om pé v ano”
Sidouévny, « Exopev v Eflowow :

ah+a(100 —x)=pcx-(P-+P)x- Pl
& o Al T
pc+P+P'H=n

232, Iloia pdla atpod deppoxpaciog 121° moéner va cupmv”
»odf], (va dyddor 300 phidyoaupa t8atog dxd 11° elg 28° ;
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Avoig: “H deoubing 2asomorwg 1ol Bdartog iz t° elvan Ton mpds
606,65 — 0,695 t.

‘I Grodidopévn Heopding Hrd pudg pding M drpol cvunvrvoupd-
vou xal Siepyouévou xavdmy Grd 121° gl 28" da elvar -

M (606, — 0,695 X 121 -~ 121 — 28)

*Ex tiic to6tnroc M (522,4 - 93) =300 X 17

Eyxouev M =8,28 phiéypappa.

233, Katd molav dvaloyiay moéret v porpacdf 1 phidyoap-
oy $datog 5O fva i mosding Depndinrog, thy Hmolav T Ev Ex THV Me-
0dv 9 dmoddoy petafaivov gig v xardotacy tob wdyou &lg 07
vivy tom mode v mosdnta tij; Deopbtmrog, 1) dmola moémer Vi ueta-
dodfi el to dhho péoog, Bud vir peratpanfl els drpdv Deppoxpaoiog
100° wai fixd vy wieawy v 160 phioctouéromy Ddoapydeov i Geo-
Wétne thEewe mdyov 80 Jeopidec. Osondng aepdoeng tod Hdarog
937 Yeopides.

Avoic: “Eoww x 1 néooc tod Bdarog 1o petargenduevov elg md-
Yov, wal v 1o Sevrepov néoog 10 petatpenduevov eig drpov 100°

Tére Exouey : x 4+ y = 1000 yoaumu. (1)

H 9eopée i drodidopévy Bad tdv x yoap. Srapotpdlera g £5; :
Yk Gmd 50° &g 0° . . . . B0x Beonideg
Svsoeomoinoi elc0® . . . . . 80x o>

“Adgowope . . . . 130 x depuideg

Qeopéing dmopgoguwudvy 0 Y Yoo daporpdlerar Emiong eig

Yo uéon. ”
Osopdmg Gvayraic S vo deopavdf 1 ndla vy

&“650"&; 100°, e R e s S e e D Oy DT
U v FEaepwdi AL e S o D3y
NI B e B
Swvenmg #yopev ™y EEoway
130x =587y (2)
Adovreg 0 olomua (1) xai (2) ebolonouey:
x — 818,7 yoaupdoia
y = 181,3 yoappdoia
10
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234, [doug deouidog dnodidovor H0 Alrpur GeEpog Yuxduevar
amd 25° ic 5% Mala Mroog Géoog 1,293 voap. Eldwd) deouding dé-
pog 0,237.

Avog:

501,298 0,237 (25 — 5) = 306,44 deopidec.

AV OMIE T B A

23i5. “Ev wfwov péroov dboog el 20° mepifyer 10 youppdow
Grudy 9daroc. Iofa elven A Sypopetpue nordotaos tol Gépog 1ot
tov ; F.,, = 17,4 yihootdustoa.

Adeig :

10 = 1000 fT %1,203X —; :

{7720 X 0,00867 < 76

*Ex tijc #Eodoswg tatng &Edyopey f=1,01

: o5 L6
Hoi —— = ——— =0,b8
F 1,74 :

L3G. Alderar 1 Mrpov dépoe Gyood, tof érolov § dyooueroud
xardotaolg elvar 0,5 xal 7 wleoig 760 yhootdp. Zvumunvoiuey 0¥
dépa tottov péyot Tob onuelov Gote v doyeton 1) tyoomoinols. Znter
ton lov. Tlotar 96 elven why otypdy tady 1 deopoxpacio xal 1 mle
oic 5 2ov. *Etasiohovdobuey v cunmdxvoowy pégoig drov 1 fuicy tob
Gtpod mepiéddy elg thy Oypdy xotdotaay. Znrelia molog Ha elvar €
Hynoc TV etiypiy tadtny xnal wola i wleowe : “H peylomn tdoig 1dY
Grpdy tol Hidarog elg v deouonpaciav tob mewpdpatog eivar 40 v
hootdugtpa.

Avoe : Elg 1y mody meplmrwoty, 1) Yygopetoiny xovdotaots
givar 0,5, 1) tdoig tdv rpudv elvon 20 yihwoot. Thy ctypdv Grov Goze
oL 1) Dypomoinotg 6 dMo elvan mexopeopévog. “H tdoig tov elvar 40

whoor. "Eotm x 6 dynos thv oniypdyy tadrmv. Katd tov véuov ol
Magidrrov Epopey - 1 X 20 =ix X 40

g€ ol x = 0,5 Arpau.

=]

‘O Enode @no elyxe »at’ doyds plav mieowy :
760 — 20 = 740 yphootdperpa
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‘H afealg tov 070 dyrov 0,5 Aite. 9 yivy :
760 X 2 = 1480 yhioor.

‘H tdowg depol xexopeouévou elvan 1 i6ia els £v dépov ) &l to
#evdv, [Aémonev 8vi, 6 dyxoc tol Uypol @épog 9aelvan 0,5 Aro. ‘H xi-
goig 1ol Uypoll Gégog o eivar 1480 - 40 = 1520 yhootdyoampa.

2o0v “Orav 6 darpcg dypomoteital, mupauéver xexopeopévos. H Eha-
ot] tov dvvaug elvon otadepd xai tom moog 30 yihootduetoa.

“Ozav 10 Hwov tod drpold cvpmuwvmdf, 6 Gyxog tov da yivy -
noOTe00g %atd to Hutov dxefvov mo® firo, dnhadh 0,25 Mrowt.

‘H nizoig 100 Enood dépog dai elvor 14802 = 2960 yihwoor. nai
i Sy mieoig :

2960 - 40 = 3000 yihoot. = 3 péroa.

23¥ . [lola elval §i Sypopeton xcvdotnoie tod dépog, Orav
3000 Arom Gépog meoréyovot 20 youp. dipdv Hdatog elg 189, yvwortod
dvroe G el v Yeopoxoasiov tavmy 1 ueylom Boota) ddvapug
Ty Grudy Udarog petpeitar 8 Dpove Bdoaoyroov Teov mpog 15 yi-
Mootdyeroa ;

ITunvétng drudy B8arog oyenxde mpde t1ov afpa 0,622,

Adboig: "Eorw I 1) dyvootog tdoig tév dtudv tdatoc #vidg tod
:
Uygol dépoc. Ta 20 yoap. elvar 1o Bdooe t@v 3000 Mrpwv atpot Uda-
Yog eig v depuonoociay 18° xat dnd aleqwv f -
1
1 0,00867X17
_ 20X760 X (1 4-0,00367 X 18)*

300012930620 —on1 nhoor.

20 = 3000 X 1,293X0,622 X —7—%@— X

gov I

e c \ . i ’ o~ ~ ’ ~ 3
H dygoustowmt xardotuoig sivan 1 oyéore tiig viv tdoeme 1ol du-
BT mpig Ty dvriotogolony peyiotyy tdoty ig tv adthy deopoxoa-
Siay,

6.7
‘Eroudvos da elvat 1%_}— = 0,44

©

R3S, ITole elvar § udlo tdv 592 xuf. &xarost. Géoos Typod

g 15°, nd aieowv T4 wal elg Dypoustoully xutdotacw 0,84 .
5=127 yihwoot.

Wnopionoi)Bnke amé 1o ivetirouto ExkmaibeuTikng MoMTikrg



— 148 —

Adoig:
%—: 0,84 f=10,84<1,27=1,067
3
” T4— =,1067
592 gl 3
S S T Ry e T
xol M = 0,668 yoapudoia.

239, Ado Mrom dbeog xutd t ey xexopeopévou drudv &g
30° xai appunv mieow 160 yihioot. Etédnouv eig nieow 3,04 pérowv
H8paoyvoou dvev petafoliig tiig deopoxousiag. Ildoog da vivy 0 dy-
xog twv; Meyiom wdoig t@v drpdv 1ol Udarog eig 30° elvan  Fy,=—=30 5
yihootdu.

Adoic: "Aol 1) UVYPOUETOHY] HATAOTUGLS ELVUL <5  moooTNng

oy GTpdv TOv TepEegoudvey Eviog tidv 2 Mrowv dfgoc elvon ravi
v& xooéon 1 Aitoov 1ol Gépog Tovtov Bnd tag adrig cvvihnag. Eig tiv
aoyuanyv wigow, 1 #hacuxly Stvauig tod Enpod dépoc elvan

760 — ig«-'é— =T44,75 yphootdusroa.

"Eav el tv nieawy tdv 3040 phoor. drodésmuey S 6 drpog I
£lval xexopeapévog, 6 Engos ano B Exy g Ehaotrdy Stvauy

3040 — 30,0 = 3009,5 yihoot.
*Edv rapaotijompey did x tov dyxov t0b dégog tovtov, G vOu0S
100 Moaotdtrov nag 6ider:

2% 744,75 = x %3009,
ov X— 14%—9—'?
> 3009,5

‘O Oynog ovrtog elvon xutdregog tis 1 Altoug, #al mpémer va oup”
qeodvuey otL 6 drude elvar xohide xexopeonévoe, xoi G 6 dynog 109
UypoU dépog eig Ty devtépav mepixrwoty eivar 0,494 Alroar.

2420, Qouopévoz dyrog Gépog xexopeopévog arpudyv el 30°, #e”
tahapfdver dyxov 20 Mrowv o v mizow T60 yihwetopétomy. Kate:
BiBdCopey v eoponouciov wéxor 200 xal cuyrodvos Enpatvopey 0
10V UEQIKS ¥t TotoTtoy tedmov, date T Dyoopetowy tov rutdotd”

iy

8

=0,494 Airoat.

SRR N s ; ; . 4
015 va yivy —- wig doyuilg elg TNV Yeopoxpaoiov tavmy. Zntelral 7O

goc Eywve 6 dyrog tov; ‘H mieoig péver Ton mpds 760 yihootdueton.
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‘H peylom vdowe tdv dpdv eig 30° elvar 0,0315 p.
» » » » 208 o 0010500
Suvieheotiic duotoldig Gepiov »  0,00367

Adoic : O trodécwuey Enodv Gépe mdogovra &vtog tol pivpa-
toc. Kot doyoe 7 nieols tov firo:
160—31,0—=T728,5 yhwotdy, deod f tdoig TV Atudv elvol f adti
vtoc fvdc deplov 7 Bvide tol wevol elg thv abtiv Seopoxroaciav.

Eig o téhoc 10D meipdpatoc i mieoig tov Grudv ylveta:

—i’ ¥ 17,6=13,1 ydoorépetou.

‘H afeoig 1od Enpol dégog a elvar tote:

760 — 13,1 = 746,9 yhwotdperoa.

“Eotm x 6 dyxog, tov 6molov rotuhaufdver 0 die elg tiv deppo-
®oactay 1@y 20°. *E@uopdtovies tov timov 1ol Gay — Lussac, -
nev v ayfowv:

20 X7285 . xXT469
1-4-0,00367X30 T 1 0,00367X20

°EE o &dyopev x = 18,6 Aitoog.

241 . Aoygiov 10 Mrowv ywonuxdmrog elvar ahiiges Enool dé-
00¢ £ic 0° nal 76. Eiodyouev dvidg did otayovouérpov 3 youppdoux
Bdaroe xal deguaivopey 1o Slov elg 1007, Zntetvaw lov. Ilolw 9d elvan
téte 1§ Hypoperoud) xardotactg ol Gégog tovtov; 2ov. Hola elva 4
Aty srieoic tob Dypod tobrov déog; H deotodhy 10 mepwalupa-
tog 8¢v Aapfdveron v oYLy,

Avoug : A=100° F=T6.
‘O dyxoc v drpdyv elg 0° xal 76 elvac:
_gﬁ__ — 3,692 wuB. maddpat.
i X173
*Epapuétoney ig tov drudv 10d Hdatog tiy £Elowoty VH:LH.',
: £ g 1--at
3,692 16 = AL Pl'—
892X 0= oo r e 100
; ; f 38,3
H =1f= 383 nal + =76
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T T e e e P e = e
O Dyoog ano elvar wiypa toi drolov § #lactud) Svvapie elvar o
S
adpotopa 1@y Ehaotindy duvduemy 1ol Gépoc xal tod druod.
‘H Blactind) dlvaug vol Enool déoog Sideton dmd tiig Eflodocwe:
Wit = 10 H,

e L —
Wit o T

Hy — 103.9.
‘H 6hxy mleowg elvaw: H, 4 f = 108,9 -} 38,3 =142,2,

242, MNoyelov ovyrowvovolv perd povouétoov elvar mhjosg aé-
005 ®enopecpévoy drudv elg 20° xai eig wieoy 4 druoopaip®dy. “Yyoi-
uev Ty Yepuoxpactav eig 100°. IMola 8¢ eivar 1§ véa nieoic 1od ypod
dépog ; ‘O dynos tod doyelov mapapéver otodepds ol Hrorideron Su #
qurvéTg TV Grpdy 100 Bdatoc perafdileton dg 1§ murvdtng 1@V de-

olwv."H Elaotin) dtvauig i peylom tdv drudv tod H8avog elg 20° elvar

= s = = - o 2

0,017 pérpa, 1 muxvotng TdV drudy 100 Udatog elvat g
Advog: “H ailbnowg tiig méocewe, fiv dgpiorarm 6 drudg 1o Hdarog

Moy tnpdoewg tiic deppoxoaciog o ulyparoe, tod dmolov amorehel

uéoog, dtv elval doxern dud v tov wduy va @ddoy 0 onueiov tod

rdpov tov elg 100°. *Eqapudélovies eig tov drudv tov vépov tdv deplov

VE Ve B s 3 5 o
— , ta Eyopev Gg tpny 100 B

14+at = 14t
p _ F(ihat) 17 (14100X000367) _ o\ .
T R T T e

‘H nun atim elvar mohd xarwrépa tiic tdoewne tod atuov elg 100°
fitg elvar 760 yihwootduetoa.

‘AN tre T piype tob déoog xai tév deudv @épetan Gc v uiyna
deplov xal dev yoedletar va yvoelompey ofite thy tdow 10D drpod eic
20°, otite thv muxvénie 1OV drudv ol Gdaroc.

“Eyopev duéows ty Cnrovpévny xleowy, xakolviee adriv x @

4 X
1120X0,00367 ~ 1-+1000,00367

£E o0 x = 5,1 drnoopoipas.
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E'. MHXANIKH OEQPIA THE OEPMOTHTOZ.
OEPMIKAI MHXANAI

2 £%. Sgoaipu iz podifdov #Fovew taydimra H00 pérpwv yxord
Sevregdhentov Bmurimrel &xt tolyov dvthorauévov. Iota G elvan i tpo-
g the Yeoponpaciag 3 Eidueh) depudine orepeol poliPdov 0,0314,
80 Jeondne Hevatod polifdou 0,0402, anueiov witewg 330°, Jep-
wétng thteme H,37.

Adore : “H loodbvapos depubing mode v dpdoav ddvapy g
ZEagaviletar Thy onypfy tiig ovyrootoeme, dypdver v deppoxpasiav
T0T otepeod  polifdov eig 330°, tdv ndpver v tyd{, ol Dpdve THY
Jeoponpuotav tol temypévor norifdov xata x° :

m . H00? 1 ; -
_ﬁ_jﬂQ_ o5 =mX0,0314 ¥ 330 4+ m X 5,374+ m X 0,0402x

‘H Yeononpacia d& tpmdfj elc 6955".

2 2.4, “Ydpdoyvoog mimuer 2 Tovg H pérowv émi Emupavelag
Zareonévng aymyipdmros. Kavd néoovg Padpods da dpobii 1 deo-
woxousia tov petd Ty mrdowy tov ; Eidwd) depudtng Gdeupyipoov
0,083.

Adgie: Ax m yooupdpie 0dpapydoov to Epyov tijs TTMOEWS
slvar - m X 500 X981 Epyia.

A 2 . m»b00X981 :
“Beppdne toodivapos eig deouidag : ~LITX107 =m X 0,033t=0Q
500981 *

i ¢ 1iic deonoxouslag ——rrmionms = 036,

Yywatg 1) deguorousiag TIT107 0,058

2425, No trohoyiodf i “Tovhiovg povddag i Evépyewd fitig moé-
xer va notavahodf] modg dvdlvowy 9 ypoppagloy Bdatos.

Agaig : “H #hevdegovpévn depuding dui 1ol oynuationod 9 yoap
B8atoc elvar 34500 Jepuides.

*H Gvriorowoiion fvépyewa elg Toviiovg povddag elvar 34500¢4,18.

24£6. Zgouiou pohupdivn dopwdls Deouoxgasiag 10°, doiera
v méop xataxoplpmg &x TOV dve meds Td ®dTm RETd  TayiTTog v
A%t ouvavrd eig 300 pérpwy dndotaciv i tod onuelov tiig mrdoemg
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gv éxlmedoy dnolitwg dvévlorov wal dymyiudintog pf hapBavopévng
o’ Sy Sie v Yeondtnra. Ilola moémer va elven ) tpd) v, iva f
polvBdivy opaipa taxg duwd tig cuyxpoloewng ;

Eidun dsoudeng polifdov . . . . e=0,03
Oeopongacic ThEEwe W . . o . hi—="530¢
Oepudme Tnkee . . . .+ v C=5H4 Jeopldss
Mnyaviov loodivapov depuidog s — 4 1 B oukia
*Emrtdyvvoig tig Papitnrog e o — ORI G

Adboig : "Eoto m 1§ udlae s oqalpac. Awd v taxfi moémer vo
dmoppogioy *

Q=m.c(330 — 10) +m . C = m (320 ¢ - C) Yeppidog, oiti-
VEG TULMVTAL :

W =0.E=m (320c + C) 418 X 100 = 62,7 X 10°'m #oyta.

‘H ogaipa nintovoa dmoutd évéoyeiav :

W, =m.g.h.—m X981 X 30000 = 2,943 X 10'm Zoyic.

*BEgaepélopey 1o dedonpa thv dowodv duvduswv xalofviec 1o
Y GEyumy TayvTnId :

il
g m )+ W, =W
gESotr ¢ ui, — 11,9514 > 108
nal v o= 10"'V‘E§514 = 34570 &xatootdperon ®atd devreglhe-
ntov=—>340,7 uéroo wnota devrepdhentov.

2L4'7 . “Ev youupdoiov dvlparog xatépevov dider 7850 Jeonidog.
IToiov elvar t0 pnyavikdy icoddvapoy tiig deoudtnrog talng eig Eoyid
wol eig yhoypappopeToa ;

Avog -

Eig Zoyw : 7850 X 4,17 410" = 32734,5 X 10
Eig jphoypappdperpa @ 7850 X 425 = 3336,15.

LA®. Aoyelov peradhixdv Byxdelov ovpunemvnvopévov déoun ti-
Heran Eviog deppidopéroov. “H wpd eig B8wo 1ol Yeppuidopéroov xai
10d meQiEgopévov tov elvar 10700 yoapupdowa. "Agivouev tov dfpa vi
diagpiyn drotdpwe. ‘O Géwv ane xatohapPdvet 44 Aroug eig micow 76
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TMopatnootipev eig ©0 depuidductpov play Pk 0°1. Znteiva va
oupmepdvopey T unzavedy icoddvapov tiz deouidos.
Adoeg !
"Eoyov £ic fopre = T=1033 X 981 X 44000 = 1013373 X 44000.
BGeppdmg magayoondeioa elg 10 Yeowdduerpov :
Q = 10700 X 0,1 = 1070

— 4,167 X 107

(@]l

<2£9. Iloiov elvar 10 péyedog tig Eaonovpéyng miécewg Umd
Grpod U8atog el 153" Enl Emgavelog 1 tevpaymvixol pérgov; “H ue-
viory Fuotxd) divauig tob drpod Udarog elvan b drpocpagdy.

Adorg: “H mieoig el yhibyoanua Ha sivan
H % 1,083 % 10000 = 51650
Kul elg ddvag -
51650310000 981 ==5H066,86¢ 10

230, [ole elvar § Grnédooig deopudic pmyaviig it xutavahi-
oxer 10 gdidyoanpa dvdoarog xad douv, xal tpdver xatd tov adtov
xoévov 30 xuBud nérpn tdarog elg Tipog 50 pérpwv ;

Adog :
Kuwnridowoy #goyav: 3000050 yihoypappdperpa.
*Aviotdpevoy Foyov @ 108000425 yihoypouudueroa.

3000050 3

*Anddooig : W-(B(425 =g 0,044

231 . Mnyyavi 20 drpoinnev ratavakioxer 56 yhdyoaupa dv-
Yoaxoe xad’ Goav. Ilola elvar 1 Gndédoolc mg ;
Avoic : Td mivntiowov Foyov xad’ Goav elvar : 20X TH X 60X 60
LALOYQUUUGRETOL,
*Avthortdpevov  Eoyov : 5638000425
‘H drédooig elvan 1o nhizov @ 0,028.

212, Mig pale pohpdivn ton moog 10 yooundow gddvel Go-
Coviiwg perd tayvmrog 250 pérgmv rata devtepdhentov Eni opuipag
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woluBdivng 450 yoap. el thv drolav mpooxoMdrar. Na dmohoyiodfi 1
déopavoig, fing & mooxdyy & tiig ovyrgoloewe,tiig nohupdivig opai-
pog oliong xav' doyds dxwitov. Eidum depudng podifdov = 0,03.

Adaes : "H 6l ndla (450-4-10) yoappdowr droppogd Gho-
oyeodg v Evéoyelav tiig Jeopdinrog adfavopévny Ex Ttijc xpoleewe
Aapfdvovreg d¢ 0,24 dg v tol Jeguinod icoduvdpou elg “Tovhious
woviddag, da Exwpey :

; .24
(m+m) Ct:(—)—lﬁ X ‘12 m v?

012 m > v

& ol = —_—
4 107 m-m’ ¢

Apidunrinds: t=— 0.12 100 (25)*X10°

or X 460 X 003 — 0.

23 25. "Arpopnygavh 20 innov xaravedionel 1 pihibyoauunoy Bhaiov
ward @oratov tmmov. “H fotia 1 Oeouaviue elvar el deppoxpasiaV
180° ‘O ovpmuxvorrig elva ele deppoxpactay 40°. “Ev pihibyooppov
ghalov nardpevov Sider 8000 peydhag deouidug. Nadxohoyiodf fioyds
Ty Omoiav da &gy § unygavi, v Ay § mogoyeuévn deoudene Bx s
navoewg tod Ehafov Ndvvaro va petatpan] 6hooyeos sl Eovov.

Adoeg : Eig £v devtegdlentov fj unyavi) xatavalions :

IR e
—m = gﬁ LLALOYD. EATLOV,
8000000

-Omep Avantioe — pixois Seopidag.

180
Totito magiotg piav togiv

8X10° X4, 17

= __JRTW LLTOVS.

“Hrou 251,8 inmouc.
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“2I34. ‘H rayime ol fyov eic 1ov dépu eig 0°eivar 330,6 ué-

’

Toa" mola elvar f) toydine gig 30° ;
; : ; SN B fe,
Adoeg - Nao— 300:6 14 TYEI e 348,45 uéroa.
¢ nolav deopoxgaciav §i taxlng tig unetaddcewg 10D
¥ov el 1ov Gépa elvar 336 néroo ;

2

o
o
L]
ar
4

L]
=
&

Avss : 330,6 V 14x. 0, 00367 = 336
®atl x = 89,95,

LI36G. No dnoloyiodii 1 tayimne o Hiyov évidg tob Hdpoydvov,
& P d a ~ N4 0 I3
Otay {j rayling éviog tob dépos eivon 340 pévou.

Adboug - WS, —%4_—0_= 1297,70 péroo. y

= V0,069

3'%. IMolov elvat 10 wijrog wipatog eic TOv Gépa fyov, tob
5 i :
Unofoy § dodipdg tdv makudv elvar 435, Tig Tayvmros petaddosmg
09 Hiyov lc tov déoa ofiong 331 uéroa:
I~
331 :
Adgug - A= = = 0,761 pérpa.
435
258 . No ehpedf § drdotaoig, 1 omola ywpiler dbo oradpors,
Waoorod dvroz Gt & xpdrog tnhefolov Satpéyel Ty dmdotacy  Tav-
My Eyvog 20 Seviepodémta el 22"

W

ddgig: e=20%330,6 \ 1--22X0,00367 = 6869,87 uérgu.

9. [olov elvar o uijxog xipatog eig T0v déoa iixov avn-
Stoyotivios elc 40 muhpotg xava devtepdhentov, eig deouorpasiav,
*ad® fy { togding the wetoddoews tob fiov eig tov dfea elval 336
HETQQ 2

: 336 :

Adgu - = T 8,4 uérpa.
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26 0. Ioiov elvar 1o uijxog xlpatog Bviog 10l Udatog, fiyov
avriotoygotvroc eig 40 madpove ravd  Sevrepdhenrov i “H tayvine tol
fixouv Bvtdg tob Udatog elvar 1435 péroa eig 8°.

1435 i :
Adoig - A= —— = 35,87 pérpu.
40
26 1. ‘0 nvytdg dlonog wdg oepfivos Fer 24 dmde. Iotov

givar 10 Dyog tol moupayopévov fyov, Gtav wduver 1104 crpogds
ot Aemtdv ;

1104
Adorg: 24 X —— — 441,6 modpol durhol xard devregbhemtov.

2262, Znteivar 10 fddog poéarog, yvworod dvrog Hui, dtav Alfos
aoietar Elevdepos el 0 otdpiov avtod, & wgdrog tiig mrdoews ol
Atdov, Grav @idvy els 10 &v 1) @oéutiidme, droverar 3 Sevrepbhenta
peta thv oyl xal’ v agpédn 6 Adog Ehevdegog. “H taydng ol
fiyov xota v otyufv 1ol mewgdpartog elvar 340 péroa, %ol 10 g =
9,8 uéroa.

Adoug: Magotdpev Sid t iy didpretay tiig nrdosme tod Adov,
xal S & v dudoxeiay tiig Emavddov tod fyov.

1
Tére Eyouev : x e S 340 8. = 340 (3 —t) Gepov t -9

3. ’A:m?.s{(povre; 0t #ouev v Elowowy:

\9—2[340 X B—f-(dm) J x - (340)* X 3¢ = 0

s e

nul X =408

2263. Xopdny tewoudvny Hud Pdoovg 4 phoyodunwy Gmodide
figov, Gong dvuotouel elg 200 malpods xotd  deviepdhemtov. 2N
tobvray lov. Of dpduol tdv modudv, oftvec 9¢ Grododdoly 070
PR A TN R 2 o Ao A

TV =, Tlv 3 #ul ol - s yoodiis. 2ov. Of dpdpol 1dv me
udv, odg 9a Groddoy f x00dH, tervoubvn aAndodaddywe oo 9, 16/
zal 25 yloypdupomy. 3ov. O dGordpol 1@v modudy ddo dhhwy xooddY
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07 adtol piwovg xal tiz abtiic Sapfroou, @v i murvérng elvou
e udv dc 4 goopds, tic 8 dhng 2D gopds peyalutéoa.
Avoe: Td tpoc tod denehihdovg Hiyxov wids 7opdilc Oidetun Do

S0 1 )
00 timov: n = O \/—%‘——

ov c Ely srobowe avdhoyov tod uizovs tiic xoodis.
. To tpog elvat dvrotodpmsg

= 2 qy T i
‘Enopéviog t Tpog 1o Gmoddopévor iyov {a etvar

] 3
O s tiie yoodiig: 200 X 4 = 250 maipot
3
dud T —?—- » » 200 < e 300 »
» » ;— » » 200 2 =400 »

\ e

= S e
2o0v. To Mpog elvan Avdhoyov Tijg TETRUYWVIXNS 6ilng tod rx—:wox;tog
A Nl i e
fdpove. "Edv howdv 6 dodpdg tdv mahpdv, 0 dvIOTOLLOV E18 Bdoog
4 ywoyodupow glvar 200, 9 Eywuey

3 3
St 9 poyo. @ 200 X 5 =300 waluovs

4

> 16 e 200 -_2—=400 »
H

» 25 » 2200026 9= 500 »

3ov, Td thpog duolwv £oaddY, Stpdowy Sporg muxvoritoy, elva
&thotgérpmg Gvdioyov Tig TETOOYWVIXIIS 6ilng tig munvérnros. “Edv
i yopdiy wuxvéimrog d 10 Hypog n= 200 modpoi, Ha Exopev:

200 A
At monvétnrae 4d: A =100 mahuovg
200
» » 95d : = = 40 »

LG 4. Xopdy wiprovs 50 Sqatootopéromy xal Erovoa walav S0
TRoppooioy #xrehei 100 madpods natd Sevrepdiemtov. Ilotov elvau elg
Youppdois to teivov [doos:
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1 ey

Adorg: "Equondtopey tov timov: n = - \ /P2 .
2rl \ nd
bl G IPROR T e ;
n =550 \/ ot nal P = 163099 yoopudorc.
50

265, Na eboedf 10 Hhpog #yov mapayoudvov tnd clpuartos
xadvBdivov, muxvdmrog 7,8, Erovtoc uiinos 1 pétoov, Swuérpov 1 -
Aootopétpov, xai tewouévov o Pdpove 42,64 yhwoyodunoy.

15 \/ 42540 X981
0,06° 100 Y 31416 X7,8

xal n = 130,5.

1
Adoig: n==.

c o

GG. Avo yopdai, i uio B ydhvPog xal § &My &x yodxod, ol
avtol wixovs xai tiig adtiic dienérpov telvovian Eat Evde fyopéroov.
Al 800 yoodal tewvbuevan Hrd lowv Papdv amodidovowy Siadoyds
fiovg dvriotozolvrag eig 261 naluodg 7 modtn, xal tle 245 maluots
1 Sevtépa. Tg muxvdmrog tod ydhvfog ofiong 7,82, va tmoloyiadf
lov. ‘H mvxvérng 10t yoheol. 2ov. Molog moéner va elvar 6 Adyog tiv
wewvdviov foapdv thv 8o yooddv, iva droddowol xoi af Svo OV
adtov Nyov ;

Adoig: ‘O timog elvar n== ZLrl —Iifl
lov. "Av maguotijowpey dud x thy muxvdmtae tob  yodwod, OO
Eyouey :
Aail \/ X
245 7,82
sdieey 2617\
g€ ov X, 800X 545 i x = 8,87

2ov- "Edv 1 elvar 10 $og fixov magayouévov md  y00diic mv-
wvémrog d, xai vewouévng dnd fdgovs p,n’ w fpog Hxov mapayoué
vou Umod yopdiis munvdmrog d°, xal tewvopévne Hd Bdoove p’, depelho-
UEV VO Exwuey :

: - T
4 n'_\/p'xd
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*E&@ ta tyn elval Toa, Erouévoc :
7,82

8,87
1 #\/.___ € ov , =
T8 - 8.87
267 . Iolog givar 6 @ddyyog, tov dmoiov amodider yoodn pi-
xove B0 Exatootopérowv, Luyilovaa 2,51 yoappdolo xutd pétgov, xal
wwvopévn  vmo Pdoove 25 xowkdv ; Iolov elven t0 pijnog ®xparog tod
fyov totrov eig 10° ;

= 0,88,

LRk

Adboug :

1\ [35000<981 .
L \/_—“0,023T' el

2 S A LA 5 :
ut, dvriotowyet eig 261 matpovs, 326 — 261 X T slvar  mi,

337

Tod pijxog wipotog A = 396 =

= 1,033 pérou.

L6 . Avo Spowa yoodai drodidover 8o fiyovg elg 10 dudotmue
tiic méumne. To teivov Pdoog St tiv Pagutéoav vitav elvar 2 xhid-
Yoapuo, molov gival T0 teivov Pdooc S thv ddny ;

Avoug:

n’ 3 D g P ’
D - P' = 4,5 phoyoappa.

26G9. 2oy dvotog pirove 64,06  Erxatootopfroov  elvon
mhjong Gépog eig Veoponousiay 10°.Jlolov elvar 1o Thpog tol deuehid-

dovg #yov ; ‘H taytmg 1ol fiyov ele tov déoa el 10° elvar 337 péroa.
Adoig:

3

= 261.

_ 2X33700
= 4X64,56

2. Ioiov elvar 10 pipxog dvorntod Mymrnod swhijvog, ¥1oviog
&g degponpaciay 10° g depnehddn @dbyyov 1o siy ;

Adorg: ‘O Goudpdg tov nahudv tob si, elvoe :

435 g = 489,375
489,375 = 2_>_<1—3§£9 wal I, = 34,4 Exarootdperon
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27 1. Ilotov elvar 1t piinog xhetstnd Tynrixold cwhiivos, 8otig
whiong Gfoos elg 0° Bider euehicdhdn fxov 261 madludv ;
33700 ;

Adog: 261 = T xal L, = 32,28 éxatoctéueroa.

T2, “Hynunds colyv xhewotdg mopdyel 1ov tétagtov dopovi-
T 5 c - S P 5 Qs
xov si,, IToiog elvar 6 depehiddng Nyog,ov waodyet 6 cwhijv, xoi moiov

0 pijrog 10l cwhijvog tovtov ;

Adorg : Znuioopsy nar’ doyde tov doduov tdv mahudyv elc thy
Sevtéoav, dvriotorgoivia elg tov @ddyyov si,.
I'vowpiCopev o1 la, = 435 maluol

' 9
Sl = 1'1:. X ;5- e

si, = si, X 2 =435 X § X 2 = 978,75 madpol

[0 Thpog E€vog dopovixol 10l magayopévov Omd xhewotol cwhil-
vog, Oideton tmd ol timov :

A (2p+1) &‘1;, (1)

gig Tov 6molov p elvar elg Gordpds aréoatog, V 1 tayitng tol #gov
xal I, 10 ufirog 1ot ocwifjvos.

“Orav 6 cwlv arodidy tov téragtov dopovindy, Exouey :

. 9 e V

435)<§ e — g In

. V 435 >
e V54D, 9
€ ov AL 1 (2)

Aii va Eyopsy tov depediddn nyov, doxel elg tov tdmov (1) va yivn
p = 0, dneo, droloyilopévov nal 100 timov (2), d{de :

Ottw 6 Gvricroydv @ddyyog elg tov depehuddn Hyov elvar loy.
*Eav tdon déhopey va dnokoylowpey 10 uijxog 1ol swhijvog, GoKEL
va mapotnofoouey Ot éx tiig oxfoewg (2) Edystan :
A%

Ler=mp
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“Y modérovree thv Degpoxgaciav Tony mpog 0° xai tov cwAfjva tidé-
uevov elg mahpiv xivnow oyl did tod Gégog, dpellopey vi dveiata-
atfiompey 1 V né 331 pérow, Goudpdv Gotig Expodlelr v tayimmra
70D fiyov eig v deounorgaoiov tadrmy.

331

L=

= 0,76 péroa.

T3, Hymwdg cwhiy dider eig tdv dépa, elg eopoxguaiav
A B = ; . 2 5o
10°, fyov 206 mududv xara devtepddertov. Buhilduevog éviog Vdartug
3idet 1150 mahpovg. ‘H tayvimg V 1ol fixov &ig tov dGéou elc 10° eivan
337 péroa. Ilota elvar 1) taydims V' 1ob fixov évidg 1ot Udartog ;

Adaoig .

— = xal V' =1514 pérpa.

VI. ONTIKH.

ACHOLOT O MIE TR P IA

2% 4. Iola elvan ) dndoraois tiig yiig dnd dotépog, 1ol dmolov
0 @i St va @ddoy gl thy yilv yoewiletar 5 Fn ;. Taximg @wrog
300000 yihdperpa xard devrepdhemtov,
Adars :
d =5 X 865 X 24 X 60 X 60 3 300000
d= 47304 X} 10° yhdperoa,

2% 5. Ilolov eivar 10 pog mheyov, Borig binter omdv 42 pé-
Tewy pirovs, Otav otéheyog nataxdovov thpous 1 pérpov Himter ouidy
80 éxavostopérowy ;

H 4200 LA,

Adog : = = ——— = 70 pérou

1 60

LDYG. Mo potaval anyol mol pwxgal, Tdv 6rolwy ai Bvidoelg

“Elvae petakd tov GOg of dGodpol 1 xal 4, ebolonovrar elg dndoracty 2
11
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wéroowv i wla tiig dAng. Na eboedf &ni tiig edlelag, iitg tag évaver,
onueiov, ££ {oov poulépevov b’ Exdotng EE adtdv.

Adgic: “"Eorw C 10 Inroduevov onueiov, Eotw 88 x 1 dndotucis
Tov Gad T QoTtewiig mnyfic A. Al moodtnreg tol gwtdg, al hapfavé-
pevan ele 10 C & péoovg v do mmydyv, elvar dvdloyol tdv Evidoewy
Wy mydy, kol dvnotpdpog dvdloyol To tergaydvov  tiig drootd-

’ AL el ~ A \ B 2 L & RS ~ z
sede tov Gmd T onpele A xal B. Zvvendyg 1) Elowaig tob moofiipo-
tog O slvon :

1 4

x?  (2—x)?
4 —4x}x*=4x?
3x*F4x—4=0

ma

T
(=]
(=]

—4+\16448 —448
X = = —_— = ——
6 6
e z— wal  x7 =—2

29y . Abo ghéyec Bvedoewg 16 wal 9 dnéyovory Aoy 140
éxatootéperoa. Eig molov onuelov tiig evdelag finig tog Evdver, moémet
vé tomodedfi dudgoayna, to Smoiov va gotiletar & {oov dmd 1OV
8o @urelvdv anydv ;

Avoie : "Eoro x 7 dndorocic 100 Siagodypatog Gmo tiig io1vo0”
téoug  QTELViig TMYG.

Tére Eyopev : B0y a1 J

gt X (140—x)’
‘H #lowaoig atin wdg 8idet dvo Hilag :
x = 80 noul x = H60
LyY&. Ado porewval myol A xal B Eovewy Evidosie 1 xal I

o = , 1 = : . ae
altiveg #lovoly Adyov T = V3. IléoiE tod onueiov O, péoov e

AB, meporpfgerar orfhexog pirove OC = OA &ig o dngov C 100
13 ’ s [/
omoiov efiploxeton Sidpooypu hevndv otepewuévov ote va elval adv-
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tote wdderov énil tiic AB. Znteivar va ebpedfi § yovia o = COB, &
v 6molav ol 8o Gyeg 1ol Sagodynatog v gotilwvrar & Ygov
Vo tOv d0o QUIEVDY TNY®V.
Advoig:  TAv 1) Bviaoig tiic A glvan dvotépa i B, 10 onusiov

C eivar mhnootegov mpog 10 B
mapa mpog 0 A.

"Eotw d 1§ éadoracic AC ol d' ¢
A dndotooiy CB. To tolywvov ACB
slvan dpdoywviov elc C, oupmeoai-
vopey Guéomc Ot 1) yovie mpoo v
atoewg ACN riig dxtivog AC pera S e
tiig xadétov NC, elvar ton modg

LR , ,
= %ol 0u 1) yovia mposmtmosmg

2
N'CB  avuortorgoiioa elg v durive BC  glvar t cvprhijooua g

2
Qotondy 1ov mtapayduevov U tod A, xal E, tov mapayduevov Omod
wi B, 3¢ #ouev

o . > z F o . \ i, P
5 + Egoaopdlovieg tov vépov tdv cuvnutovey xal xalotvieg E,tov

@ o ;
I ovv > (| St B et g
2
E‘__..._(Y,_.._ > i
& / : e
. ® a
wol B, = —— ; e ﬁ. B
2 ae A Q » =

Kol oot E, mpézer vir el-
var {oov mpog 10 E,, #Edyousv #x tdv o ldotifrov Tiv opiowv :
Il 0}
= (1)

o — EQ . =
[ede 2
2 . ’ iy . poi ~
*EE dMov duvdpedo va éxgodompey o d zal d° ovvagrioet tiig
Yoviog o, xai tdte Fopev :
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£E o0  ocuunegalvousy :

L
= S | —
ds NO) Vg
auv s
‘H io6we (1) yivera tdts:
1 ® . M
el A
JE ) 2
5 (s e
5 o AT
. . 1 b © i 50 5
Eoto tdoa ~l~r- =\3. ‘&0 e = Vi elvon 1) EQamropévy
[

Tig yoviag tdv 30°.

O Exouev Aowdv odmra thy dlo @oropdv Exl tdv dvo dpewv
0¥ Sagodynatog dtav to otéheyog OC da oynuarily peta vijg mhev-
pdic tiic mnyfig tiig wwootéong Bvidoswg yoviay 60° perd tiig £0-
delag AB.

B’. ANAKAAZIZ ®QTOZE

a'. 'Enincle ®ATORTE%.

27 Y. [Hapatmontyg SH, tod 6rxeiov 0 Uypog eivar 1,70 p.é'tga.
soplonetal drévavr Emnédov xardargov AB dodoywviov xal xuraxo-
ovpov. Znteitol eig motov Hipog dvawdev toll Eddpovs mEémeL v Tomo-
Yetndi 1o rordrepov droov B vol nardrnrpov, mal moiov mpémel fva
slvan 10 fpog tob xatémrgov, iva 6 maguinonThs mooutnofital GAG-
#whnoog, oladimote xal dv elvar 1) dndovacis tov dnd tol xardxToOv ;
“Yrodéropev Bt 6 dpdaknog O elvar 10 éxarosrduetoa ‘and tiis xo-
ovoils Tiig xe@uhiis.

Adbais : “Yrodéomuey 10 xdronrgov MN peyadeivegov tol mooa-
monTtol xal romodetnuévoy xutexoplipos £l to Eddpovs. “Ag Inri-
copey 10 tufipa 1o MN 1o gofotmov did to Dog tol maparngntod
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— 165 —

SH xai toi 6moiov 6 dopdaiuds elvan eig 1 onueiov 0. To &ldwhov
S AN TR s : X
10 SH elvan 1 elxov ) ovpperomdy S'HY. “Iva 6 wopatmontig mopa-
e i i 3 5 it 5 5 ;
ot 1 onpeiov H', moémer | dnn) duris OH' v ovvaveioy 10

2 E £ A
wdvomroov, froufvog va dvaxdact el 10 onpelov B. Zwvemds ) pe-

X e
yiown dmdoracic 1o¥ xatwTéoov dxoov 100 xutdmTpov dmd Tol £ddqpoug
elvar | BN.

."0
OH 4 BN=- =080 u

*Eyopev : BN =
; 2 g
“Iva & mopamonthe dn vhv xogueiy tol  elddhov, mpfmer
Bt dwile OS va ovvavtd 10 xdronTgov. ‘Enopéve 10 Ehdyiotov
uéyedog 100 natéaToov mpémet va elvor 1O BA.
SO SH e 1,70

s # BA =——=0,8> pn.

AN AB = 5~

Swvendg 1o uéyedog 1od xardaroov dgeiiel v elval t dAwydregoy
1 fluoy b peyédovg ol dvixetpévou, #ol 1) dndoracts 10 xatw-
‘EQOU axgov 10T ®ardmTTOOV Gmo 100 Eﬁacpoug moémel v elvol 1o mo-
A Ton mpdg 10 Huov g @rootdoemg ﬂr]E xataropVpov Toh  dgdak-
noi tol mapamonrod Gnod tob Eddeove.

280. "Eotwoov 0o Eainsda ndroarpn B wad T’ xddeva mpog
1 nimedoy tic edvos. Na Seyrdfi Gu, Edv wla dutls pwtawvy néoy
Bl o0 xatérroov I, Gpob dvaxhaodf modrtov eic 10 B, i) devréou,
Gvaxhouévn, oymuortifer netd g aooomarolong elg ©0 B yoviay di-
Thaoioy tiig yoviag tdv do xatdatowy.
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Adoic: "Eotwoov B xal I' al tonal tdv 8o xutdmrpov, xadérwy
mpdg 10 Emimedov tfig eivdvoc. "Eotw RDB dxtig mpooninrovoa
gnl 1ol B xal, TO § dvaxhopévy dxrig éxi tol devtégov xatd-
argov I

‘H oymuotifopévn yovia dxd tdv  Sbo Sievdivoswv RB xai T'O

¢ n &

elvar 9 yovia TVOB’ 3 § {on modg admyy ['OB. Ipéner va Sewyd
g1t TOB=2TI'AB. "Ectww B #| yovie mooorvdosng &xi tob B xai v 1
yovia mpoomrdoewg gai tod I,
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Bigtd rolywvov BOT Egouev:
yovia O - (180" — 2p) -- 2y = 1800
2E ol yovie O =2 (B —v)
Eiz 15 tolywvov BAT Eopev gnlong:
yovia A - (90° - ) -+ (90° — B) = 180°
€ ob yovie A =0 — v
fxondvoe yovie O = 2A yoviav.

K x 2 1. "Ev gorewvdy gavipevoy  Exavalopfdveta 435 @opag
xuté Sevrepbhemtov, Bhémel g toiito nagoe®dv T edwhd Tou T
Stdogne  Bvidg Bmumédoy xotérroou Tomodernuévor &g dndotacty 1
uétpou And Tic poTewis mYis, 0 Gmoiov oroépetan nal Extelel
5 groomag xatd devrepdhemtoy. Znelrat fi dnéortactg frig ymoiler o
suveyii edwha tod Qavopévov.

Adoig: "Ecto A’ 10 eldolov 1ol owvonévou Elg godvov t, ual Al

\ o w . 1
10 eldwhov elg yodvov t +23—:)—-

ol - . i ; =
Kata TO]-?T,)-“TOU Sevtegohénton 1O AdTOMEOV #yel otpail natd

voviay @ #ol 1 dvodopévn
dntlg IR Egew oroudi LT
9q. Td detrepov eldwrov A”
e0oloneran Bnl ToEOL TEQUPE-
oelag dxtivog TA" Toms npos 1
néroov, xai fi drdaracis Tov
G7d 1o modrov A'elval aiodn-
tig {on meoz 10 uéyedog wob
oy A'A".

" Tob dpwduol v aTEO-
@y dvrog D, § TN o

b i

gle ntivia elvan: —or —
= SR

10x

i3 Td pijroz AA’ 2uqpoalouevov €lg SxotootépueTon Elval:
36

%%ﬁw@_ — 14,4 fxazooudpeTod.
3b
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’f 28 2. Ao gotewval mnyal A xoi B tiig adtiic #videswe  goti-
Covou plav pupav 2mpdveiay =. AT 8o alditar mnyol Stvaviar vo pe
tateddol éni dvo edVeidv ZA nol EB wol oynpatiovor perd tig no-
Oétov Enl tilg Empavelag yoviag Toag. Na edoedf i oyéowc finig npénes

N e A ~ 5 ’ . o U
va vglotatar petafd tdv amootdoewy A = x xal 2B =y, ive
N wxea Em@dvea datnofi otadepdv  @atiopdy.

Avoig: "Eotw o 1) yovia v 6xolav oynuatile §j xdderoc =M
uetd tdv Sievdivoewy TA xai B.

S
e

,f §
I
llr 7
Al P
Al moodtes 100 Qutig al Aapfaviueval elc 10 £ md tiig povd-

dog tic Empavelag, elvon dvuorpbdpmg dvdloyor ol teTpoydvou THE
Grootdoewe Gnd TG mMyRg, ®oi  dvdloyor @V cuvmuirdvav TS

whiogmg v dntivoy.
Atra 90 #wow duoPaing o tpde:

—

I \ e e e 2
—ouva ol chvu omov I 1) Bvracwy &xo-

X

omg 1dv Tnydv A xal B.
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‘Bropévoe xatd 10 modpinna mofrer vi Exopey:

I

I
—ouvv o |- )m,‘, o = otadendy

dnhadi Touvva (-— - -—-) — gradepov

*Oepsilovaty ovverde 10X xnat y va Eumhnoodv v ogéory :

1

et y_l — gradeodv.

6. Egpourpind RLTONTIOO..

f— 2@ 3. I oMt umolov Bew Hipog 2 Exarootd xal ebplonevat xo-
Béroog Enl 1od wuplov dtovog rothov oparoxol wordmreov 30 Exarootdy
fotianiic dmootdoeng xal elg dmbotaciy 40 Exurootopéroov Gmod THc
nopugic tovtov (i ﬁrmv g phoydg elven Emi tod  dEovog). Zmretto
el molav dmbotacty dmd tiic xopueiis da oynuatiotf to eldwlov
xol wotov O péyedéc tov ;

Adog: Timog: —t— =i

; N e Tt el
H 9¢oic dideron Drd tijg EELOMTEWG: =30 a0 1

ElSolov dviestoapévov: p = 120.

P .
T péysdog roli elddhov eivar: o7 0 3 # ob 1=06 éxor.

2@ .4, [Tola elval 1 Suinetpog tob eldwlov 100 ‘Hlov, tol oyn-
natiouévou Hmd xolhov oqoiood ratérrpov dativog 2 pérpov  xal

00 Gmolov 6 wiplag diwy dievdiveral 7p0g TO #évrpoy T00 doTQOV ;
‘H quvopévn didperoog 1o ‘Hitov eivae 32 modra Aemud.

2

Adoeg: To eldwrov d& oymuoriod i 10 gotiomov  Enimedov, Oa

elvar wdrhoc durivog T'A.
To anueiov I elvon 0 cSwhov 10U ®évroov, nol 10 onpelov A 1o

El8wlov Evdg onuelov tol dxpov ToT fihlov.

“Eyopev 8¢: AT =T0 e 16’
AF == 16
AA' =2 ¢ 16
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*Edv trodéowpev ot 1) Bpantouévy toil tokov 16" cuuminter peTd
w07 Téfou 16, fi vuh tovtov eig megupéoeiay dutivog 1 pérpov sival

(i ]

= 150 % 60

1 = 0,46 E&rotootdpetoa
gt ov AA' = 0,92 Eéxatootdpetoo.

<2&5. Lic dndoraowy 1,40 p. and tijg xopvpiis = nolhov opat-
oo ratémrgov Gutivog 2 wétowv, tidetar wirgog PWTELVOC ®UnAOS
Gurivog 1 Exatoctop,, 10D 6molov td #évigov cvpminret perd 109 Rupiov
dEovoe. Zmreitan el molay dndotaocw and tilg ®oou@iic S moénel v
ronodem 3 EnimeSov xdrontgov xddetov mpdg tov dEova iva 0 xévipoV
tof e1ddhov ovpméoy perd tod xévigov tob xdxhov. Iota i glvon 1
Siduerpog ol wixhov tod elddhov tovtou ;

Adgig : lov. "Earw AB 1) dutig tot Sodévrog xinhov. Ilgotol to-
a09etndf 10 Enlnedov xdrontoov tig A, 10 eldwlov 1ol AB dg mpog w0

X T

wothov ndromrpov oynpatiCetan el A'B'. “H mapeufols) tod 2mumbdo?
vatbmroou el dg oxomdv va dwoy eldwhov mpaynatidy A,B, ov¥
petoumdy 1ol elddhov A B’ (¢ mpodg to xdvomreov IT,
Td wdromrpov 11 moénel ovvemde v edolonerar el Bv onpelov A
’ -~ ’ v’ rl 3 ’ ~ 4
néoov tiig eddelag BB Sxep ywoller 10 dvuxelpevoy AB 1ol eldoho?
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tov A'B’, xai elg dndotacy dmd ol X Eotw d, ooy dote va
:
EYWuEY :

- 2 BB’ p— P+ p
d= 2B + oyt I o T
c , i o ! =g, 1 1
Y zohovyiCopev to p’ #x 1ol yevinol tumou ; - o =
1 i S R
]40 + = {00 g o0 p’ =350 pérea.
‘Enopévag: d= B j;—l i d = 2,4b péroa.

ov. “Orav 1o ewhov A'B'= A,B,, 10 néyedég tov i dideron
Ond T G/EGbmg
L=-li & o0 s 00
0 p 7 1 140
xal 1= 2,5 ExurootdueToa.
Td i nuplord v dxriva tod elddiov. "H Suinerpdg tov Vi glvow H
EratooTépETQA.
2RG. Dotendy onusiov ebplonetal gz drdoraoty 24 éxarooro-
Hétpmy dmd thg ropveiig xoikov UCPD‘.![HXOU ratdrroov atiaxiis drootd-
oewg H Exarootd@v. Ilod Gx‘nufltltﬁal 10 eidwidy tov; "Eav 10 -
Tewdy onpelov drronaxrolverat #atd 3 ExATOCTOM. amd 100 xatdmrpov,
®utd mdoov usmtu}emt 10 £Wdwhdv ToU |

1
Adaoug : s -I— — = =
~1 f
B2 b 190 . i X
== = = == : OUETQA. ’
b 1 =% 9 6,31 EXUTOGTOUETQ
*Edv 10 avireijevoy QuopexQuveral HOTA 3 EXATOGTOUETON.
) . ;
p = 27 x e = 6,13 Exatootoucroa.

‘Enouévig 10 eldwhov uscut(ﬁetm xata 1,8 yhiootduerpa.
2y . Eic nolav andoracy dmd  zuetod opaipol  xatdntpou
motney va tomodetndf mouynunxdv dvieluevov, iva 0 €ldwhdy tou
Omuartiodf isov mede to futoy 1o dvikeévou ;
I P

1
A'ﬁo’tg v -—(—)— = ——I; = —2—
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28 m. [lola 1 dntlg nopmvldnrog noikov xardnrgov, elg 6 @u-
toféhov onpeiov, tidéuevov eig dndotaoy 0,0 . amd tiig nvplag Eotlug
aynpartiCer o xad’ Indoraowy eldwldv tov eig dndoracy 12,5 pérow?
dnd i ®vplag fotiag ;

Adgug : p—1-1-0.6 p =f--126

1 i 1 e
05 " fF125 " i
24 12,5 £+ 0,56 f=1 - 0,bf + 12,5f -}- 6,25
12 —"6:25 doev f—a25 ol R=5

2289, Dotofdlov onuelov xelron énl ol nvplov dEovog xoikov
c@aLprod xatdntpov, elg andotucy dn’ adrod terpamdladaiav tiig dutls
vog xaumvidroc. [Tolog 6 Adyog tiic and tol xurdmtpov Groctdoens
100 eiddov adrol moedg iy Eotiaxiv Grdotucty ;

-
8f 8
LDir. "Avoeiuevov tyovg 4 fxarootopnfrpmy tomodersiton Ao
Dftwg énl Tl wvolov dEovog xul eig dndoracwy 10 Exatoor. Grd ®ve”
100 opuiowod ratdntpov fotianiig drootdoswe 30 Eraroctopbromv:
Na etpedf 1) ¥éoig ol 1o uéyedoc 100 eiddlov.

i
Mog: p'=—r=-— =iX s Bis

Adoig : lov. Ofoig tob elddhov. ‘Eviaida Exouev

(B ST S e R P T ST Sl
P iy " 95— e %ol p=00

e

At slvar | Grélurog tiw). Ak va Byopsy v déowv dvev wor

s e 3 S e 1 i 3
taoxeviic, Mopey v yeviny  Elowowy — 4 — = — 1—- (g mO05
p

3 ; 1 4 :
Toutpi ?:_E %ol p==—"15

To onuelov toll  p’ dewevier v Héowv o eldwhov.
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2ov. Méyedog eldwhov : D= 5= 0,75 ol Gpot O =4

[ =4 X 0,75 = 3 &xavostdueroa.

291 . “Ev xolhov opuomndv ndtontpov £otianils amoordocwg f
®oi v TV ooy rdtowtpoy, otiaxiis Grootdoswg I Exovol Tov
udrdv xvolov Gtova, xal tomoderobvral el Gndoracw Gn’ dlilov d,
oltmg dote of dvaxhaotiral Empdvelon adtdy v eivon § pla drévavt
g dihng. Eiz molav dndotacty petafd adridv mpémer va tomoderndi
ebdeia wdderog Emi toU #owol dfovog Tva ta AapPoavipeve vmo tdv
do ratdrronv eldwha slval {oa ;

1

Aveg : *Eotw p 1 dndotooig the orewiic etdelac off ano

W xothov rdromrpov M. ‘H dmdotanis tng dmd 10 xuptov wdromegov
M’ 9 elvar d — p. ‘O timog 1dv wolhwv xutdnrgwy dide :

1 1 1
L b=+ (1
D D f
¢ 1 1 1
i ke % e S N BB 9
O timog tdv nueTdv : i 2
Tvooilopey Su 1o péyedog tob elddhov ovvagrioel 1ol Gvikeipé-
2 LT PR R
Vou §idetar Um0 thc oyfaews o Ir{
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Eic v neolntwow 100 mpofiiparog té §o Aapfavipeve eldwha
moémel va elval loa.
d—p

“Qore : li- = . (3)
P Py

Awiva Byopev T D Goxel v Eakelpopey th p’oxad p,’ petad TOV
gwdoewv (1), (2) =ai (3).

2 = 262 : el 1

Ex vic (1) &dyopev: —= =f —

*Ex tiig (2) . 1 1_ 71 *Aviadiorduey  tag 'El.l.lflg
- i pi, ' d—p

tavtac gig v (3), »al Eopev :

() -0) (F )

R

p(Edf)=f(d - 2
£(d2f)
L0

“Ive t0 mEdPAnua elvae duvardy, § upd) tol p moémer va elvol
uxpotéon tot d. -

5 o f(d+421)
Hrou: —fT

wai £d - 21f <fd41'd
g€ o0 2f <d

<d

Goxel dowmdv  Tva ) dmdotacis d yivp dvotépa tig dxtivog waumuhd-
troc 10?0 xofhov warémroov. ‘Avnidapfdveral wg riels Ty neol-
atwew abtiv pévov v towoltov xdromrpov 8ider eldwla wupdreon w0l
dvuzelpévoy, Evd Ev xuptov xdromtpov Bider mdvrote eldwha, TV
Smolwv 10 péyedoc elvar podtepov 108 peyédovg ol Gvrixeluévov:
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I'. AIAGAAZIE Q©QTOZ

@'. HKipiophoto.

29, *Axtle povoyedov potog mintel Hrd yoviay TOOGTTWOEWS
90° #mi moloparog Sadhaotindis yoviag A xal #Eeoyouévn 1od  mol-
oparog oynuotiCer peta thig xadétov el 10 onuelov tig 8E6dov yo-
viay 8, Na edpedfi 0 delung dodhdosws tob molopartog GUVODTT|OEL
tHic yoviee A xal tig 8. ‘U yovia A =60° xal §i d= 300,

Adoig: Tiz yoviae mgoontdoews e 1 oliong 90°, Epagudlovees
oV vpov tiic dathdoemg Exopev:

1=n, fipr (1)

Eic t onueiov I’ § tdog vépog pdg dider ip & = n. fw. 1’ (2).

Bise r

At yoviow A, r xal 17 guvdfovrar dud tig oyfoewg A =1 |- r'(3).
- 5 3 ’ ’
EE aidtfig #tdyopsy 1 =A —r

*Aviadotdveeg elg Ty (2) Eopev:

mud =nmpu Aowr—nmnmur cov A (4)
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1 . ¢ IRl .
Dy 5 S — %ol ovy 1 dua 1 — - —=\/n®*—1 Eouev:
ovdvieg i 1 B — == n
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e

R o nud +ovv A,
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A NS,
nw .

]

i
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ouv A = —;— N d=—

7
emET R
S s 2330 S ol h—10521

293, ‘Enl moloparog Swwdluotniic yoviag 60° ainver déoun
gwrog povoyodov. ITapomeobuey 8o fi yovia tiig EEwodong dutivos
slvar 7 ade) ué v yoviay npoontdoews  Srav ad elvan 60°. Zn-
teital 6 deintng dadhdoews tol moloparog.

Avoie : ‘Edav ) yovia mpoxrdoeme elvat Ton mpog v yovioy s

{3

2Elovang dutivog, téte etpoxdueda elc v meointwow tiig Ehayioms
EnTpONTS.
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*Of timoL 1ol molowarog téte elvon: A =21 — A (1)
A= 2r (2)
“Ex 1iig (1) &Edyonev:
A+ A
T
L A
kel #x tiig (2): =
A A
; e —5——
£ ov A — 2 — il
T
nu ?

‘Enopévoe, agpod A = 60° xai A =60°
nu 60° o
== e— e 3
nu 30° v

29 4. ‘O Seixme dadhdoswe 10d Harog Mg modg tov dépa lvan

11

4 . .
5. wal 6 deixng Sadhdoewg Tiig tdahov (g medg Tov Gfpa elval —

Totoz § Setnene Stadidoswe Tiig ddhov g modg 10 HdWO ;

Avoie : "Eoto i ) yovia mpoontdoswg drav 1) axtlg petofaivy
2 sy ’ ~
S wod (datog elg Ty Uadov, 1" i yovia mpoorntmoeng Evrog tig ddlov,
nui

=, ~ \ o
O Belune diadhdotws tiiz ddlov g mpds 0 idwp elvan o

Sungdvae mpde tov vipov tig dadhdoeng Exppev

4 letatd ‘i'
? nu 1= 9 nu
o
. 2 9
gecly 1
"0l Adovreg Eyopey : ?}%{zz—:? )
87

2915, Iloia elval 7 yovia tiig Blaglotng Extponiis dud molone

<

T@viag 60° xal detxtov diadhdoews —-:

12

‘PanlorromBnAKs amoé 1o lvetirouto EkmaibeuTikrg MoAmkrg



— 178 —

r = 3 D 3
Adaoug : n i, = o A0— o

*Extgomy A= 2i, — 60°

29¢. Potav artic aintovon tnd ywviay mpoonToEmg 1 Eml
mwhoxde Bahivig e nagannhoug 8dpag mdyovg €,xai delutov ﬁmﬂ?‘oto'em’
11, EEéoyeton mapuhihog moog Ty dxtive MOOGTTOEMS. ZnTELToL Vit
fmoloylodf # dmbotaoi ) petaty v dlo eddeldy g mooextdoeme
tiiz mooomrovong ai tiig EEegyopnévng durivos.

A

Adsic: "Eotw Z1 1) gorewn dxrig ijtig mintovon &mi the Bdpac.
AB ©1d yoviav i Eéoxetar tiig mhaxog pe devduvory I'R napehhihes.

£

st

’
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.

.
o
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'
.

1l

tiig mpoomurovong. Znteitar va dmohoyiodf f I'M.
Dépopev tac radtérovs el I xat . "Eoto ri yovia fioymuanifopévi
uerd tiic Bowreowic dxtivog II'. Elg 1o teiywvoy 0 dedoywviov I'MI

EqOuEY : I'M = II' yu I'IM.
Smhadn I'M = II'nu (i—1) (1)
Td rtpiyovov IKI' elvar {oov aal dodoydviov nal #opev:

M e Rt Gmov & 10 mdyog tilg MAand
— owll'K ouy T H0G TS o

Wnoionoi|Bnke amé 1o ivetirouto EkmaibeuTikrig MoMTikrg



— 179 —

‘Avivatotdpey iy 117 elc v Efowowy (1) xal Eyopev:

I'M=

— i)

M= = (M i ovy T—nu r ovv i)
ouy T

#ol I'M=¢(mui—ov i@ 1) (2)

*Ex 1ol vépou tijg Stadhdoswg Exouey mui—=nnur

i ov EQ F = _I“il_
Ve —qpe i
. 5 J : 1
Atoviee #youev: IM=eqpi{ 1— - —
Vot — i

6'. dPPaxoti.

LD'Y. Potewvdov onueiov xeiton &t 1ol dovog @axol ocuyxhi-
vovtog Eotiaxiic mootdoswe f. Zntelral mole moémer va elva ) Gmd-
ataog 100 onuelov Todmv Gno tob @oaxol tva tol eldwhov oynua-
ulopévor mpaypatxod, ¥ Grdoracis tol elddiov dmd 1l Gvier-
uévoy elvan Ehayiom ; ;

. = i = 1 1
Adaig : "Ex 1ol tinov tdv ovyrhvéviov gaxdv (1) *-{-——,:T
D
Far . pf
gEdyopev: p = —
Edyoney Sl = ooy

‘H dnéotacie tol g@otewod anusiov dnd tod elddlov tou

da  elvan:
; pf ish
DL e b B B 9
- p Dk DT (2)

“Tva ebpmpey vy shaylomy nplyv tiic dxpodoswg avtiic, Yéropev

T o ; :
=m, xai AopPdvovieg T0 p @5 dyvwarov, Mopev thv Elomow :

p* — mp + mf =0 (3)

:*—-—\/n—ﬂ—mf (4)
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5 e - | 3
Iva ai 6iCar elvor moayparixal moéned

m*—4 mf > 0 fjroo m > 4f (3).

5

EE dhhov 10 eldwhov o oymuonidpevoy Omd 1ol goxol  Opelker
va elval mpayuatindy, tovréort :

p>f p’>f ®aul emoufvog m > 2f, mepintwoie Hog eivon
mdvrote duvari], Biv 1§ dviadng (5) éxmhnoolral.

‘Eropévig f) Shaylotn tud told m elvon 4 f, Ofrovies m — 4 f
glc 10v tomov (4) Exopev

Di== 21

Suvenrdg, ok va ddndeldy o modfinua, to Quwrewvdv onueiov
apénel va torodem i el; ulav dndocasy dGnd tol @oxod Tonv modg
10 Sunhdotov tijs Eotiaxilc dnootdoewc.

Elg v mepintosv tadony 10 eidwlov slvar cuipetomdv tob dvet-
HELREVOD G mEOS TOV QUrdY.

2OS. Knolov romodersitar iz drdoracy 4 uérowv andj da-
@odypacos. Metald tod xnolov xal tod Sngodymatos tidetar @oxds
fottaniis amootdoews 0,60 p. Bl nolav drxdoracty dnd  tod xmolov
moénel va ted{] @uxdg, dd va Adfopev Exl tol dagodynotog Ev-
noweg etdwhov: IToiov Vi elvar o péyedog ol  &lddhov, yvworod
ovrog Gt o 0poc g gloyos elvan B Exaroordueroa ;

Adoig © Awd ouyrhivoviog panod duvdusda vi Mifouey eidwhov

Foid ; P . ; 1 1 e

gni tob Swaodypatog. Eig wov yevirdv timov > -+ o = G
5 s et o L ek A A | 1 L
Jiwotdpey 1o p’ St d—p xaito £ S 0,5.04 Fouey 11e —f— =—
p 4—p 0,0

&€ ov : 4=—=8p—2p?

pP—4p-2=0
p=2%x\2

*Eyousv ddo Moeig -
p: =2+ 1414 — 3,14 péroa
Py =2—1,414 = 0,686 péroc.

Kot af 860 it aAndedovy 10 modPhnua, dibtielvar dernal  xal
uxQdteQuL Ths drootdoems vol xnolov &md tol Sapodypatos.
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2o0v Td péyedog 1ol eiddhov  cuvaotice tod ueyédoug tod Gvrixet-

uévou didetar v tijg oyfoewes :
S x k-1

i SRV
e D
o i 95 2 1o 01586
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%ol i,= 0,085 pérpa
Bl ot o 90 & e 3,414
3 LOPEV —_— = —
WoTHY TNV P DA Eopey 005 0558
Hal 1, = 0,29 péroa.

LY. Avixeipevov tideta sig dndotaowy 15 éxaroor. Gno Qo-
#od dmoxhivoviog fotiaxiiz dmootdoeng 10 éxarootdv. lofa elvar §
Yéoig tob elfdhov, xal molo T oxfoic tol peyédove tob eldolov mpog
T dvrelpevov ;

Adbeig: ‘H Séoig 107 eiddlov xal 1ol dvreipévon evoioxetar Sud
YEWpETOTic ®utaoxevile xal 1 fElowoig elg Ty meolntwoty taviny elvar:

B 0 op o
i 6 2

ol e 15 5

1 1 it X : .
Hot D=0

To péyedoc slvan:
SO. Mwod eddela tideral xadérag mods tdv wiplov dEove ga-
%01 ovyrhivovrog, eic dxdotacty 3 Exatoatopéromy @i altod, xal Hide
£dwlov ayraotizdy 5 opdg peyahkeitepov 101? avretuévon. Ioin i
gotiant Grdotacig 10U qarod
-~ ddowg: ‘H Eiowowg 1@v ovluydv tondv éviatde elva :

Nl o
T o T
% 0 -i— — -p—' = 3 nol =3
Agob : 5 p
2 1 il 7 9
1 &Elowoic yiveta 8 e g #ol f= =

SO0 . Daxde Emmeddnvotos fotianiis dmootdoews £, Fyer T
Enimedoy Empdverdy Tov Eamoyvowuévny. “Eal 1ol nuoiov dfovog tod
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paxod xal Eurposdev Tiic xuotiis m@aveiog tov tidetal @wiavov on-
petov. Na ebpoedfi 10 £ldwlov 1ol gurevod tovtov onueiov,

Adoeg : Pavealouedo tov paxdy dupirvotov, oymuatlduevov dud
g fviboeme  dYo Guoiwv gaxdv, Gpoinv 'medg tov tot mpofAfuatog.
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"Ag dnodéowpev On 1) Emugpdvewa 1) Eninedog AB dév elvar Emmpyvow-
uévn . Mia ot dxtig Pl, dvaxweotca & ot anuelov P, agot dua-
Maodi xard v L1, 9a Sérdy Sud tiig ovluyodg Eoviag P', dote dd

1

1 1
FLOPEY | —— - ~—=,—— Orov F 1 foniant) dndotucic 1ol xhjpovs
AOR OPp T 0P T F 1 n S 10

Gupuiptov @axrot. Edav trodécmuey viv 6u fi émpdveie AB Rvepyel
®z gninedov udromtoov, 1 @orewvh dutls, @ddvovou el 10 K, dvonhi-
tor wnora v K17

To I elvar ovpueroov tob I’ dg mooz 10 AB Mdyop tiig lodmros
Thv yovidy mooorthoemg ral dvaxhdoewng.

*H dxtic KI” oynporilel peta tig modns dyewg tod gaxod Y
adtiiy yoviay, thy drolav oynuaziler f KI' petd tijc devrépog dyews
dnhad T dxtic i Swedhopévn I P elvar ouppetou) tiig I' P ég mo0S
w0 AB.

Zvvendg, did va ebpwpev 10 Tnrolpevov eldwhov, doxel vi xartt
oxevdompey Ty ovluyii fotlav P tiig P dg medg tov dpgpixvotoy 9o
a0v  xal va AdBouev 1o ovupetordv PY 1ol P’ G mooc 1o O. °
Eotiann) Gndotacig F Erpodletal téte edxdhog ovvaprioet wijc f. [Tody
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aar, &ov n elval 6 delutng Stadhdosmg oD paxod xal R 1§ dnrig nap-
avhéuntog adrod, i Exwuey

-fl:—:(n—l)%

£} ~ ) \ 3 ’ Y : | ~
Bvd 8ud tov Emmeddruorov Qoxov ELVAL .
1 ( ) 1
— = 1]—1 —_—
f R

2k ov F=

e

F302. Hpeofioy, 0 6molov fi Bhaylom dndoraos g iy fAéme
sivar 1,20 pévoa, Intel va Gvayyvéony is Grdotaoty 30 fxar. Ilola
96 elvar § loydg tdv undv (AMav dentdv), odg  Ba peraxsewodf (oo
2y d@dahpdv Tov dnéoag)

Avoeg: 0—‘130 — 1—1‘?{) = 4}— ol —;* =2, Swomrplo.
IO 3. Aviueipevoy A eboionetal glg anboraaty A dnd dapody-
narog B, Purdg cvyrhivov, tol Stolov 6 dfwv oupminTel petd Tig
xaditou tic Gyoudvng éx tod A modg 0 B, oymporiCer €xl tol dwa-
podypatog eldwhov gdnotvic T0T AvTLRELpEVOY Elg Sdo déoeig Suagpdpovg,
B xai I'. “H Gréotadig uetalld tov dv0 Véoewv elvon d. Znrelton va
Srohoyiodf i fonand) drdoraoi f 100 paxod ovvoptioel tdv A xal 8.
Adoie: "Eorwoay p’ nal p’, uf dnootdoeg 0¥ gldwlov ano tob
“paxot S tag Véoeig B nal I,
"Bav 6 qaxds evplonetat €3 myv déowv B, Fopev iy Elowow
1 ¥ A N (1)
LS
“Eav 6 qande evplonetar elg v déow I, téte Eyouev :

1 1 A 1 .
e e

“Anadeigoveeg 0 I perald (1) xal (2) eboloxopev thy twiy tod p :

p'—“'
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*Aviadiotdvieg Ty tpdy tadoy 100 p elg v Elowoty (1) hops
Pdvouey :
A2 — &°
4N
BO4. Meralv évog noihov xatdargov M xal tijg nvelug foticg
avtol f tideran porewov onpeiov. Af Hrd tod ratdnrpov  dvarkdpevae
antiveg dtamep®ot xardmiy ovyxiivovia gaxdv A, edotoxduevov eic v
»vplav €otlay f 107 xurémrpov. Na xadooiodfi 1o eldwlov P 1ol on-
uetov P.
‘Eotiann dndoracig xutdarpov fi= 5 éxuroort.
‘Eorwaxn dndoracic qaxod e
*Andotacig 10U onpeiov P Gnd natdmroov. p = 4 Exatoct.

f—

Adoig: "Ag irodécouey poraviy déounv dvaywootoay & tol on-
uslov P xzal meoonintoveay £xl tol xatdmroov. At dvarddrar dg v

\74

mooépyeton & tol Qoviootwol onpeiov B, 6plopévov Umd ‘tic
oyécewg :

pf

f—pi

T ’, 1 B T ’
Emopévag: @ —ue=— — — = = &€ ol : P’K=

‘H gorewvi Sécun droxkivovon xal Exovon 1o onpelov P’ Gz doyiy
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nirrer 81l tob axod A xal Siahopévn da cuyxhivy nodg TO oNUEIOV
P gutuyi Eotiav 1ot P “H daig tod P Sideran droTol vimov tédv

cuyrhivévroy Qordy :
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S e f
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>§< SO, "Exl xoihov xardaroov fatiaxilg Grootdoems Rl =2 e
0wy, Gintopey déopunv antivov mapahhfimy weog tov wiplov dfova.
AL Gvaxhousvar Guiiveg mimTovot gml gaxod dugueotlov fotiaxiis
Uﬂoomotmg =—0,h0 p.am(m- 0¥ Omtotov 6 dEmv gouninter perd tov

wvpiov dEovog tol ratdaToou. Zmreitan va meoadioowodi] N drdotanis x

100 dmtinod wévipov Tl Qunol and tijc ®oov@iic Tol natdmroov, xard
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sy 5
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Adaoig :
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£00: [(F—x)—fx=x(F —x)

x* — Fx + Fi=0

“Ivo. af 6iCou elval mpaypotirol moEREL :

S

4
Smhadn F > 4f.
*Aviadiordvigg 8 dodudy Erousv x = 1 pérpov.
SOG. Ni deydf du elg duglworov gaxdy, Egovia loag duri-
7 3 X \
vag #apmuhdmrog, Seixtov  dadhdoewe 5 af €otlon ovpmintovol pué
T #évrpo xopumuAdTnTog.
Avoic: ‘H fotiand) dndotocic #oi ol dxriveg xapmvrdmrog tov
= ; ke 2 1 10l
@oxoD ovvdéovion dua Thc oyfoewg e (n—1) ey
Oérovies R =R’, n= == evoiokopev f=R
B0 ¥ . Daxdg ovyrhivov fotianiiz droctdoeng 16 fxatoardv EQuo”
ublevan &mt droxhivovrog gaxod. ‘H fotiand) dndotacts ol ouotipd”

tog elvar 48 Exorootdpergu. Ilola elvac i €oniand] dndotaoig TOV
amoxhivovrtog gaxod ;
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= 1-— LS ral x=24 &xatoor.
48 =18 X

SO, Ado cuyrhivovies hemtol qaxol, &oveg tov altdov wiplov
dEova, mopooxoMdvrar. Al forianal ovidy dmoordosg elvar 25 Exaro-
otd xal 10 Eratootd. Tlola elvan § toxbg elg dlomeplag 1o oympati-
aféviog @axol ;

Avaig:

1

1 ;
o W%— R 14 dromroic.

Adeig:

Y. "Ontd Gpyava.

FOD. ‘Arnhodv pxpoondmov Exel moaypatixny togvvy DO duo-
wrouiv. 1ot elvan i yavia drd iy drolay (Aémer Bud péoov tol pi-
%0ooxomioy TovTov  GAvrurelpEvov ijnovg 1 ythwotopétpou ;

Avowg: ‘0 yovia o, dxd ty dnolav gaivera gvtOg pumpoonomiov
logtos P . uixedv  dviueipevov  piwovg 1, elvar  alodnuds  Tom
o — B
H wun tijc yoviag elg dxrivia ELVOL OUVETDG :

a = H0 X 0,001 = 0,05
180 ¢ 0,05

Kat el Baduove: a = e 20 51" 20”

e

\
OO

3 A @. N& Omoloyiodii # oy dmhol uwpooxomniov, 100 Grolov
f fotwod) andotaote Elvar 2 ExaToCTOMETOR, wal 1) yovia Do Thv
Omotav Phémer 1 yhiootduetoov.

it o B F
Adaig: ‘H togvg elvan aledntdg ton moog ~r T wwi vig logdog

Fav M@df g povig pixovg 10 EXUTOOTOMETQOV.

Tofto elvan Extong 1 ywvia 97d wiv dxolay 10 pugooxdmioy Yo xduy
v& gaiverar 1 ExatootdpEToOV.
‘H yovia, 10 iy Gmolav da wdpy v 1y tig 1 pAwotdustpoy

O elvan:
1 1
S e

3

1
L T
Tovia 1 hewtod #xer alodntde TLuny 10000° 50 AvTLoTOLYEL Elg

20 47
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31 8. [Haoatnonthg pdmp, tot 6xofov % dndotaoig tig evnot-
volic Godoewg elvan 20 Exatootd, mopatnoel dvioe GoTQOVOMIKTS O10-
ntoug. Eig molov dndotaciy axd ol dvuxeipevinod  qoaxol i d16-
atoag moémer v déoy tov mposopidipoy @axdv Sk va WOn  edxou
vide 10 eldwhov évde dotépog;

Avoig: "Eoto eddela ADB nddetog mooc tov dfova wxail elpioxro-

3 St Sas Ca : e aTT
uévy elg 10 dmeigov. ‘O dvieipevinds A 8idel Ev ldwlov moaypa-
oy xal avieotoupuévov A'B’ ebotonduevov gig 10 fotiondv Eninedov.

3] &
N AN

‘0 mpocopddiwog A Bveoydv g dmhols paxds oynuarilel eidwhov
00 A'B’ 1 A”B” gaviacuxdv xai dpBdv 1o Gmolov 6 magoTnon
e ovduiler #ol 1o @éoel glg v Eaylotny andorucy tiic ednowvols
€ ’ ) Y € ? o A 2 A s i~ e -
dpdoems d. "Edv dmodécwpey dn 10 dnuxdv xévpov 1ol dgpdaiuol
cupminrer pé 1o onueiov K, mopiotdvovieg tv Gndoraowy K'E Oid
p, KA 8 d wal KT 8 [ wai EpapndCovies tov témov tdv gondy
da Eyopev:

sl el

IR
4p7 o df
EE ov p-—d-—'_l"_—i
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Eic t0 medfinue d = 20 éxaroord woi =3 éx.
. 2033 o .
Exopsv: p = T 2, 6 Exotootd.

‘H gndoracg KF glvar §) fotiand) dndotacts tol aviikelnevinod
100 #xaroor. ‘Emouévas cupmeoaivopey Ot ot 8vo @anol A xai A’
Bpeilovy va efoloxwovial elg dmdotacty 102,6 &xat. 6 &lg tol dhlov,

2. Mugoordmiov Few peyévivow 800 dapéroov B dpdal-
Rov 1ol Gmofov i Bhaylomy dmbotacg tiig edrowvols Godoewg elvi
20 &xaroord. ‘0 mpocopddipiog axde Fxe fouaxdy dmdotacy 1
fatootod xal ¥ Grdotacte fing yoeilel Tov moocopddiuiov tod dvii-
Wsipevinod elval 25 Exavoordpetpa. Na eloedfi lov. Eig molav dnd-
Gtaowy Gnd tod mposogdululoy ebolonetan o dviuelpevoy. 2ov. Tlola

g

.
Elvay ) fotiand) dndotacts 10D AVTLELUEVIROT.

2 - .3, 3 z
Adgeg: 1ov. “H peyéduvorg 100 winpoonomalov eival 10 YvOuEvov

“l; ueyedivoens Tob  aviewevixod xal 108 meosogdakpiov, dnadi
Sy mupuotiioopuey o Gvielpevoy duw ADB, 10 modtov eldwhov dik
B, ol to wehwdv S ABY, Epouev:
ATBE AB
Meyéduvory  Mixgooxr. M = AR X YT
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; = ; ’ 5 B
*H nopiot®dvieg & Py, Di'y Doy Py 10¢ dmootdoeg TV elddAwy
%ol 0T Gvrketpévon Gmd Tod  avierpevivol xal tol meosog@dakuiov,

Eyopev:
M=—
p. X
nok ﬁnoﬂéwvrsg on 6 ogpalpnog Eugioxstm gl OV gaxdv dnkadn
Dat =120 gl =25 — p, &gouev Ty lodimra:
25— p.
800 = — >< (1)
P2 Px
EE dhhov, & tiiz EEwdoswg 10l meocogiaduiov  qoaxod
] : : EEdyouev
— — == £
P2 Pe ke
DAk ol

= 0,95 £xuroor.

RSy o0
*Aviadiotdvieg Ty uplv tadomy elg v Elooow (1)

e 7 -4 -
evplokopuey 10 Dy

20 X 25 — Y
= e 2—1 =063 Exarootdusrou.
P S0 X 20 e
21

2ov, Ak vé Drrohoylomuev Ty Eotiaxny drdotaocty tod mposogpdak-
uiov, droloyllopev xat’ doydg thv tply b p,’, drdoracy b A’ B
Gmd tob aveuewpevinot. ‘H dndotacic afit elvar Ton modg 25—p, 1
25— 0,95 #rot 24,05 éxarootductoa.

Katdmv 8% tiic Blodoemg - 3 i, = 25
Py Pi f

SnAad LTS TR

il 0,63 " 2406 I

gvplonopey v tpnv tod 1
f = 0,614 &xatootdueroa.

31 3. ‘H fonoxn dndotacig 100 Gviepeyizod @onot £vig pU°

1
%pocromiov elvar 5 ErarooTopeToe, T Eotian) drdotacte 1od mposogial:
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wiov elvar 1 éxarootéperpov. Tiig Elaxioms droordosws tiig edxguvols

£

Sodoswe Tob muparnontod ofong 12 &xaroordv, molo moéner va elvat

f Grdoracic wetaly tob dvimspevixod nal 1ol mooco@duldpiov, rav

A s

1 Gyvteipevov elvan gig 5,2 phootdpeten dnd  tol dvixeipevinod

Adowc : "Eoto  f tnrovnévn @ndotactg petofd toll dvrixeuevi-
%07 xai 100 moocogdadpiov. H Elowoeg tol dvikeinevirol glvon :

1 1 1

0.52 e —]i_)‘- = (—)—=:—3 Hatl P —13.

‘H #lowotg tol moosopduduiov elval :

_;__ 1i:1 asl | d— 0,998
Hal d=1p 4+ d= 1392 Exarooropsroo.

S04, Al fonanai dnoordoec ovvitétov wwpooxomiov elvar 5
yAwootd Bid 1oV Avietpevizdy xai 20 phootd S tov wposoddh-
wov. Td dvrelpevor tidetan elg Gmbotaowy 5,1 phwootdy xal 1 &a-
yioty dnéoracic tig evxpwvoic dodorwg ToU mapaioNTol glvar 20 éxa-
tootéuetpe. Na Onoloyodf i yovia, dxd iy Gmolav i Wy 6 ma-
putnontic 1 yphootdpetpov

Adgrg: “H Toydg tob pipooromiov elvan :

' 1 e e 3 , A
_113_ _;\_ + ff_) — P 2av M@d7 Gg uovag pnxovg to yiho-
) :

otépetooy, totito i elvan 1) nrovpév yovia.
*Ex tiic #wdocng tov ouluydy fonidv Sid tov dvikeevioy

1 1 1 ) P TS 50
p—f—l—)r=T Fyouey e g

50 1 1 117,
E= i\ 200 +§0‘) ey
3 e 3 ; Leneslilie s
T i nuh yoviag 1 Aewvod, 1o 5 Gvroto
YEl glg yoviav 152° 467,

3 A5, ‘Actoovouwd dibnrea fudpilevan 8 dpdadudv, Borig
BAéner edmouvde eic 1o drnegov. "Eal 1ol avmuemeviol qaxol on-
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petovral do onueie pehavie Grootdoemg B Exotooton., xul potld-
weva Comods oxnuetiCovel dmedev ol moosogitadulov Ev eidwhov
moaypatuedy, xai o pehavd anpela tod elddiov evpionovral £ic amd-
otacty 1 phootod. Iofa elvar ) peyéduvoig tilg didmroog ;

Adoic: "Eoro F | fonuand) dndoracis tod dveneypevinol, xai f |
[ A -1 ’ -~ ’ A 7 23 ’ -
fotiond) dndotacic tol mgocogpdaiuiov. Aw moecfiora dplakpdy, F

N n

A

B P

S

-

=
>

xoi | ovuninrover. “Eotwoay A xal B 1 ddo pelava onpeto. Kavo-
orevdCopmey 10 eldwhov tob AB gégovieg v duriva AA mopdiinhov
o0 TV @Eova, xal iy dxtiva Al fiug Sufpyera dut tob faual Epmgo-
adev 100 soocogiaduiov.

Té& o Spowa tolywva ABE xot IKF 8t8ovv thv oyéory :

AB BF

; KT ~ KF
*Ada AB = 50 yihwootép. xal KI = A’B’ = 1 yihootov
‘Enopuévoe Exouev :

50 F

1 f
e, i S S SR L Loty Sy i
Alka 5 evau ueyéduvole tig Submroug dvetoprirmg tob dgdah-
1ot 1ol mepaTnENTOU.

Suvendg M = 50.

3L 6. ‘O noocopddipiog dorgovounils didmrpug EyEL SoTiomny
) ’ rs ’ A ’ by ’_
gmdotaoy 1 &xaroctopérpov. Awevdivopsy thy didmrooy mpde GVILXEL
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wevoy tohd dropaxovouévov xul 8idouev elg tov mooco@ddiwov dio
Béoeig Sragdoove. Bic v wiay déow 10 eldwlov elva el dndoraaiy
20 Exarostoudrpoy 10l mposopdakuiov edrowvés vol @uvractudy. Eig
v Gy oy o elBwlov elvar moayporuoy xal elg My aduiy dmd-
aveow, ol glvay fj perddeoig 1o moosogdaluiov dno v wilav eig
v dAny tov Yooy tovtwv ;

Adoig: Al ffodosg 1@V ovluydy fotidy, aluveg dviiatorolic:
IS A 3 Q7 i~ , T .
s1z tag dto Véosig 1ol mpocogdaduiov, elvar

1 1 1 L
e e et =] — 4+ —=1
P 20 : P, 1 20
40 ; 5 /
Pr —P= 359 = alotnrde 1 phootopergov.

VII. HAEKTPIZMOZ

A’ ITATIKOE HAEKTPIZMOX KAI MATNHTIEMOZX

BB 'Y. Ao opupidia elvar Hhentoloudva, 10 pév Ev ué nocdtnra
Mextpionod - 10,10 88 dhlo ug — 4, ebolovovral dt elg dndotacy 2
Sarostopfrony dn’ dAihov. Metd mdone duvdpems Elnovran
mm’ 104 40

e 10 dival

Adoig: B —- i

BL®. Ado cpaioar,éndory tdv dTolimv tpé?st flextoopndy - 1
Loulomb, dnéyouy akhihwv xard 10 gphdpuetoa. Ildom elvan ) pnetakd
TRy §vo c@oalp®y Mot SUvaug;

Adgie: 1 coulomb igodvvapsi mods 3 X 10° fhexgocratixdg
Havddac.
. . (3 X 10y 9 % 10° 80
e e vvaL.
Bmoudvos 1560000)" X
21 Y. Soawoidov petallzdv, fextoopévoy pé +- 0,0015 cou-
lQl?nb, péoetal elg Eragiy mods £regov Guowv  cpatoidiov  fle-
oopévoy pé 0,0045 coulomb xai xordmy td dGo opaipidi dmo-
LWoitoyvron, I[ldgov nhextoioudv @épel Exaorov o@uioidiov ;
13
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Adoig: 0,0015 - 0,0026 = 0,0060
. 0,0060
nol — S = 00,0030 coulomb

F20. Sqaupidoy petahhuoy Ahentotouévov, qEpETaL Eig Enophy
wode Spotov ogaiptdov nol Elto Gropaxgivevar adrod. “Ocav i
andotacte petakd v dbo opuiodiov Elval 10 xaroot., Exaorov EE
Gty amodel o fregov netd duvipemg 9 Suvdv. Zyrelton ooy

entorondy Epegev #v doxfl O fhextotopévov o@aipidiov

m.m’ mm’
ot 9 = e m=m’

d: 10#
m* ; 5 .
—T]:T‘-’_ xol m!=9. (10)* xol m =23 X 10= 30 coulombs-
32 1 . Souipa peroludy dxtivog D fnatoot. Byel duvapwov 2.

Mia &n ogaion dxtivos 10 Exatootit. Exel Suvapuxov 10. ‘Evdvousy
1ég dto opaipag di ovipnaros wengo® xal Aerot. Iotov 94 glvan 10

Adoig: F =

g —

20Oy Suvapdv TAV  6Qalo®y ;
Adoig: 5 X 54 10 X 10 = (b + 10) v
. 25
noi v =—— = 8,33.
3
22, Spoipn drtivog 14 SxaTOGTONETOMY EVEL TAEMTOLOMEVTL,
wal 1§ wunvétng 1 Hhentowd elvar 10, ITotov ©d Suvapmdv tiic spaious |

Adoig: To dvvauxdy tilg opalpag elvar ooy node T TNALROY
tol goptiov g did Tiig dxtivog Ts:
4 X140 X104y
14 g
325, Iloiov gootiov ThexTowdY TOETEL Vit Shomuey  gig opais
pov diapéroov 3 Exarostonétomy, tva f flextou) muxvding yivp 75
m A
47 X (1,B) S
32 4. Ao cupmurvotal c@oiouol Exovy ywonuxdmrag 0,3 nath
0,8 microfarad. Of #Ewtepwol Omhopol v oUPTVAVOTHY  OVYHOE
ywvoliol perd tot #ddgoug, of 8¢ 2owreowol elval QooTopévVOL pé
Suvaud 15 xai 26 volts. Zntetzaw lov. To qooviov v Exdotov T
icoteomdy Omhondy. 2ov. Ildg petaoymuariCoviar o qogsia ot
Srav EvoddoL 8° dywyod dvev ywontxdtnrog. dov. Ilotov Suvepnd?
hapfdvouy téie Fuaotog TOV ESLTEQKDY dnhondy ;

59,296.

Adoug: T woi m= 197,82
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Adaig: 1ov. Td gogriov cuvpumurvotol maoistato Sut ol rémoy
Q — CV, 8rov C fj yoonundns #ai V 1d Suvaundy.,
To @ooriov tol modrov ovpmrwvwrod xav dwolovdiov  elvor
Q =0,3 X 15=4,0 Microcoulombs.
Td 88 gopriov to devrépov elvar :
Q' = 0,8 X 26 = 20,8 microcoulobs.
9ov. “Orav fvdvapey dto muvotic d dywyol dvey ywontixdmtos,
fi Suavoud) 1v goptimy  yiveron notd tpomov Gore T dUpolopd tmv
pével otaftegdy xol To duvaguxd arofaivovy Tow.
"Eotm x 10 201v0v Suvantxdy 1@V CVRTUAVOTOV XUTOTLY THE Eved-
cemc. Tdte Epopey :
Q-+Q=x(C+C)
£ ol — Qb0 4—'@?—#-20" =93 yolts
& ! c--C 0,3 + 0.8
‘O modTos CURTVAVOTIS luu[itivz-:n 1dte @optiov:
Q, = Cx =0,3 X23 = 6,9 microcoulombs.

Kui § devrepog haufdver qootiov:
Y, = C'x = 0,8 X 23==18,4 microcoulombs.

S5, Avo dyoyol pepovouévol Frovm yoenixdmrae 1 micro-
<k : e ’ s \
farad »ai o microfarad. Tovg pootilopey pé Nhextotopdy, tov nod-

tovele Suvapwdy 107 volts, wui tov dedregov eic duvouxov 10% volts.
‘Evdvoney xotémy v Eve perd 1ot dhlov dui odgparas dvev ymon-
wndintog. Znreivawe va bxoloyody 1ov. To SU\'ttuwfw the  Tehndig
tooogoniac Tof ovotiparos T@v So dyoydv. "90v. ‘H mocdmne tob
Mlextowouod ele coulemb, §i Onoln da Si1EAdy 10 olppo nord TV
mepiodov  Tiig dnomtanniomg tije tehuniic loogpomnias.
Adsie: "Eotwoav A xoi B of 8o dyoyei. C xol C al yoont-
abtnrée tov, M xal M ta goptia twv, V xal V' 10 duvauxd tov.
Tére Bopev: M =CV  xai M = C'V
“Orav fvoddowy of dlo dywyol, 1l ywenuxdmg 10T cvotiua-
Tog yiveraw C - C', o qooriov M + M, #al o xowdv duvamwov V7.
*H §hucd) Gpog moodrng 100 Hkentoionod div perafdilera.
Suvenddg : cV eV =({-+Cc)Vv"
\
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& ol &tdyouey thy Ty V' &z volts :
v — CV - €'V’ 0,000001X10004-0,0000005X100__ 0 1o
TTCC "~ 0,000001+-0,0000005 =700 volts.

326. Iloiov pooriov moeéner va dwowpey elg plav ywontind-
tnra 100 microfarads, ive- tydowouey 1o duvapdy tng xatd H0 volts.
Adoig: Tvooilopev St M = CV, drov 'M éxgodletan €ic cou-
lombs, C eic farad, »ei V elc volts. Ex tovtov Epouev :
100 5) 1
M= —-— 50 = —— dnhudl === coulomb.
000000 < iooo "M% 20000
F2'7. ‘H ywontudmg dywoyoed eivar 700. Eig nolov duvamxdv
mpémeL va ootiay tne adtdv, iva 1) Evéoyewa iz Ggniertploeds tov
glvor toodlvapos wpdg 1 Jepuida ;
ey T Lo S g
Ao ‘H Exgoasie tiig Nhextowndis éveoyelag slvar o (@avel,
i Lot
Qore : 5 ORI R S RS ()
1 deppic elvan tooddvapog mpog 4,17 X 107 Eoyia
Wl — 340,20
2 8. [Tolu dvéoyein damavitar did v dthomusy elg pepovopévny
ogpaioay dxtivog 30 éxatoston. ‘gootriov 1000 flextpootatindy po-

vadoyv ;

2

M
2C

Adaig: Dvwoilousv thy oyéowy , 6mov M elvat Taov meoe 1000,

xal C moog 30.

<

‘H 2véoyela T xoravahioxopéyy 9o elval:
Qe 108 o tiin 107

o N P il

R S e T

29, Huwvorg ywonuxdmrog 10, géoetar elg Suvapwov 30.
Ilotov slvan 1o goortiov tov ; Ilolov EBoyov xatavaliowerar did va

omAadn (ﬁ joules

@optiody ;
Adgig: Dopriov 1030 =300

: . L 1 : v
"Epyov damovdusvov did @dpriowy : = K 10X 30°=4H00 Eoyua.
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330, [Hola siva § Nhentom morvdme Emgavelag opaloag

Gxtivog D Exaroatow, #av to duvandv tiig ogalong elvar 20000 volts ;
20000

q v v 300

Adoug: = 1,061

51 0 dprt 0 dmr s A G
T 200008 e S Ak
0 duvapxov elval 300 gle MhexrgooTatnig povddug ;.

231 . Svpmurvorie 10 microfarads elvar gootiopévog, i xo-
povouiCer Stagopdy duvapxod 500 volts. ol elvor 1) Evépyerd tov ;

Avoig: “H dvéoyeud tov 9 elvar = CV? “TovAiovg povadag, &av
C elvau farads »at V volts.
: ST e o el (e s
Enopévag 2viaiifa: — X — (500)? = 1,25 Joules.
2 10¢
3. Iolav dutiva el opoipn, tig 6molug # LOONTIHATNG
tlvar 1 microfarad ;

Avoig: “Ev microfarad icoduvveyel mods 9 X 10° ilextoootutindg
wovddue yooenrixdmtog firor 900000.

‘H auric tic opaipug, flug #e abmv v xoentxdma, elval
900000 xatootéperoa 1) 9 phidueroa.

‘H ywontxdene spalous, dzovong thy adtiy émedvelay ofay xai 1
¥h, d&v 9 elye mopd 700 microfarads.

233, “Evag cvpmonvets &g oonuzxdmre 8000. "Agnlextol-
Copev adtov S petodhnod ovopatos, ol droiov fj Yeguoymonriding
elvar 0,0006 1O ovoua gépetar md tiig deoponpaciag 10° gig 5100,
Hoto firo i Stapopd duvaod iy drhopdy med tiig denientol-
otwe, Bav Brotedf] S 6 i Jepudmg tof @ooriov ueredodn elg 1o
alpua ;

Ao - -L— 8000 v* — 4,17 X 107 X 0,0006 (510 — 10)
%ol v = 59,26

B34, Kz xhoc neyvnuixig nding 90, Ehxel Eregov wblov evol-
oxduevov elg andoraoty 2 EXATOOT. ut SUvauy Tomv w00 Ev yoawud-
owov. Iofa i payymuxd) pila i devrégov ndhov ;
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: 90 X x \
Adog - meg = 981 Ko 3 b
B35, [Tola 1 Slvawe fimg Baoneitar petald o néhwv pa-
yynrixdv paldov 32 xoi 40, & dmootdoemg 10 Exatootopérpmy ;
32 % 40
(10)®
336 . Iloiov w6 mhijdoc tdv poyyuxdv povddwv mélov, Gotg
arwdettoe perd dvvduemg ) duvdv, dray tomoderijvar 8v payvnuxd
nedip Evidoemeg 0,18 ;

Avaeg: 0,18 X x=19 sl == H)

Adoug » =12,8 ddvou.

BB 7. Mayvimg, 108 6xofov of mdhor Fovor 300 wovddug, ti-
Vetar év peyvyrmd medio ouooudop, ovtwvog 1) fvraaig sivar 0,466,
Ilotan ai duvdueg, ai Evepyotiont &mi v mokwv TovToV ;

Adboug: +- 0,466 X 300 = -{- 139,8

— 0,466 X 300 = — 1398
33 . Moyviiye eddiyoappog &t pijroc 10 éxarooton. petaky
v wohwv tov, toulv 0,5 terpay. éxutoot., xal fj poyvntwy tou Homn
givar 1000, ITofa elven 1 #viaoig payvntioedg ov A ; Kai moia 4
puyvnTxy pate tov dto méhwv tou ;
1000 M  1C00

A‘Udl.g: :\1 —107'0—‘5‘ M= u X 10. 1 =Iﬁ = 10

B'. AYNAMIKOZ HAEKTPIEMOZ

o' Zrihoat. *Avyttetdostg. Nopog 100 Ohm,

S3D. Zuly & 120 orowyelwv, droreheltar & do Ouddwv
fivepévoy xote. moodta, Exdotny t@v Omolwv mepiéyer 60 otouelic
#atd tdowy. Ilola elval 1) éowrtepiny) avilotaols Tic otijAng, yvworod
dvtog OtL 1 aviiotacls Exdorov orouelov eitvar 1,5 ohm;

Adeg - ‘Exdow cewpd #ee og dvelotaoty 60 X 1,6 = 90 ohms.

Al dvo Gpddes ouvdedepévar xatd mosdtnta d¢ Egovv  dviiotaciv

o , 90 =
tony  mode T 45 ohms.
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=3 £0. Ma otiin & 8 orousiny, Eovon lextoeyegtuy ddvapty
1.8 volt kol fowteguly  dvriotacwy 0,4 ohm, évolraldid vév Spwvi-
wov mohav (dvirdéteg) pet dMAne ovidng € 6 oroyyelmy gyovone 1,1
volt Phextoeysoruay Suvepw xat 0,3 ohm Bowtegulv dvilotuowy.
Tlola f Bviacig ol {evuuTOs 3y 1@ worhodpart TovT ;
7 8 x18—6X1,1
A’UD’U_;" X = g'im*ﬁ(#[)’é =

1,66 ampére.

321 . ITolo elvan &g povddag volts, fj atdaig Tov duvouxol
Zxi adppatog pikovs 3 pidopérooy xul topdic 60 wetpay. hootdv,
yvootol  dvrog Ot 10 Siappbov 10 olopa Gelna elvar 10 amperes
aol i €0 dvelotadic 1ov 0= 1,6 microohm xatd ExatooTdpeTQoV;

: S hoire 3000
Ao : R =155 X = 00 X 60 fo.s

T
E = IR = 10 % 0,8 = 8 volts
=3 4. Ntoua wirovg HOO perpwy a2l Swauérpov 0,76 ythwoto-
wérowv, FeL dviictoowy 90 ohms. Ilota 1 eduyy dviiotacg to®
FUQUUTOS |

1 : 50000
ey e o e
e oG Sl SR TR
e e e Ly
€ 0V @ =77000000.

3.4, Siopu i Goydoov wimove 1,03 péromv  wdl dtapéroov 1
Ahoatopéraov Eel dvriotaoty 0,02 ohm. ITola i v dvriotacis
ol dgyvgov ;

e 1
Adoig - Cvwpilopsy o1t = @72 .
gl 103 : 1,52
Erxopévg (),(]2:9'&(6’05}—2 - Xl 0 = —{A58600

3.2 2. Soua #xyakwol wixovg 10 uérowv Cuyiter 20 YOUICQLaL.
“H avriotasic tov elg ohm eiva 0,715, Tie munvdmrog 1ol yoahnob
otong 8,8, mola eidixn avriotacig 00ToU ;

b 1000 e LG
Adog - 0,116 =0 _H_?O__i ol o=~
10003%8,8
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3458, Ilola moéner va elvar 1) Stagpopd duvvomxold el tovz -
Lovg otiidng, tva 8’ adriic magoydf Hetpe 1,5 ampere &vide dyomyoi
avriotdosmg 7,5 ohms ;

o

E . .. ol G 58
Adgig: 1 s xai E =153 17 5=1125 wvolts.

346. Ilola 1 dviloraoie clopards tvog, drov did Sigpopdy

Suvapot 120 volts mopdyerar HGetipna évidoewe 3 ampéres ;

Adoug - I*—--i ol Ri—= 1‘20

R T 40 ohms.

34'%7. 01 ndlor otidne 10 oroeiov évolivior Sk olppwuzos
duotoyevolic wixovg 16 pérowv. To oloua mooovoidlel dviiotaoy 0,5
ohm xora uéroov. “H Swzopd  duvamixod elc tovc &lo mdhovs
éxdotouv otougelov tig otidng elvan 1,8 volts xal 7 Gviloracie £nd-
arov otoygiov 0,4 ohm. ITofa elvat f dndotooic peraky ddo onueimy
10l o¥opatog, 10 Onolu mogovotdlovy Swugopdy duvapuxed 1 valt

Adoig - “H dagood duvapxod thig orfdne elven 18 volts. Afirn
davéperon Enl Ohxilg dvriordoeme Tong modc:

10 X 0,4 -} 16 X 0,5 == 12 ohms.

Awpoods Suvamxot 1 volt 8& dvietoyf ele plov dviiotaay
12 2 2 ; S . : Lol
— = — ohm, Exnepoaouévny eig uérpo ovpputog. ‘H davilotaoi

18 3
. S AR
attn Yo elval 5 1,83 ohm.

348. Kirope #wteowii; dviiotdoswg 1 ohm Swappéeroe
umd Oevpatog D otouelov lowv, cuvnvopévov wotd tdowv. Ilofo 7
#vracie ol oevparog s "Avtiotacig otoueiov 0,4 ohm, Siagood duvar
wxod 1,8 wolt.

b 1.8
1+5X0,4

voug ; = = héres
Adaug 3 am

34£9. [oia 1 Bviaocig, &dv 1o otoyeia slval cuvnvopéva xord
moodtnTn ;
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1,8 ;
Adoeg: ] = ———— = 1,67 ampéres

SH@. TO feina ovilng otadegdg elvar 10 ampéres rav Siap-
ofer REmteooy mixhopa 20 ohms, 8 ampéres orav dupofel wixhouo
40 ohms, xai 9 ampére, Stav dwwppéet clpna ayvdotov dviiotdoemg.
Na eloedf] § dviiotacic R tiig otfidng, ®oi i dyvworog dvilotaoig
tol ovpunarog.

Adgig : "Boro E i dwagopd Suvauwol elg tote ddo mblove tiig

otiAng :

=
=

g e Qi —_— 9:—
S Rlop ¢t B R

10

S

& 10 (R-}—?O ' =8 R440 ) =9 (Rx )

8
+ R = 60 ohms nad K—=:28 ) ohms.

B A. H eldu aviiotaoig 10d Aevxoypldoov eivar 9. Hola Ha
gival ) dviiotaolg ovoparos Aevroyglioov ufnovs 2 pérowv, Luyiloviog
0,2 yoapuwnoiov ; Muxvdng Aevroyovcov 22.

i o s U AR
L R e = 160000
1 9 200 Sl
r=op == 5 39,0 ohms,

200 %22
B2, ‘H Swgood dvvapxod tig tove §o mélovg widg arihng
dvowtod wuxhduatoe elvan 15 volts. ‘Evivousy tolg méhove didt oig-
oo S 5 : S0 R
putog xal Eyopey fetpo 2 ampéres, 1 8¢ dapood  duvoumod peratl
5

e . A ~ ~ ’, a
T0v wéhoy Eywe 10 volts, Na eboedii 1) dvriotacig tol olopatog, xai
1 aviioraoig tiig otidne.

Adges : — % =5 ohms
2= 10 _ xai R =25 ohms.
R -5
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33, “Ev aixhopa Siydleran peratd Svo onuelov tov A xai B
elg 8io olopata, Gv ai dvriotdoeis elvar 30 wat 50 ohms.H drapopd
0¥ Suvapxod  petald tHv onpelwy A wai B elvar 100 volts. ITola
elvan 1) Bviuoe 0 fedparog Bvidg Exdotou tOv dvo  ovppdrwv, noil
wole ) o0 Ghwol obouarog ; Hola 88 fj dviiotao 1 ioodUvapog
7edg T avvokov 1@V dlo cvondrov ;

R ol e
Adois : = R, = R,
1 1 1 50 8
f*%+@—@ﬂ‘m+ﬂ)ﬁym8
100 ; agpi
L A
100 100 . 5000 3000 80 3

|

=350 T 5 T 1500 T 100 15

$I54. Pebua dvidoewg 10 ampéres Sundadiferan glg 3 dywyods

avniatdoenv B, 2, xol 10 ohms. Iola i dvilotaog R, f loodivapos

7ode Tovg TEEle TovToug dywyols ; [lola ) Eveaoig tod fedpatog Eviog

fndotov ToV dyoydv, roal mole 1 Swgogd tol duvaurod E g o
aAxQO TOIV ;

Adaug : et i 1 Lo d
e e ey
12,5 12,5 125
L 1 — ) 2. el —J-—- :‘ {- n—] 5
i 5 6,25, I =2 =25 L=~ =12
i 10 = E- not B =12,b volts.
R i)
4

6. @cppovsind mat gOptrd anosehéopaza 08 NhE
®TPLROD HEHILATOS.
BI3Is. Na troloyoifii Evéoyewa 1§ dvamtuacopévy xad’ Hoav &5
ayoyov avristdoemg 32 ohms, Sotig mopovodle gl 1 dxpa Tov S0
@ogay duvapumot 40 yolts.
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s E:  (40p : ; :
Adowg - Y L-SZ_) — 50 joules »ati devrepdhemtov.
50 % 3600 = 180000 Joules %xad” Hoav.

180000

417 — 43165 Beonidec.

TooStvauog deopdng
$256G. Peipa dvidosog 1,5 ampére Siéoyeran Emi 15 demva tiig
Bouc-dudt odourtoe dvuiotdoswg 3 ohms shptonopévou  dvioe 300
yodppoy Hdatog. Moln eiva ' rooxrahovpévy  Gviwoig tfic depuo-
upualog
Adoec: “Eoyov gig Joules (1,0)* X 3 15 X 60
(1,5)* X 3 X 16 X 60

Oeopdne dviiotoigos g Debuidug, g

“Yioorg tiig deppongaaieg tod Bdares :

(1,5) X 3X 15 X 60 _ 4, o
4,17 % 300 >

3157 . [éooL Grudinmor goewdlovim Hud va tmrevydf oelua 12
ampéres, #vidg AviloTdoeng 40 ohms ;

Avowg : “Eeyov joules xatd Sevtepbhentov  (12)% 40 =5HT60
. 5760
*ApSude Gruolanwv: ;7 = 6,97.

DU PR 9,81 X 1D

prs& . Peina 15 ampéres #uxhopogel Evios avriotdoswe 8 ohms.
ota ) loyigtou ;

Avog : W=IE E=15X8=120

' W = 15 X 120 = 1800 watts.

D39 . Sty & 10 oroyelov Aavied cuySedenévoy ratd Tdowy
tideran el xuxhogopluy 81° dyoyol tov Srolov 1 Gvrtiotaolg elvan B
ohms. [Tolu té elvon f) eopdng i avamrvooopévn Eviog tol dywyod ;
Eowtegueny dviiotaoig éndotov grovyelov 1 ohm, nhextoeyeotin) 8U-
vapte fxdotov otoyeiov 1,1 volt.

ne
A" : (t &, I e BT
doig - vopilopey om 1 = TR
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1
B
ovvends 1 =0,73 ampéres nui g = 38,7 deopidec.

*Eniong q = AI’Rt A= xal  E =417 joules

3GO. To olopa, 1o Evdvov tovg ddo méhove otidng, Siax)odi-
Cetan eig o onuela eig dlo dyoyovc. Na Odmohoywodf] 1 oxéog TtV
mocotitoy tiig deopdrnrog thv Avantvocopévay gic TOV adTOV 10GYOY
elg Tods dYo aywyols, yvworol dvroc Gr af dvriotdosig oy elvan 3
xal 6 ohms. :

Adoig : "Ectwoav i, »ui i, ai #vidoeg vide v S0 Gyw:
yov xal 1, %ol 1, af dviiotdoeic Twv.

s Torte : e i (1)

‘Edv ¢, »oi q, elvon of moodmreg tiic deoudrntog, of Gvantvo:
ooueval elc 1ovg dvo dywmyole tovg Siaxhadilopévouvs, tére Exouey :

Aapfdvovies U Sy thy éclowow (1) Eyopev :

Qe il ety
qa i, r,
q 6

'AG‘I. '—l"' e 2.
Ga o

36 E. Peiua 0,75 ampeéres difpyeran 8l 5 henra S ornhns
Ddpupydoov dvrivdoswe 0,47 ohm. Eiz nolav deoponoaciov S qvéldn
6 Ododoyvoos  pi) hupPavouévne Ox Sy 1z GrtivoPoliag tiic Yeoul-
mrog ; “H pala 1ol Gdoapyvoov eivon 20,20 yvounudoia, xol § eldud
deopding tod Vdpapyvoou 0,0322

Adowg = Osoudrng  dvantuocopdvn Hnd Tod devpatog

IPR 5 60 (0,75)% 0,47 X300 !
— s = N O 19 Deonidec,
4,17 4,17

‘H depudng aden dnopoogdrar 9o tiig Udoagy. otihng, fig 1 &0’
woxgooia dyoltar xave x°.

‘Emouévarg : 19 = 20,25 X 0,0322. x & of x =292

BB 2. Anuntio mvoaxtdosmg 16 wnolwv xaler dviog  Vepurdo”
uétpov  meguiapBdvovrog plav Alroav U8utoc. To Udwo Jeopaiverdt
wate 2° &vrdg b hemedv. [lola logde xatavahlowetor xoatd xmolov |
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Adowg : Oeopding avamrvocopévn xord devteodheatov  xal xatd

; 2%¢1000
Noloy : Q= "1?%%%6“
Loy : JO =417 Q = 1,7 watt.

BE3. Ao olopata, t &v B doyvpov, xaltd Etepov &x hevxo-
10¥gov, tol abdtol uirove xai the adrii danérpov, ebolonovia 1o Ev
®atdmy tod dhhov Bvidg xuxhdporos. ol elvae ) oyfoe t@v moco-
Wt tiig Yeopdinroz, thg dvantvocouévrs &g Exactov EE wbtdv ; Ei-

N avtiotaoig kevroyotoov Y, aoydpov 5 microohm.

Aboig: "Eotm P f Seoudine f dvamrvoouévn elg tov Aevxdyov-
gov, nal A ) dvamtvoopévy eigtov doyroov, ] 1 oradepa 4,17,

Tére: Pj.ﬁ_—I‘-’%t, notl Ajzlgl—'?t

3

doa = 6. ‘O hevrdyovooc hapfdvel 6 @ooce neyadvtépay dep-

P
A
Wornra §) 6 doyvoog.

BG4 Tola eivon §) Bviaog Getparos, 10 6molov aroovvdére 1
Yodupov U0urog &g 1 devrepdhemrov ;
Adbgig : Petua 1 ampére Exhiel oaupdpie  vdpoyivou,
ooy Béees B2 o i
OCVVUETEL OF =i oK. vootoc.
degoo YOk g

it
76600 "

Aud v droouvdéon 1 yoan datoc $& yoetacdf felna Evidoswg X,

T 9
Omeg §{deran U0 tHig EEwodoeme x. 58650 — 1
nal x = 10733 ampéres.

e ; 5
BG 3. Peiua b ampéres difpyeran Sud folranéroov GmeQ meQLé-

8L 53mo dCvviouévov. Tldoocgodvoe yoewdleton did va Emtlzouey elg

A

v wqdodov 1 Airoov ddooydvou ;

Adoig: 1 Arpov vdpoydvou CTuyiler 1,20330,069 = 89 yihootd-
Yooy,
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%_éli) youp. Hdooydvou xatd Sevtepdhentov.
: 2 Sl 0,0 96600 5 aan n
O ypdvog Dt elvou : __E)_,X.)__ devrepdhenta, 1) 28 mpdirto

H ampeéres &uhdovv

hemra nat 39 dedreoa.

B 6. Iola eivar f Eviaoie fedparoe, nep dnottérer 1 yodupov
Goydpov &g D Aemrd ;

Adag : 105 glvan 10 Pdgog tob Gmotdepévov doylpov elc Ev
96600
devtepdlemtov.
1=xXb5X60 X s gEov x= 2,98 ampéres.
. 96600

BG'Y. Na tmoloywodfi 6 Syxoc tob Exhvopévon bdpoydvou eig
1 Aemtov Ond Gevporog 1 ampére #vide Pohrouéroov idarog OFv-
VIGUEVOU:

2 4 ; , 89 ¢ A
Adoig: 1 wuf. Exar. Hdpoydvov Luyiler 00 phoordyoopna. i

100
2 ; A 2 60000 ; o .
gv hemtdy, 1 ampére droovviléret 56600 yihootdypoupe  VHOOYOVOU.
60000 89 : S L :
56600 — X D Jooo M0 X = 6,93 xuf. &xaroord.

368, ‘H deoudtne f mapayopévny Bxi 40 Sevrsoblemta Evidg
Gywyol Gvriordosmg 12 ohms elvar 4132 wiegal deonidec. Ilofa 1
Evraoig, xal mola 1 loyvg 1ol Gedparog tolivov

Adowg - O = xRt Wi ==
4132 =024 X 12 X I* X 40 W =36 x 12
= 36 Ji—"6 W=432 watts.

S6D. Zoily arodéra gig 2 doag 9,640 yoap. doydoov Ex dia-
Moewe dlwrovgor doyvoov. Hola 1 Bviaoic tol fedparoc iz am-
péres ;

Adeoig : *FEorw x 7 Evraoig @ 9,540 == x X260 X60 1084

96600

xal x = 1,18 ampéres.
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ST, Aaurtho muooxtdoeng dapoedpevog Drd fevparog 0,7
ampéres magovaidlel €ig 10 dxoa tov Sagopdy duvapxod 98 volts.
Ilota 7 dviiotacic tov

=)

Adaug: R = -8— = 140 ohms.

it

o

2% 1 . Aaprtho rvoaxtdoeme Swagoeduevos Hmo  Geduarog 0,75
ampere mupovoldCer elg T dxpa TV dlugoay Suvapnod 60 volts,
Tlota f Yeoudme fi Gvartvecouévn gvtog 1 doug eig tov  hapmtiioa

Adgig: “H @véoyewr fi mupuyouévn Eviog 1 devregohémrov eig oV
Aapntiipa eivar 0,75 X 60 joules.

Elc piav Goav, 6 dpidude tiv Jeopidov wddv avortvosopévoy da
0,75 X 60 X 3600
4,17
spryrex. Tl flextoeyeorid) dvvogug  duvaponlextoudls  wnraviis

<

slyon 1425 volts, xal fj dvtiotaolg mg i fewreoun 2 ohms. ITécoug

Lot = 39087 Heouides.

Aartiipaz muoartdasme dtvara v too@odoTian ol Slaretayudvous
magodihoe, Eroviag fxaotoy dvriotaow 40 ohms, wal Sreppeopévoug

&

oo pevinoarog T ampeére ;

Abere : *Eoto x & doidudg v hapmriomy. To wdprov Heluo Ot
S 3
g ¢ Evaowy - X

*Egaoudlopey tov véuov tol Ohm elg mifjoec wirhwpo:

3 142,5

SR =

2+—
X

233, Stily 20 cveowpevtdv iv oeod, Eraotog v Gmoiwy
Zrev Mhentoeyeouindly Stvamy 2 volts, nopovotalel Eswtepuay Gyl
ovaawv 0,2 ohm. Afw toogodotel 60 hapmtijous aopaiiniovs, t®v
£ ’ @l Bl ¥ ¢ 2 . s . =
Smoloy § dviiotamg eivan 0,3 ohm. ‘O BEwreonds Gymyos Exst
dvrictaocwy 0,04 ohm. ITofa eivan glg yhoypepudperoa 1 nutovdho-
oig 10D Eoyou 2nl Exdorov hapmrijQoc #ord dgvrepdhentoy ;

wad x==1D

Avoig : “Eoto 1 jebpa dwxoofov Eva Aaumrtiion. R 7 dviictaoi
£vdc Aopmtfioog.
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2

98 yihoyoapuduetoa.

‘H xatavdiwaig elvar: IR joules # ——

el 20 X 2 % sl
_X02+f)04 B 1230 R —i0:3 X160 =18
(19‘?3}118” = 2,78 o phioyoapudustoa.

BT 4. "Hhexrowmov detipa Eger Eviaowwy 96 Grav dmosuvdéty 7
rihootéyoopue  Boutoc ware dsvtepdlemtov. No Omoloyiodf ¥ Ev-
taoig o0 Oetpatog Gmep diafifaldusvov Evrog folrapéroov xal Gmo-
ouvdérov 10 &v oDt UBwp, yeniler Sk tav Bxhvopévov dsolwv &lg 3
Aemee 1OV uddwva 1ol Poltapéroor ol dmofov ofitw  wehimtova
& dto Hhextoddia, xai 10l Gmolov A ywontrding glvan 423 xuf. éxar.
‘0 Enoog ano el 20° Oxd mieowv TH0 yihoorouéromv, dider : Bdpog
wovovixov Alvoag déoog 1,293 yoau. Zvvieheoric Swastodiic deplwv
a = 0,00566, muxvditng 0dpoydvou 0,069, muxvatng 6Euydvou 1,10566.

Avoig : Ta 423 wuf. éx. 1o oviheyévrog deplov dmotehoilviar dmod
141 nup. €x. OEuydvou xal drd 282 »uf. €x. D8poybvov. ‘Edv hdfopev
Mg povada dyxov 10 Altpov, wol Gg povdda fdoovg T0 yodupov, TO
Brigog twv elval:

P = 0,141 ><1,293><1.1056><%.)>< T o
. ‘|7
o 750 1
X1,293X0,069X =5 5%

To avorépwm 6Uvdueﬁu vl 'ygri\ilwusv %ol (g £Efjg :

P = 0,141 X1,293 >< 76 )< . 20 (1,1056 4 2 X 0,069)

wei P =0,204 yoouppdoia.
Eig 3 hemto 1o tmomdépevov febpa dmocuvdérer 204 pihioord-
yooupo Vdurog.

; 204 5
Eic 1 devrepdhentov droovviéte 60 hootdyp. Vdutog.

Kazd tov vopov tod Qaguddi | ynuuen Evéoyewa, § nuoayouévn
fig &

D70 gevparog elg @otouévov yodvov, elvol dvdloyog tiig évidotwg tol
oedporoc.
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‘Edv howtdv nagasticouey did x v Intovpdvny Evtaowy, Suvd-
peda va Eyopey My ogéow

061 ekl
= o
3 X 60
o 06204 T
#E ol xfWﬁl.),.)

ST 5. "Eyeitic 54 otoyeia Mhextgeyeptindic Suvdpews Exaorov
1,1 volt, xal dvuiotdoewg 2 ohms. [Ifg mpéns va ovvleddol tabta,
iva #youev péywotov Gelipa el theypa@wiv yoauudy Gvriotdosng
12 ohms;

Adoig: "BEoww n 6 dodudg tdv dpuddov, m 6 dordudg tiv oot
xelwv ovvdedendvov xard moodmra el Exdomy Spdda :
ni2 e
— =

n.m = H4 12

Adopev tag EEodoeig xal Eyopey
M =8 et i — 1.8

‘Eropévog 3¢ #gwpev 18 dpddag wiv 3 otoyelmy ouvdedepdvoy xor
Erupdveiay.

3T 6. Avvapounyavi mapdyer cuveyts felpe 125 ampéres fnd
220 volts ITofa elvon fi loydg Gruopmyaviis fivig dpeller va iy svijon,
Bav | punyovied Gnddoole e elvar 0,745

Adows: “H flexvon loyvg P =EI = 125 X 220 = 27,56 -
hoBdr.

27,500
736 X 0,745

377 . Kwminp 80 deplov 100 {mmov, xwvel Suvapounyoviy, iitig
napéyer 490 amperes. Iolo ) Swegopdt duvapixot (voltage) uperakd
@y dwowy tiic wnyaviig; ‘H pnxaved) dxédoois elvon 0,80. _

Adoig: “H flextoumn loxvg P = 100 X 0,80 X 736 = 58880
Wwatts.

“H loyvg thic umyaviie T = ='H0,15 Grudinmot.

‘H Suapopdt dvvapxot E = PT = —5—22—(859 = 120 volts.

—t e s
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